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BIAK 3
KMLZ B A VR & 2 ({BIBIE (i e )

hmd versicn="L 07 encoding="HTF-8"7>
CHCCT_TRZOOTDOUVET 1TSVersion="XML_1. 07 xsi:schemalacation="grr bl T-org vd WOOT_ TNZOOLO0UVOT, xad” xelns="orn thi7-ergivd” welnsixsi="http:/fowe. wd org/
2001/ XM Schems—inslance” >

<id extension="N 1,27 reot="2 I6, 840 1. {13888 3 989 2. 1. 3. 22"/

Clew W1 20 Batch Number ——»

CereationTime value= 2010123151617/

<l WO1U40 Date of Batch Transmission -3

{responseModeCode code="07/0

<interactionld extension= MECI_INZDOICOUVOL” rootr="2. 16 840, 1. F13883. 1.67/>

<name code="N, 1.17 co rem="2. 16, 840, 1. LE3883. 3,989, 2. 1. L. 17/

“l=- N} ¥ Type of Hessages in Batch -3

= Message E1 >

CPORR, INDAROISLV>

{id extensicn™

L2or 1T root=TZ, 16 BAOL 1. 1IB8E3. 3 G892 L3 17
s Tdentifier ——>
: 2010121415181777>
<lew N 20r. 40 Date of Messape Creation -->
Cinteractionld extepsion="PORE_INO4GOLIEUVT root="2 16 B40 1. 113883 1.8/
ingCede code="P7 />
<processingModeCode code="T"/>
Caceeptichlode code="AL"/>
<receiver typeCede="RCV™
<device classCode="DEV" determinerCade="INSTANCE™>

<proce

CGid entension="N. 2. 1. 37 root="2 16. B4, 1. 33883, 3 089 2 L3 127
<i-- ¥ 2.r. 3 Message Heceiver Tdentifier ——>
devicer

Cireceiver?

<zender typefode="SND"x

="DEV" determinerCode=" INSTANCE™ >

N2 v 27 root="2, 16, 840 L TEARED 3 8882, 1 3 17
b= N Z.r.2: Message Sender ldentifier -

<device classC

id extension=

<fdevien>
{/zendery
<eontrolActProcess classCodes"CACT™ moodCodes "EYNT>
<{eode code="PORR_TEO48016UV" codeSystem="2. 16, 840, 1, 113883 1 187
<= HLT Trigger Event ID -->
CeffectiveTime value="201012141586177/>
¢l €, 1,2 Date of Creatien —>
<subject typeCode="SUB] >
<ipvestigationRvent clsssCode=" INVSTG” mendCode="EWN">
Cid estension="C0 1 17 root="2. 16. 840, 1. 13883, 3. 989, 2. L 3. 17/
lew CF 10 Sender’ & {case) Safety Report inique ldentifier -3
cid extension= 0. 18 17 root="2 1f 840 1 1138845 3,989, 2 1.3 2"
= £ 1081 Worldwide Unique Case fdentificalion Number -->
<id extension="J2 17 voot="2 16, 840 1 1I3883 3 9806 1L 3. 2.5 179
e BORI2 1h: BMIE S (EH) -
<eode code="PAT_ADV_FVNT™ codeSysiem="2. 16, R40. 1. TIRERA, 5. 47/
CraxiOH 1</ text>
<f=— 15 1 Case Narrative Including Clinical Covrse, Therapeutic Messures, Outcome and Additional Relevant Information >
(statusCode cod
- BE@I2. T}
CeffectiveTimer
Clow values" 200803017/
<= £ 1. 4: Date Report Was First Received {rom Source ==
<feffectiveTime>
CavailabilityTime value="200801017/>
<le- £OL B Date of Mast Recent Informatiom for This Report —-:
<reference typeCode="REFR">
Cdocument. olassCode="DOCT mondCode="FYN"> .
<code code="1" codeSysten="2, 16, B40 1. L1388 3 880, 2. 1.3, 277 o sol ayNames"document sie 1 dBySendex ™ />
CeitledC L6 Lor. 1¢/vithes
¢low L6 1.7, 1! Documents Held by Sender (repest as cossary) Bl ooy
Crext mediaTvpe="application/pdf” representation="R647>0. 1 6 1L r. 2</ teat?
e 00106 L 20 Tocluded Documents #1 -2
</docunenty

oy

</referencer
<reference typeCodes REER™>
Clocument classCode="D0C" mondCode="EVN™>
Ceode cade="1" codeSystems“2. 16, R40. b 113883, 3. 089, 2. 1. 1. 27" displayNamer " docomentsbio IdRySender” />
<titlerC LB D v, ¥ titler

<lew CULB L1 10 Documents Held by Sender (repest ap necessary) EZ -0
<vext medialvpe="image/ jpeg” ropresentation="B64" compression="DF73C 1 6 For. 24 extD

== 016 1y 20 Included Documents 28 5
</document
<freference>



reference typelode="REFR™>
Cocument classCode="DOCT mondCode="EVN">
<code code="2” codeSystem="2. 16, 840, 1. 113883 3. 689 2. 1. L. 277 displayNeme="1iteratureReference” />
titlexJ2, 17, reftitles
<d-- @@e)2. 17y BERHHERCSE 1o
<text mediaType="application/pdf” representstion="B647>C 4. r. 2</ text>
¢lwe o4 .20 Yncluded Documents HL -
‘bibliographiclesignationText>C 4. v 1< biblicyraphicDesignationText?
P Co4or 10 Literature Reference(s) #1 >
<participation typeCode="ALUT">
CapsignedBntity clagsCode="ASSTGNED™>
{representedirganization classCode="0RG"™ determinerCode="INSTANCE >
{aslbocatedBntity classCode="LOCE">
{iovation classCode="COUNTRY” determinertode="THSTANCE">
<oode code="T2 15 17 codeSvsten="1.0 3166, 1.2, 37/
- B@RJ2 15 r ol H1 o
<flacation>
{Saslocatedfntity>

</representedOrganizationy

{SassignedEntity?
Cparticipationy
</document?
</referepcer
(reference typelode= REFR™>
<document ¢lassCode="BOC" moadCode="FVN">
Ceade ende="2" codeSysten="2. 16 840, 1. 113883 3. 989, 2. 1. 1. 277 displayName="literaturekeference” />
{ritler 2 17 rd/ritled
e BRETZ. 17 r BER SO w2
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Cvalue psiitypes"CEY code="DL B, r. 6b" codeSystem="2, 16, B4D. L. 113883, 6. 1837 codeSystenVersion="1 B r.8a"/>
A BB v Bad MedDRA Version for Indivation 2 -3
<t BB 8b: Indication (MedDRA code) §2 --0
<fobservation?
</outboundRelationship2>
{outhoundRe lationship? typeCode="CALS™ >
Zobservation classCode="0B5" moodCade="FUNT>
Ceode code="28" codeSystem="2. 16, B40. 1. 113883, 3. 580, 2. 1. 1. 19" displavName="reaction” />
Cyalue xsiitype="CE" code="D. % r. 7b” codeSystem="2, 16, 840, L. 113883, 6. 1637 codeSvatemVersion="D, 8. ¢, Ta™/>
ol DB r. Ta: MedDRA Version for Reaction #2
2l-== D 8 r. Th: Reaction (MedDRA code) §2 >
<iobzervalion?

<outhoundRelationshipZ>
{/substanceAdministrations
<feocwponent?
<organizerr
<SsuhjectGfas
{subjectf2 typelode="SB]">
Cobservalion classCode="0BS” mondCodes"EVE™D>
{oode code="32" codeSystem="2. 16, 840, 1 113883, 3 980 2. 1. 1. 19" displayNewe™ reportedCansedfbeath”
<yzlue vsiitypes"CE” cade="D. G 2. r. 1b" codeSystem="2. 16, §40: 1. 113883 6. 1627 codeSvstemVeorsion="B. 9. 2. v 1s7>
e RS Zor 1ot MedDRA Version for Reporfed Cause(s) of Death £l
<P B9 2op 1b: Reported Cause(s) of Beath (MedBRA code) #D -3
‘originalTestsD 9, 2. r 2¢/oripginalTexts
e D,9.2, 1. 20 Reported Causels) of Death (free text) #1 -
<Hvalued
</observation?
<fsubjectOf22
<subfectBf2 tvpeCode="SBI >



<nbgervation classCode="0BS" wondCoda="EVN">
{eode code="32" codeSystem="2. 16. 8B40, 1. 113883, 3. 089, 2. 1. 1. 197 displavName="reportedCause®fDeath” >
(value xsiltype="CE" code="D.9. 2.r.Ib" codeSvstem="%2. 16 840, 1. 113883, 8, 1637 codeSystemVersion="D 9. 2.r. 127>
<I-= 0,9 2. r. 1a: MedDRA Version for Reported Cause(s) of Death %2 o>
(= P9 2 r. 1b: Reported Canse(s) of Beath (MedBRA code) 82 —>
<originalText>D. 9. 2 v 2</originalText>
A== P9 2. 1. 2. Reported Cause{s) of Death {(free text} #2 -->
<Avalues
{/observation>
CSsubectOf2s
(subjectOf? typeCode="SB]">
{ohservation olassCode="0BS” moodCode="EVH">
="5" codeSystem="2, 16 B40. 1, [I3883. 3,080 2. L. 1. 197 displayName="autopsy”/>
<ralue xsiltypes"BLY value="true”/>
21— 8,9.3 Was Autopsy Done? -0
Couthoundielationship? typeCode="DRIV":
{observation classCede="0BS" mondCode="EVN™>
Ceode code="8" codeSystems2, 16, 840, 1. 113883, 3
Cvalpe xsiltvpe="CE" code="D 8. 4. r. ib" codeSystem="2. 16, 840, L. 113883, 6. 1637 ecodeSystemVersion="D 8 4. r $a">
vl-- 8.4 r la: MedDRA Version for Autopsy-deTermined Cause(s) of Death #1 -
<I-=- 1.9 4 r tb Antopsy-determined Cause(s) of Death (MedDRE code) 81 -2
CoriginalText2D 9 4 r. 2/ original Text?
<l-= B U 4. r 2 Autopsy-determined Catse(s) of Death {free text) ¥} -->
<Sunluer

<eode code

o

G986, 2. 11,187 displayName="cause(fDeath” />

</observation?
</outhoundRe lat lanship2>
Couthoundielationship? typeCode="DRIV™
Labservation classCode="OBS” mocdGodes"EYN"»
{eade code="8" codeSvsten="Z2, 16, 840. 1. 1138
<value rsiitypes CE code="DL 9. 4 r. ib™ codeSvsten="2 16 840, {0 1IABRE 6. 1637 codeSystemfersion="h % 4. r. 127>
Sloe I, 9.4 1 lat WedDRA Version for Antopsy-determined Cause{s) of Death 22 —>
<t-- D8 4 r.1b Autapsy-determined Cause{s) of Death (MedDRA code) #2 -0
<originalTexi>D. 8. 4 1. 2</originalText>
<o DY v, 20 Autopsy-determined Cause(s) of Death (free texi) g2 --%

201 5197 displayNames cavseQfleath” />

<valuey
{observation
GovthoundRelat fanship2?
<lobservation?
CSsubjectOfe:
subjectff? typelode="SRI">
(observation classCode="DBS” moodCode="EVN">
“id reot="154ebBRO-058h—45F 2502 F-4 204465 4657E7 />
<eode code="29" codeSystem="2. 16, 840, I, 112883 3. 689 2.1 1 197 displayName="veaction” />
<effectiveTime xsiltype="TVL_TS™:
(low value="200801017/>
¢lew B4 Bate of Start of Keaction / Fvent #] --»
Ihigh values” 2008071027 /%
= E. .57 Date of Bnd of Reactian 7 Event &1 -
effectivelimer

<wplue xsiityper CF cades B 1,2, 1b7 codeSvatem="2, 16, 8B40 1. TIZEE3. 6. 163" codeSvstenVersion="F. ¢ 2 1s7>
SV E i 2 1t MedDRA Version for Resction / Event 8L - >
e B2, 1ht Resction / Fvent (MedDRA code) #L --»
<originalText language="E. 3. 1. th">E i 1. lal/originalText>
e Eoi1 lad Reaction / Event as Reported by the Primery Seurce in Netive Langusge 31 -2
<I— E,i.1.b: Beaction / Event as Reported by the Primary Sours

s Langusge Bl >
<featuer
ocation typetodes |00
AeentedEntity classCode="LOCE">
GacutedPlace olassCode="COUNTRY™ determinerCode=" INSTANCE >
“eode code="f. 1,97 codeSystews"). 0, 3166, 1. 2 275
e B4 G0 Tdentification of the Country Where the Reaction / Event Occurred 3] -3
</locatedPlace>
</loeatedEntity)
lacation?
CanthommdRebationship? typeCode="PERT">
observetion classCode="0RS” mawdCode="FVN">
<eode code="30" codeSystem="2. 16, B40. 1. 113883, 3,988 2. 1. 1. 14”7 displayName="reuct ionForTranslation”s>
Cwalue wsiitype= ED70E 11 3¢/ valne
o= B i1 20 Reaction / Fvent as Reported by the Primevy Source for Translation #1 —>

</observation>
</outhoundRelationship2>
<antboundRelationship? typeCode="PERT™>
Zabservation c¢lassCede="DRS” mondCodes"EVH™>
Ceode code="37" codeSysten="2. 16. §40. 1. 113883, 3. 989, 2. 1. 1. 187 displavName="ternHighlightedByReporter”/>
Cvalue xsiitype="CE” code="E. i. 3. 17 codeSystem="2. 16, 840, 1. 113683, 3.888. 2. 1. L. 10"/




J-— E 1.3 1. Term Highlighted by the Reperter #1 —0
fobservarions
<SouthoundRelationship2s
<puthoundRelationskip? typeCode="PERT">
<pbservation classCode="0BS" moodCode=

e

<eode code="347 codeSysten="2 16 840, 1. 1I3SE3 3. 0892 1 1

Svalue xsiztype="RL" values"true”/>
Clew Boi.3. 240 Results in Death #1 >
</observationr
</outboundRelationshiply
Zoutboundielationship? typeCode="PERT >
{observation classCode="DBS™ moodCodes EVR™>

<code cade="#1" codeSystem="2 16, 846, 1 1E388%, 3 988 2L L

Cyalue wsictype="BL" nullFlavor="N1"/%
<tew B i3 2b0 Life Threatening #1 -->
{fobservation>
<JouthovndRelationshin2>
<outhoundRelationship? typeCode="PERT™>
<ohservation classCode="0BS" moodCodes EVH™>
<ende code="32" codeSvstem="

dvnlue xsiltype="BLT value="true”/>
I E 1. 3. 2¢0 Cavsed / Prolonged Hospiiaiisation #)
</ubzervatien>
CAouthoundRelationship®>
{ontboundRelatinsnship? typeCodes"PERT >
Lobgervation classCode="08S" moodCode="EYN":
“ codeSystens" 2 16 840 1 TESRR3. 36892
<yplpe xeiltvpes"BLY nullFlavors"N1"/5
<h— Boi3 240 Disabling / Incapacitating 21—
</observation>

<ende codew

<SoutkoundRelationship2»
<oiithoundRelat fonship? tvpelodes"PERT™>
Cobservation classCode="0BS" mondCode="EVN">
<code code="12" codeSystem="2, 16, 540, . 113883, 3. B89, 2,
<yalue xsittype="BLT nuliFlavor="NI"
- E 1.3 2e: Congenital Ancmaly 7 Bireh Defect ) -0
<fobservation?

“/outhoundRelationshipiy
{outboundRelationship? tvpeCode="PERT">
(observation elassCode="0BS" moodCode="EVN">
{eede code= 267 codeSystews"2. 16, 840, 1. 113883, 3, 989, 2,
<vaiue xsiitvpe="BL” value="true”/>
<= F.j, 3 26 Other Medically Important Conditien £i
</ohservation?

—

o

< /outboundRelationship2s
CoutboundRelationship? typeCode="PERT™>
Cohservation classCode="0BS" moodCode~ EYNT>
eade cods="277 codeSystensT2 16, 840, 1 113883, 3

i T

<value xsiliype=" code="E, codeSyst 1. B840, 1

</observationy
<SontboundRelationship?)
<outhoundRelationship? typeCode="PERT™>
{ohservation classCode="0BS” moodCodes"EVN">

Ceode codes"24" codeSystem= 2. 16, §40. 1 TISBRL 3,989, 2.0 1

{ealue xsiitypes BLY values"true” /%

20160840, 1 FIAR8L 39R9 201 )

.18

197 displaybame="resultsinfeath” 7

7 displayName="isLifeThreatening” />

197 displavMame="reguireslnpatienttospitalization™

0892 101 197 dieplayNames " outoome” S
J13883. 3 486,
- B 1.7 Outeome of Reaction / Event at the Tiwe of Last Observation 23 -->

LTS

197 displavila

te- BiLB2 Medical Confiymation by Healthesre Professiopal #1 -2

{Sobservationd
<outhoundiielationships
<outboundRelationship? typeCodss"PERT™>

Zobgervation classCode="0BS" mondCode="EVN">
codeSvstem="2, 15, B40, b TIBRRE. 2. 0805 1.3

Conde code="1)

Cyalue xsiitype="CE” code=”]2. 14,17 codeSvstens
e BE@J2 041 D - 2R HE -
{Sobservationy
</outhoundRelat tonship2>
<fobservation?
< sub jectOf2>
Csubject(f2 typeCode="SB]">
{observation classCode="0BS" moodCode="E¥YN">
cid roni="thaalfidb-cheR-4ofc-9309-3bB6005 1422075
Ceade code="P97 codeSystem="2. 16, 840 L 13883, 3. 989 2. 1. 1. 19"
<effectiveTime xsi:tvpe="IVi_TS">
Clow value="70090101"/>
e B4 40 Date af Start of Resctiown / Fuvent 52 ——

-1 -

2016, BAO, B, LI38B3. 3, 989,

2. 107 displ

displayName="reaction” />

197 displayNames"regultsinPersistentOrSignificantBisability”

dizplayName="congenitalinomalvBirthDefeet” />

197 displayName="otherdedical ivimortantCondition” />

K

"medicaifonirmationByHesl thProfessional "7/




Cwidth value="24" wnit="FE i.6b"/>

(- BoiL B2t Duration of Reaction / Fvent {musbery #2 --3

tl-— E i. 6b: Duration of Resction / Event {unty) #2 )
eftectiveTime

fwalue xs1type="CE” codes

<f-- i, 2. a7 MedDRA Version for Eeaction
¢I=- B i 2 lb: Reaction
<ariginalText language FLRTER 1 s original Text>

- Bi L tas
LS A T S 4
<fvalbed

Reaction

Reaction

Lpcation typeCode="LOCT>
ClocatedEntity ol
locatedPlace cla

i %

sCode="LOCE™>

Coode rode=” eodeSystem="1 0 31£H, 1 2
LR T P M
<HocatedPlace
loeatedEntity>
<Aocatinp>
<outhoundRelal lonship? tvpeCodew " PERT™>
"ORS” moadCode "BV

<observation classCo

<eade code="307 rade
types ERT2E 101 24 value?

</observation)
‘outboundRelationships>
couthoundRelat ionship? typeCode="PERT™?
saxCodes 0BS” moodCodes"EVNT»
377 nodeSvstem="2. 16,840, 1. 1
(o

o

<ohservation

Ceode codes

<valye yuiltypes cade="E 1.3 17 rode

¢l——F 1.3, 1:Term Highlighted by the Reporier 52
<sobservation?
{fouthosndRelatiohship?:
<enpthoundRelationshipg? typeCodes"PERT":
{observation vilassCode="DHS™ moodCodes"EVN
“code code= 347 codeSyste OB BAD b TIOREEL 9RG 2 ),

<valte ¥si7type="BL" walue="true" />
al—— B .3 20 Results in Death 82 -5
{fobservation?
</outhoundRelationshipil
CoutboundRelationship? tvpeCode="PERT" >

{observation classCodes 0BS” moodCndes EVN
="217 codeSystewn="2. 16, 840 1 TI3RR3 3
Cyslue xsiitvpe="BL” nuilFlavors"NI"/>

<t E §.3.2b: Life Threatening #2 o>

H2 e
</ohservation’

<{code cod

<foutboundielstionshipi>
<outhoundRelationship? typelodes"PERT">

gnodCode="EVH >
=216 R4 1 1138RA. A

LIS
I

{observation classCodes"DBS

Coode code="33" sadeSyste
Cwalue rsiitype= BLY value="true
<i-— E. 1.3 200 Caused / Prolonged Hospitslisation ¥2 -
{/ohservation’
<SouthoundRelatianship?s
<outhoundheiationship? fypeCode="PERT™>
Zabservetionh classCodes 0887 moadCade="EVH":
Cende code="36" nodeSystem="20 16 840, 1. 113883
<yalue xsiitype="BLT nellFlavor="Ni"/ >
<l-— E. 1.3, 2d: PHsabling / {ncapacitating #2
<fobgervartion?
<Aouthoundlelationship2?

cCodoz"PERT™ )
"OBSY mosdUnder “EVNT Y

CoufhoundRelationship? fv

{cbservation classCo

884 2. 1

GRG. 20 1.

s

G888 20

{eade code="12" codeSystem="2 18 840, 1, FIIRB3 3, 0RG. 2.1

<valte xsiftype="BL" nullFlavor="NI"/>
of— E 4 Birth Defect #2 -
{/nhservation?
outboundRalatjonship2d
SoutboundRelationshin? typeCode="FERT >
<observation c¢lassCodes"0HS" moondCndes

e

Congenital Anomaiy

EVRT

Ceode code="26" codeSysiem="2. 16 846, 1 PIIBRI, 3083 2. 1

abwes"true”

<value ¥sitypes Bi”

Ao B8 28 Other Medicsllv Important fondition $2 -

</observation?
¢ Southoundielationship?d

Y BEvent as Reported by the Primary Source in Native Labguage H2
{ Fvent as Reported by the Frimary Seurce Danguage #2

Identification of i1he Conntry Where the Reaction

33089211197 4
TROUG E4GL LIEBER 3 8RY. 2 L1107

i

Nk

LT

Y

......

-

S Bvant Ocourved H2 --3

yaters 2. 16 840, b, TI3ER3, 2,982, 2. 1 1. 197 displeyNames"resctionForTransiation™/>

1,20 Reaction / Event as Reporied by the Primary Source for Transbation 2 -3

isplayName="tavalighl {ghtedByReporter” />

L
Iy

displayName="resultsinDenth” />

displayName="isLifeThreatening” />

di splayMame="requiresInpatientBuspitalization”/>

displayhame="resultsInPersistentOrSignificantDisability

displayNane="congeni taldnomalyBirthlefect” /)

di splayiame="otheriedical Iy TiportantCondi tion” />

i



{outboundRelationship? typeCode="PERT >
{observation classCode="0BS” mocdCoden”EVN™>
Ceode ende="277 codeSystew="2 16 R40. 1 113883 3. 986.2. 1. 1. 18" displayName="outcome” />
<value 2siitvpe="CE" code="F. i.7" codeSysten="2, 16. 840, 1, 113883, 3. 984, 2. 1. 1. 1179
- BoiL 70 Dutcome of Reaction / Event at the Time of Last Observation 82 -—5
{/observation
</onthoundRelationship?s
CoutboundReatationship? typeCode="PERT™>
<ohservation classCode="085" mondCodes"EVN™:
<code code="24" codeSystens"2. 16 840. I 113883, 3. 989, 2. . 1. 19" displavName="medicalConfirmat lonByHealthProfessional” /7

Cyalue wsittype= BLY value="true” /2

Shb— B i 80 Medical Confirmation by Healtheare Profe

ional 32 -3

</observationy
<SourboundRelationship2>
<outhoundielationship? typeCode="PERT™ >
{echservation classCode="0BS" mondCodes EVN" >
<code codem 1} codeSystenm="2 16, 8401, FI3BR3. 3. 989. 8 1. 3.2, 1107 displayNames"3#H - BLE" /0
216,840, 1. VIAHBE 3. G806 ) 3 2 LB

Cvalue xsiltype="OF
e @ERIZ 140 HEED - S
</observation’
<SoutboundRe lationship?»
</ohservation>
</sub jectif2>
<subjectliF? typeCode="SRB)">
Cohservation classCode="0BS™ moodCodes"EVN™>
Cid root="3a8626cb-91 1 b-deal-Ralt-e0f fi4430adf "/

Conde code="20" codeSystem="2. 16, 840 1. L138K3 3. B84, 2. 1. 1. 19" displayName="reaction”/>

2. 0407 codeSvetens
-

CeffectiveTime xsi:types"JVL_T8">
Cwidth value="24" unit="F. 1. 66"/
Ct—- B f.%a: Duratien of Reaction / Fvent (number} 3 --3
CHe— B i6ht Duration of Reactjen / Event (unit) #3 -—>
<high valus2"203012617/>
== B 180 Dete of End of Reaction / Bvent 53 >
<SeffectiveTimed

yalue xsiitypes CET cndes"E i 2. 1h7 codeSysten="2, 16, 840 1, 113883 & 1637 codeSystemVersion="E. 1. 2. {a™>
A BoL 2 la MedDEA Version fer Heaction / Event %3 -0
¢l-— B4 % 1h: Resction / Event (MedDRA code) i -

iage="8 1 L IBTOE L laddoriginalTextd

CoripinalText
-~ E.i.1.1a: Reaction ¢ Event as Reported by the Primary Sovrce in Native Language #3 —>
== B 4.1tk Reaction / Event as Roported by the Primesry Source Langoage #3 -3
<Sealued
<location typeCode="1007>
{IocztedEntity classCodes"{O0E">
locatedPlace rlazsCode="COUNTRY" determinerCodes" INSTANCE?
<code code="E. §.97 codeSystem="1. 0. 3166. 1.2, 27
e B 1.4 Identification of the Country Where the Reaction / FEvent Qccurred B3 -3
¢ locatedPlace>
</loratedEntity>
i/ locatiany
CoutboundRelationshin? typefode="PERT>
Cohseyvation classCode="0B8" moodCode="EVN™ >
<ende cade="307 codeSystoms"2. 16, 840, 1. 113883, 3,989 2 1. 1197 displayName="reactionForTranslation”>
Cyalue xeitype="ERT2E i L 2 /valued
A== B {1 27 Reaction / Bvent as Reported by the Primary Seurce for Translation #3 -3

{Fobservationd
<louthoundRelationship2y
<outboundRelationshin? typeCode="PERE >
noodCade="EVN">
yetew="2 16 R840, 1. 113883, 3. 089, 2.1, 1. 187 displayNane="termMighlightedivReparter ™
E6. 840 1L S 138BER 39892 11 W0
-

{ochservatioh classCoc
Ceade code="37" nodet
<value xsiitypez"CE” code="E. i.3 17 codeSystiem
sl—= E. 1 3 1:Term Highlighted by the Reporter ¥

</ohservationd

</putboundReiationship2>
southoundRelationship? typeCodes"PERT™>
Cohservation olassCode="DHS” moodCndes"EVN"
{oode cades"34" codeSvaten="2 16 840, 1 L13883, 3.980.2. 1. 1. 18" displayName="resultsinbeath™/ >
dvalue xsittype="RL" values"true”/>
<t-— B 1.3 2a! Kesults ip Death #3 -->
‘observation>
<foutboundRelationship?>
<autheundRelationship? typeCode="PERT">
Labsorvation classtode="0RST moodCodes"EVN™>
<eode cnde="21" codeSysten="2. 16 840, 1. 113883 2 0RO 2 1.} 187 displavName="isLifeThreatening”/>
<yalue xsitype="BL" nuliflavor="RKi"/
<l-— E 1.3, 2b. Life Threatening #3 -2 -

- 12 -



<Sabservation?
(foutboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
(ohservation olassfode="00S" mondGade="EVH">

316 840. ). 113883, 3. 6RY. 2
Ctype="BL" valbe="true”/>

Ceode code="33" codelyste

‘value xs
- E
<iohservation?

1

</outhoundBelationship2y
CoutboundRelationship? typeCoden PERT™>
Cobservation classCode="OBS” mondCode="EVN™Y
(eode rode="35" codeSystem="2. 16, 840, 1. 1138833 489 2,
Cyalue xsi:types"BLT nul)Flavar="NI"/>
B2 24 Disabling ¢
</observation®

Incapacitating #3 --0

CSovthoundRelationship?s
<outboundRelationship? typeCode="PERT™>
Lobgervation classCodes"08S™ moodCode="EVN">
Ceode code="127 codeSystem="2, 16 840} 113883, 3 989 2
Cyalue ysiltypes"BLT nuilFYavor="N1"/>
e BOLLE 280 Congenital Anomaly / Birth Defect ¥3
{/observation?
</outhoundRelationshipZ?
etthomndiielationship? typeCode="PERT ™Y
Zohservation classUode="0BS" moodCode="EVYNT>
<gode codem"267 codeSystensT 2 16, BAD L T EABBR. 3. O8O 2
fvaluse xsittype="BL” values"true” />
<he— B398 Other Medically Importsnt Condition 33
<lobgervations
<SoutboundRelationship?>
<nuthoundRelationship? typeCode="PERT>
rvation clas mendCode= "EVN" >
277 codeSystem="2, L6, 840, 1. LI3883. 3. 989, &

{ohe

Ceode codes
Cyalue xsi: code="E. 1. 77
Ao

<fohservation?

codeSystemns
.70 Dutcome of Resclion / Bvent ai

CAonthaundRelationships
whode= "PERT >

O0FS™ mondCode="EVN">
codeSystems"2, 16 R4G. §. 113883, 3, 989, 2
HL

Couthourdielationship? t

“obssruation

<eode codes=

Cyalue Xs51itypes vatue="true” />
< B DL 8 Medic

servation?

</outboundReiationship2?
CouthoundRelat ionship? typeCodes PERT™>
<ohservation classCodes” 0887 moodCode="EVN">
<oodn code="11" rodeSy =216, 840, 1, L3RRI 30989, 5.

ste

<value xs
Lo C B g3

varich?

<fobge
<AonthoundRe lationships
</ohservationy
<A sub oot
<subject07Z rypelode="SE]">
Zobservation classCodes"GBS” moodCodes"EVN">
<id ront SGURE0F DL 400 RO ddR4 LG FAT 8L/ >
{eode code="29" rodoSystem="2, 18, 8540, 1 113883, 3 980, 2.1 ).
RIS

ZellpetiveTime xsiity
Ceomp xsiiivpesTIVE TS7
Claw values"200801017 />
¢l B, .47 Date of Start of Feaction / ¥vent #4 -
Zhigh value="201012017/>
Date of End of Resetion / Event 84

H
cmp wsictype="IVL_TS" operator="4"
<width value="24" unit="E 1. 6b7/>
Z1-— E 1.6z Durstion of Reaction
<l BEO§ 8b: Duratien of Reaciion

5

[P

/ Buent (number) &4

<icompr
<AeffectiveTime>
<value xsiitypes="0F code="E i, 2 1t codeSystem="%. 16. 840
E. i. 2 Ia: MedBRA Version for Reactien
! A  Event (MedDRA code) 34—
CoriginalText
== B i1 Lat

Reaction ¢

languapes

- 13-

codes" 12,14, 17 codeSysten="2, 16, 848, 1, 113882

¢ BEvent funit) 4 -5

/ Bvent 84 -

Ci B IRTPE G L la<feriginalText
Resction / Event as Reporied hy the Primsry Source in Netive Lenguage 34 -0

1. 1. 19" displayName="reauiresInpatientBospitalization” />

.3, 2c: Caysed / Prolonged Hospitalisation 83 -—>

1.1 18% displayMName="resultsinPersistentOrSignificantDisability™/>

1oL 187 displavName="congenitaiinomalvBirthDefect”/ >
>

1.1.197 displayName="otherMedicallyTmportantlondition” />

—>

11,197 displayName="ontcome” />

2,016,840, 1 HI3B83. 30889, 2. 1. 1. 1470
the Time of

last Ohservation §3 -3

11487 displayNeme="medicallont irmat ionByHlesi thProfessional " />

al Confirmation by Healtheare Professional #3 -

BOS201 107 displayName="Hzk0 - B>

2088 B L AL LR

197 displavNeme="reaction” />

—y

1. 113883, 6. 1637 codeSystemVersion="E. i, 2. 1a™>

N

5



b Bof10 0G0 RBeaction ¢ Fvent as Reported by the Primery Source lLanguage #4 >
Lfvalued
<lacation typelode="LOC™>
Aeeatediniity classCode="LOCE™>
COUNTRY™ determinerCode=" INSTANCE">
¢ =T, 0.0 30661, 2,870
* the Country Where the Reaction / Event Occurred #4 -->

QocatedPiace classCodes
{eode code
e
¢AlacatedPlace>
<AlocetedEntitey>
A ocations
CouthoundiRelationship? typelode="PERT™>
{whservation ¢lassCode™"0BS" moodCode="EVN™>
216 840, 1. F13BRI. 2 6989.2. ), 1197 displayName="yeactionForTransiation”/>
Cvalue xsiiUy L2 valuer
élew E i1 20 Beaction 7 Event as Reported by the Primary Source for Translation 4 —->
<fohservation)

{code code="3

JlontboundBelationshind>

ZouthoundRelat ionship? typeCode="PERT™>

le="08S” moodCodes F¥N"S
716, 840, 1. 11388
LB 1T codeSystem

<ohservalion ©

GRE. 2 1. 119" displayName="1erpHighlightedivReporter™ >
Cwnlue xsilty "1, R0 11388 3,989 2.1 1 107/

o= B33 1:Term Highlighted by the Reporter #2 -5

‘fabservation?

Cende codes

sthoundRe Fationship2)

Codes"PERT™>

lassCode="0B8" moodCode="EVN">»

" codeSystens"2 16 8400 1 113883, 3,989, 2. L 1,197 displayNames"resultsinDeath™ />
value xs1:type="BLY value=s
e B33 200 Resulrs in Death 24 -0

nbservation?

TouthoundRelationship?
a1
Coade o

{obs

true” s

ClonthoundRelationship2>

“outhotmdRe fationship? typetode="PERT >

"ORS” moodGode="EVNT >

Ceode endes"217 rodeSvaten="2 16 840, L 113883, 3. 989, 2. 1. 1. 197 dizplayName="
Celne Srypes RLT nulFFlavor="NIT/
fee B 32k Life Threatening £4 -

<fobservations

Cobservation classGodes

feThreatening”/>

CAonthoundBe lationshin?>

<etthaundRelationship? tvpeCodes"PERT™S
Lohservating clussCode="0BS" woodCodas"FVN">

17 codeSystems"2, 16 B40. 1. FE3H8I 3689, 2. 1. 119”7 displayName="remuiresImpatientHospitalization” />
=Bl values"true” />

Canged 7 Protonged Hospitalisation #4 —

Ceade codes

Cvalue xs:
de i3 2

< obse

raiiony
<fouthoundRe st ionshipdy
“putboundRelationship? typeCodes"PERT™>
<abservation ¢lassCode="0BS" mondCode="EVN™:
= ="D. 16, 8B40, 1. E13B83. 3. 989, 2.1 1197 displayName="resultelnPersistentOrSigniticoniBisability" 0

deSys e
2= BLY el iFLavor="N1"/7
Bisahling ¢ Incapacitating 24 —5

dende o

Luzhue 540
b Bog3o2d
<Sobservation?
“SeathoundRelstionship?s
LouthoundRelationship? typeCodes"PEET™ >
lnbservation sdes TORST mocdCodes"EVNT>
216,340 1 113883 L wEY 2 L
Cealue xsiityg BLY nul W lavor="Ni"0
Ze! Copgenital Anomaly / Birth befeet #4 -2

<eode codes 197 displayName="congenitalinomalvBirthDefoet” />

<Sobservaticn?
“AouthoundBelationship2>
<outboundRelatiohship? {vpelode="FERT™>
Cobgarvation classCode="0RS" moodCade="FEYN">
{eode code="28" codeSystem="2, £6 K40, 3 1138833989 2. L. 118" displavName="otheriedicallylmportantCondition”/>
<walue xsiivype="BLY valpe="trus
Ch=- B0L 30200 Other Medically Tmportant Condition 24 —3>

observation
<ovthoundReYationshin?>
foutboundRelationship? typeCode="PERT™>
<observation classCodes"0HS" moodCodes"FVR">
Coode code="27" codeSystem="2, 16 R40. | L138E3. 3. 989.2. 1 1. 197 displayName="outcome™ />
<walire xsiiTypes"CR” code="E 1. 77 codeSystew="2, 16, 840, 3. FI3EER. 30086, 2.1, 1L 117
== B .7 OQuteowe of Reaction / Bvent atv the Time of Last Observation §4 -->

{/observastion?

</outboundRelationship2y

<outhoundlelatinnshin? typeCode="PERT™>
<ohservation classCode="0BS" moodCode="EWN">

- 34 -



Ceote code="24" codeSystem="2 16, 840, 1, 113883 3, 885, 2. 1 1 197 displeyName="medicalConfirmat ionByBeal thProfessional /2
“value xsiltyne="BL" value="true”/>
fow EC{ 80 Medical Confirmation by Healthcsre Professicns] #4 —>
/observationy
<fantboundRelat fonshipl>
SouthoundRelationship? typeCode="FERT™ >
<observation classCodes"0BS” mondCodes"EVNT»
Ceads codex" 117 codeSysten="7. 18 840 b 113883 2 889 K 132 1107 riicp]ayNamsr')kiu < BT
Sealue xsi i type="CE” code="J2. 14 i" codeSysten="2. 14, 840, 1. FIZEBI. 3. 980, 5.3, 3.2 18"/
- @ERIZ L1 M- MR O -0

servatinny

<fotthoundRelat ionship2>

brervation?
<izubjectOf£2>y
<sub jectOf2 typoCodes"SBY7 >
Cobservation olassCodes"0RS” moodCade="EVK™>
id rect=" 10710640 c 104238301 ~34F9ddbTeabd” />
7 codeSysten="2, 16, 8B40, 1, 113883, 3980, 2. 1. 1. 18" displayName="reaction”/>
xei !va(\ "IV TS

“eode codes”

E f].«i{i* of g‘«ali of Reaction / Bvent $& ~>

CEY code="E. i. 2, 1b" codeSvstem="2. 16, 840, 1. TI3883 6. {637 codeSvstemVersion="E. 1.2 Ia"y
% 7. fa! MedDRA Yersion Tor Remetisn / Event #5 -3
B.oi 2 I Reaction / Event (MedDRA code) 5 -2
\nrap,m.a’iTPxL famgnape="E i3 IR i 1 ladforiging! Text)
E. i 1. le Reaction / Bvent as Reported by the Primery Source in Naiive Language #5 -->
E.

<Aualuer

Cboth: Reaction £ Event as Reported by the Primary Source Language #5 -3

<localion typelodes 1007
SlacatedEntity classCodes"LOCE™>

sCodes"COUNTRY” determinerCode=" INSTANCE™>

stew="1. 1. 3166.1.2,27/>

{dentificarion of the Country Where the Reaction / Fvent Dcocurved 5 —->
<locatedPlace?

<SlocatedBntivg?

<Macations

peCode="PERT ">

URS" moodCode="EVN">

ews 2. L6, 8B40, 1 TF38RA 3 989 2.1 1187 displavName="reactionForTransistion”>
1.2 valued

Conthoundlelar mnahﬂ,h Ty

observation o
<eode o

cype" B >
D Beaction 5 Evenl as Reported by the Frimary Source for Tramsiation #h >

<vilue
ARSI A
“observation
CountboundRelationship2d>
Couthoundielationship? tvpeCode="FPERT™ >
{observation sCode="NBS" mondCoda="EVE™>
codeSysten="2, 16 840, 1 113883, 3 989 2. 1 1197 displovMName="torpiigh} ightedByRenorter /0
Cvalwe xsilty T code="E, i, 3. 17 codeSvstem="2 16, 840, 1. LI3RB3. 3 U882 (1 197>
[ £ CLiTerm Highlighted by the Heporter £5 — >
-1/"(Jh$vrva‘.1c‘n>
outhmmdRelationship2y
5 Hh‘lmiRo}.ﬂ jenship? typeCodes"PERT™>
srvation classCode="0BS" moodCode="FVN">
ceode codes” 347 codeSystem="2. 16, B40. 1 1138R3. 3. 980, 2. 1. 1. 197 displayName="vesultsInDeath” />
<value wsiitypes BLT value="true”/?
E 1.3 250 Results in Death 85 —>
servation>

<ende code

<AouthoundRelstionship2s
CoutboundRelat Tonship? fypeCodes"PERT™
vation classCode="0BS” mondCode="EVNT>
code="21" codeSysten="2 16 B40. 1 113883, 3 989 2.1 118" displayName="isLifeThrestening” />
Cvalue rsictype= BLY nud 1Flaver="NI"/
<f-- E. 1.3 2b: Life Threatening #5 -->
Cobservation?
ContboundRelationship?>
<outhoundRelationship? typeCade="PERT>
<observation classCode="0BS" moodCode="EVN">
“eode cod 37 codeSystem="2. 16, 840, 1. 113883 2 889, 2 1. 1 1897 displayNeme="requiresinpationtHospitalization”
<yalue xsitype= BLY value="true”/>
<l B i3 2e
“/ohservation?

<obser

Caused / Prolonged Hospitalisation 85 —2

<fouthoundRelationship2?
<nuthotindRelationship? typeCode="PERT >
Cobservatiop classCede="0BS” moodCodes="EVN">
Cende eode= 357 codeSystem="2. 16, 840, 1, 113883 3 989, 2.1, 1. 187 displavNawe="resulvsInPersistentOrSignificantDizabiliny™

- 15 -



<yalue wsi:typem"BL” nullFlaver="NI"/>
<lee Eoi0% 2d0 Disabling / Incapacitating %5 -~
{/nbservation?
<SouthoundRelationship2h
<putboundielationship? typeCodes"PERT Y
<observation classCode="0BS” moodCade="EVN">
{eode code="12" codeSystem="2, 16.840. F. 113883, 3. 689, 2. 1. 1. 197 dieplayNene="congenitalAnoma {vBirphefent "0
yalue xsiitype="BL” nullFlavor="NI"/>
<le= E. 1.3 Ze Congenital dnomaly / Birth Defect 35 -0
iohservat 1ond
SouthoundRe lationship?>
<putboundRelationship? ivpeCode="PERT ™
<ohsarvation classCode="0BS" moodCede="EVN">
Cende codes"26" codeSystem="2. 16, 840, 1, F13883, 3. 989 2. 1. 1,157 displayName="otherMadicallyimpartanrfondi tion™ />
<yalue xsiitype="BL" values"true”/>
B3 2f Other Medically Important Condition 5§ -2

-

“/ebservationy
<fouthoundRelationshiplh
LonthoundRelationship? tvpeCodes"PERT™
{ehaeyvation classCodes"0BS" moodCode="EVNT>
Ceode ende="277 codeSystem="2. 16, R40. 1. 113883, 3. 989, 2. 1. L 197 displavName="outcome” >
B9 codeSysten="2. 16, 840, 1. V13883, 3 689, 2 1 L IL7S

Cegive xsiitvpes (BT codes
25 -

¢lee BOiL 70 Outcome of Keaction / fvent at the Time of Last Observation #

<fobservation?
<fouthoundRelationship?>
LotrthoundRe lationship? typeCode="FERT"
tehservation classCode="0HS" moodCode="EVN">
‘eode code="24" codeSystem="2. 16, BAD. 1. 113883, 2, 680, 2. 1. 1. 19”7 displayName="medicalConfirmationfvlealthProfessional”/>

<valtte xstltype= BLY valoe="true™/>
¢l E. i #: Medical Confirmation by Healthcare Professional #5 -3

<Jobkservation>
<AouthoundRelationshipl>
ZeuthoundBelationship? typefode="PERT™
="0BS" moodCode="EVN™>
codeSysten= 2 16 B40., L3883 5 986, 5 L 3.2, 1107 disployName="300 - BER7
201684001, LEIER3 96 513,21, 87

<ohservation

Crods code
Cvalue gsitype="CR" cede="§2. 14, 17 cadeSvste
bo- B@EIZ. 1400 Ahm - BEER 25 -
{Sobservation?
<onthoundielationship)
ohservationy

<Suuh jec tOF2y
CsubjectOt? typeCode="SB)"»
«Code="0BS” moodCode="EVN">
23— 106643340448 e B25640TBI8F7
Coode code="297 codeSvstens 2. 16, B40. 1 FI3BB3, 2089 2 1.4 197 displavName="reaction”/
ZeffectiveTime xsiitype="IVI_T5">
<high value="200801617/0
<le- B0 40 Date of Start of Reaction / Eveni #6 -3
HffectiveTime>
Cvalwe xsitiype="CE” code="F. 1. 2. 15" codeSystem="2. 16, B4D. 1. 113883, 6. 163”7 vodeSystenVersion="E. 1 2 1a™>
- £ 0.2 1a: MedDRA Version for Reaction / Evept #6 -7
<ie— E 1.2 1b: Reaction / Event (MedDRA code) B& -—>
<origineiText lapgiage="F i t 1B°30 i L 1ad/originalText)
<t--— E. i. 1. 1a: Reaction / Bvent as Reported by the Primery Source in Native Language 86
<l B QL1 MbD Eeaction 7 Event as Reported by the Primary Source Language 36 -
{Guesluer
CYoeation typeCode="LOC">
CpeatedEniity olassCode="LOCE >
ClocatedPlace o Cade="COUNTRY” determinerCodes" TNSTANCE™>
Ceode code="E. 197 codeSystem="1 0. 3166.1.2.27/>
- E i % Tdentification of the Country Where the Reaction / Event Oceurred #6 -->

<chsereation cla
2id root="1{92

ClocatedPlace?
</locatedEntitys
<Alocation?
couthoundRelationship? typeCode="PERT™)
{observation classCode="0BS" moodCude="EVN">
Seode code="30" codeSystems"2, 16 840, 1 LIB8ES. 3 985 2 1.1 19" displayName="reactionforTranslation”
Iyalue aslitypes EBTOE i1 24 /valued
<t B i1 20 Remction / Event as Reported by the Primary Sewrce for Translation #6 —->
</ohservation?
/outhoundRelstionshiply
Ceuthoundielationship? typeCode="FERT™?

{observation classCode="0BS” moodCode="EVN™>
<code code="17" codeSyatem="2. 16 840, . 1138E3. 3. 989, 2. 1. 1. 18" displayName="ternfighlightedByReparier™/>
Cvalue reiltype="CE" coder™. i 3. 1" codeSystem="0, 16, 840. 1 113883, 3 980 2. 1.5 107>

- 6 -



<1-- E. 4.3, 1:Term Highlighted by the Reporter #6 -—3
{fobzervation)
<SoutboundRelationshipZy
<outboundRelationship? typeCode="PERT™
<ohservation classCode="088” mondCode="EVN™>
Srode code="34" codeSystem="2 16, 840, 1. 113883, 3,888 L 1 119
<yalue xs5i type="BL" value="trus”/>
t-— E. {3 Za Results in Beath #6 ——>
</observation?
</outboundRelationshipZ>
<puthoundRelationship? trypefode= PERT™>
<ohservation classCode="0BS" moodCode="EVN">
Conde code= 1" codeSyston="2, 16 840, 1 L1883, 2,989 2 1 1 197 disployMame="{aLifeThreatening />
<value xsiltvpe="BLY nullFlavor="KI"
Cie= Eoi03.2k Life Threatening 26 >
fobs
CfouthoundRelationship2y
<outboundRelationship? typeCode="FERT™?
Cohgervation classCode="0BS" woodGode="EVN">
Coode vodes"387 rodeSveten="2. 16 848 1. LIABRA OGRS 2.3 1197 disployNome
Cyalue xsiitype="BLY valve="true”/>

-

AdisplayName="resultsInDeath”/

ervation

requiresinpatientHospitslization”>
Che— [0 3 2e0 Caused 7 Prolonged Hospitalisation #8 -
</observation>
<SouthouwndRetat ionship2s
CouthoundRelationship? typeCode="PERT >
{observation classCode="0BS" moodCode="FVN"
Ceode code="35" codeSystom="2. L6, B4D. 1. 113883, 2. 689, 2. 1. 1,197 displayName="resul rsInPersistentOrSigni ficantDisability”/>
Cvalue xai’type="BL” nullFlaver="NI"/>
¢ B i, 8,240 Disabling / Incapacitating #6 -2
<fobservationy
</outhoundRelationshin2>
canthoundRelationship? typelode="PERT" >
<abservation classCode="0RS" mood{odes="EVN">
<eode codem” 127 codeSystew="2. 16, 840, 1. 113883, 2. 989, 2. 1. 1,197 displayName="congeni talinomalvliirthDefeet” />
Syatue xsiitype="BLT nuliFlavor="¥I"/>
<l— F i.3. 2 Congenitsl Anomaly / Birth Defect &6 —
{/observation?
<JonthoundRelsationshin??
<outhoundRelationship? typeCode="PERT™
{ohservation classCode="0BS" moodCode="EVN">
Ccode code="26" codeSystem="R. 16, 840, 1. 113883, 3, 980, 2
Cyalue xsiitype="RLY value="true” />
¢ B 13, 210 Other Medically Important Conditien HG -3
{/observation>
<foutboundRelationship2s
<outhoundRe}ationship? typeCode="PERT™>
{ohservation classCodes"0BS” moodCode="EVNT>
<ende code="27" codeSystew="2 L& 840, 1. 113883 3, 089 2.1 1. 19" displayName="cutoome”
Cvalue xsiztypes"CE code="E. 3. 77 codeSystem="2 16 840, 1. TI38E2. L0892 1 1. 1170
¢em E§7! futcome of Reacticn / Bvent af the Time of Last Observatjon #6
<Sobrervation?
<SovtboundRelationship?>
<outboundRelationship? typeCode="PERT >
<ghservation classCode="0BS" moodCode="EVN™>
Coode code="74" cadeSyatem="2. 16, 440, I L1A883. 3,080 2.1 1,197 displayNames "medienlConfirmationByleal thlrof
<value xsiitype="BL” value="{rue” />
Clee Bt 80 Medical Confirmstion by Healthcare Professional #6 -->
{observation?
<SoutboundRelationships?
¢putboundReiationship? typeCode="FERT™>
{observation classCode="0BS” mondCade="EVNT>
Ceade code="11" codeSysten="2. 16 B40. 1. 113883, 3. 980 5 L 3.2 1 107 displayNemes"H:0 - BEan"0
Cvalue xsiitypes"CEY code="J2 1417 codeSystem="2, 16, 840, L 113883 2. 989. 5. 1.3. 2. L.8"
Che- B8612. 141 R BB 6
</ohsarvationy
¢/ontboundReistionshipZ>
</ohservation?
</subjectQf2n
<subtectOT? typelode="SBI"»
Cobservation classCode="0BS" mandlnde="EVN">
<id root="e0342969-38be-4231-bEbb-cel4hc279d8e” >
‘eode code=T249" System="2. 16, 840, 1. YI3RR1. 3. 689, 2. 1. 119" displayName="reaction™ />
<effectiveTime x type=" VL 157>
Cwidth value=s"247 unit="E {687/
e B4 B30 Duration of Resction / Event (numberd #7 --2

o

=

" displayName="ntherMedical iy TmportaniCondition” />

wional "/




Ci—- R 5. 6h: Burstion of Reaciinn / Fvent funit) §7 —>
SeffectiveTime?
<value xsiltype="CE” code="F. 1. 2. 16" codeSystem="2. 16, 840, 1, 133883, 6. 1647 codeSystemVersion="F. 1. 2. 1a">
Zb—— F.i.2.1a: MedDRA Version for Feaction / Event 7 -~
Clee Eoi020300 Reaction / Event (MedDRA cade) %7 ——
CoriginalTest language="F {. L 1b73E. i 1. la</origina}Text?
b [Lil i tat Reaction / Event as Reported by the Frimary Source in Natjve Language #7 --»
<t'—— B i L th: Reaction / Event ss Reported by the Primasry Source Language £7 -7

<Sualue?
<losation tvpefode="LOC"Y
oestedEntity olassCods
UoestedPlace classCode="COUNTRY™ determinerCode=" INSTANCE">
F 44" codeSysten="1. 0. 3166. 52,27/
¢l-— . .8 Hdentification of the Country Where the Reaction 7 Event Occoyred #7 -
CAlocatedP lace>
locatedfarity>
<Anestiond
<outboundRelationship? typelode="PERT™>
<{observation classCode="0BS" mondfode="EVRTY
<eade code="30" codeSysten="2. 16, B40, . T15883. 5. 989, 2. 1. 1. 197 displavName="reactionForTranslation”/>
<value xsittype="BDOE 1.1, 2</value>
<1-- E.1.1.2: Reaction / Event as Reported by the Frimary Source for Trsnslation g7 -3
</observation>
</outhoundRelationship2>
<suthoundBelationship? typelodes"PERT™>
<ohservation clussCode="0BS” moodCode="EVN">
Ceonde codem"377 codeSystens="2. 16, 840, 1 1138833 980, 2 1 1. 187 displayName="terndighlightedivReporter”
<vatue xsiitype="CE” code="F. i, 3. 17 codeSysten="0 16, 840, 1, 113883 3, 989. 2. 1. 1. 107>
G- B3 UiTerm Highlighted by the Reporter #7 -0
<J/observaiionr
</outhoundRelationskip?>
<otboundRelationship? typefode="PERT ">
Cobgervation classCode="0BS” mondCode="EVN™>
<code code="34" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2.1, 1. 18”7 displavName="resultsInDeath™ />
<yalue xsiitype="BL” walue="trpe”
<A-- Eoi3 240 Results in Death #7 >
{/ohservations
<JouthboundBelationship?s
ZoutboundRelationship? tvpeCode="PERT™>
‘abservation classCode="0BS” mocdCode="EVN™>
Ceade vode="21" codeSystem="2. 16. 840. 1. 113853, 3.989. 2. 1. 1. 14" displayName="isLifeThroatening” />
Syalue xsittypes"BL” pulYFlavor="N1"/
Lo B4
</observation?

{eode code=

2 2h Life Threatening 57 -2

<fouthoundRelationship2>
<outhoundRe Lationship? typeCodes"PERT™>
tebservation rlassCode="URS” mosdtnde="EVNT>
<code code="33" codeSystem="2. 16, 840. 1. 113883, 3. 889, 2. 1. 1. 197 displavName="requivesInpatientHaspitalization”
<value xsi:type="BL™ value="true”/>
(e ¥ 1.3 3¢ Caused / Prolonged Hospitalisation #7 -2
</observationy
<SouthoundRelatinnship?>
<outboundRelationship? typeCodes"PERT™>
{observation classCede="0BS" moodCode="EVN">
<eode code="35" codeSystem="2. 16, 8440, 1, 113883, 3, 988, ;
Cvalue xgi:types PL7 nu) YW avar="NI"/ >
<f--— B 1.3 240 Dsabling / Incapacitating 87 —7

3

[
=

displayName="rosultsinPersistenttrSignificantDisability™/ >

</observation>
<SouthoundRefationship?s
CoutboundRelationship? typelodes "PERT™>
{ohgervation classCode="0BS" moodCade="EVN™>
<eode code="12" codelvstem="2. 16, 8B40, 1. 113883, 3. 988
cyalue xsi:type="BL” nullFlavor="NI"/>
A= B 1.3 2¢° Congenital Arcmaly ¢ Biveh Befect 27 —3

o
=

" displayNames congenitalinomalyBirthDelect” />

{fohservation)
<FomthoundRelat ionship2y
<puthoundRelat ionship? ivpeCode="PERT™>
<observation classCodes OBS” moodCode="EVI™>
Ceode code="26" codeSystem="2. 16, B40. 1. LIBRER 3 68%.2,1.1. 19" displayhemes"otherMedica) lvImpartantCondi tion”/
<yalue xsitype="BLT value="true”/>
<t—- E. i.8 2f: Other Medically Important Condition #7 -7
Jfohservationy
</outhoundRelstionship>
<outboundRelationship? typeCode="PERT”>
Cobgervation slussCode="0BS" moodCodes"EVN">



Ceode code="27" codeSystem="2. 16 840, | 113883 3,985 2 1. 1. 19" displayName="cutcome” />
Svalpe xsiitypem CF” cade="E 1. 77 codeSysten="2 1A, B40. 1 113883 2,980, 2.1 1, 117/
— Boi T Duteowe of Reaction / Event at the Time of Last Observation #7 ——3
{fabservatisnd
</outhoundRelationship2>
<owttboundRe lationship? typeCodes"PERT >
Cohservation classCede="08S" mondCode="EVN™>
=72 16, 8400 1. VIERRE. 3,989, 2. 1. 1197 displayiame="medicalConfirmationByHealthProfessional />

<eode code="24" codeSystem
<value xsi:type="BL" value="true”/>
<lom 53 62 Medical Confirmation by Hesitheare Frofessiomal 87 -
</ohservation?
</wutboundRelationship2>
CouthoundRelstionship? typeCode= "PERT >
Cobservation classCode="0BS" moodCode="EVN">
Ceode code="117 codeSystem="2. 16, 840, 1 L138R3, 3,985 5 1,3, 2, 1,107
cualue xei type="CF" code="J2. 14,17 codeSystem="2 16, 840 1. 1138
<l-- 8@e32 y4. i RE - BEED BT —
Clobservation>
foutheundRetationship2?
fobservation>
</sub jectOf2>
CgubjectDf? typeCode="SBY >
<observation classCode="DBS” mondCnde="EVN™:
Zid reot="albbe03E-80T0-426d-af 0468632634430 />
{eode code="28" codeSystem="2 L6 848 1 1138E3. 3 089 2 L 119" display
CeffectiveTime xsiitype="S¥PR_TS™>
Ceomp xsitype="1VL_TS™>
dow values"200801017/
e~ B i 40 Date of Start of Reaction / Event 28 -~
<width value="24" unit="E. i 6b7/>
<1-— B i.6a: Duration of Reaction / Fvent (number) 8 -
e Boi6he Duvation of Reaction ¢ Event {umit) #8 -3
{foompr
{eomp xsiotyvpe="IVL_TS” operator="a">
Thigh value= 201012017/
<t E 1.5 Date of End of Reaction / Event 2§ -3

isplayName="40H1 - BLin" />
CGEG.AR 132187

= “reaction” /Y

A eomp?
Cfeffectivetime>
value xsiltype="CR" code="E. i 2. 16" codeSysten="2. 16, §40. 1, 11388 6. 1637 codeSystenVersion="E i 2. 1a™>
b Boi2. 1ot MedDBEA Version for React 4 Ewent #8 -
b= B0 2,17 Reaction / Event (MedDRA code) #8 -->
CoriginalText Tapgmage="E. 1 L Ih"3E 1 1 ladioriginalText>
<t B i. 1 1a® Reaction / Fvent as Reported by the Primary
Wd==~ E. L 1L Ib: Keaction 7 Event as Reporisd by the Primary Source Language B§ -7
<Svealug
<loeation typeCode="10C">
tocatedEntity classCodes") h
CocatedPlace olassCode=" COUNTRY” determineryCode=" IRSTANCE" >
<ende eode="F. i, 8% codeSysten="1. 0. 2186, 1. 2,27
e B0 Identification of the Country Where the Reaction 7 Fvent Qocurved 88 -3
<MocatedPlace’
{AlonatedEntity)
<Alocationy
<outhoundRelationship? typeCodes"PERT™D
(ohgervation elassCode="0BS" moodCode="EVN">
{eode codes 307 codeSystew="2. 14 8B40, L LI3RRE 26892 1. 1 187 JdisplayName="reactionForTranslation”/ >
<yalue xzsiitype="ED7OE. i1, 2</vslue>
A BoiL 820 Reaction / Bvent as Beported by the Primary Source for Translation #8 -3

Source In Navive Language #8 -~

<fobservation?
</ontboundRelationship2y
<outboundRelationship? typeCode="PERT™>
Conhservation classCoder 085" moodCode="FVN">

Ccode code="37" codeSystem="2. 1€, 840, L. 1138HS. 2 680, 2. 1. 1. 197 displayNemes"ternlighl ightedBvReporier”™ >
{value xsiitype="CE" code="E. 1. 3. 1" codeSvstem="2, 16 840 1 LI3BR2 3 689 2,1 1107
<l-= E i 3. p:Term Highlighted by the Reporter 8 >

¢/ubservatjon»
<fouthoundRelationshipZ)
{outboundRelationship? typaCode="PERT™>
<observation classCodes” DRSY moodCode=s"EVN™»
Coade coden” 347 codeSysten="2. 16, 840, 1, 113851, 3. 884, 2. 1. 1, 19" displayNeme="resulisInleath™ />
Cyalue xsiitype="BL" value="true" />
b B i3 Zac Besults in Desth 88 -3
/observation?
< /outboundRelationship?>
Couthoundielationship? typeCode="PERT >




{ahgervation classCodes"0BS” woadCode="EVN">
Ceade code="21" codeSystew="2. 16, 840, }, 113883, 3. 989, 2. 1. 119”7 displayName="isLifeThrestening”/>
<value xgiftype="BL" nullFlavor="N1"/>
b B3, 2h: Life Threatening #8 -
{obrervationd
<AouthoundRelationship2>
ZputhoundRelationship? tvpeCodes"FERT >
Cobservation classCode="0BS" moodCode="EVi™>
Ccode code="33"7 codeSystem="2. 16 840, F 113883, 3 9K9. 2 1. 1. 197 displayName="requiresinpatientBospitalization™/
<value xsitype="BL" value="true"/>
«l-- H.i3. 200 Caused / Prolonged Hospitalisation HE
</fobservationy
</onthoundielationship2’
‘outboundRelationship? iypeCode="FERT™
{observation classCode="0BS” moodCode EVNT>
Cepde code="36" codeSystem="2 16 840, 1 F{3882 2 9882 1. 1 16" displayNames"resultsInPersistentOrSignificantDisability”/>
Cvalue xsfitype™ BLY nul iFlavor="N{"/>
Hos BOi% 2d: Disabling /4 lncapacitating #8 -2
Sobservation?
<foutboundRelationshipdy
¢outhoundRelationship? typeCodes"PERT™>
lohservation olassCodes (8BS mondCodes "EVNT:
<pode code="12" codeSystem= % 16 840, 1, 138RD. 2 985 2 1 1197 displayName="congenitalinomalyBirthDefect” />
<value xsiltype="BLT nullFlaver="N]"/%

o= F. i3 2el Congenital Anocmaly / Birth Befect B8 -3
<Sobservation?
“/outboundRelationshiply
<(putboundRelationship? typeCodes"PERT >
{observation classCode="0B8" mocdCode="EVN">
Cende code="26" codeSystens". V6. 8400 1, TI38RI. 3989, 2. 1. 1. 167 displaydame="otherMedicailvimportantCondition” />

<yaiue xsiltype="BL” value="true”/>
Chem EBOfL302F0 Other Medically lmporiani Conditjion 88 -
“/observationy
</outboundRelationship2>
<outhoundRelationship? {ypeCode="PERT™S
<observation classCode="DBS” moodCode="EVNT>
¢pade code="37" codeSystens"2 16 8401, LIZRRE. 3. 989, ¢ 1. 1. 197 displayNames"cutcome” />
ews . VAL RS0L L 1EABRT 3084 2.1 1 0170
<l Bo§.7: Dutcome of Reactfon / Event at the Time of Last Observalion H&8 -—»
</ohservationy
<fouthoundRelationshipZs
<anthoundRelationship? typeCodes"FERT™
{ohservation classCode="0BS" wondCode="EVN">
<eode code="%24" codeSystem="2. 16, 8400 1. L13883. 3 989, 2. 1. 1. 197 displavName="wedicalConfirmationByHeatl thProfessional” />
“value xsitype="BLY value="true"/
o BB Medical Confivmation by Healtheave Prafessicnal 58 -3
<fobservation?

<value xsiitvpes C0R" code="E. 1. 77 codeS

aptboundRelationshipd>
ZouthoundRelationship? typeCoder"PERT™>
Cohservation classCode="DBS" maodCode="EVN":
dende codes 117 codeSysten="2. 16 540, 1. V138K 3
cpde="12.1
Aok - A 5B -

GBY. 5. 13,2, 1107 displavNames” #:50 - BRI/
2 16 R48 1 LI2883 4 689, 5. 1.3, 2. 1L 875

Svrlue xsiitype= " eodeSystems

<o @REYZ, T4,

</observation?

LSouthoundRelationship2>
{fobservation?
<Srub jeet(f2>
<suhjectGl? typeCode="SBI">
{organizer ol nde="CATEGORY ™ moadCnde="EVN™>
27 codeSystem= 2, 16, B40. 1 118883, 3, 88% 2. 1 L 207 displavMame="testsAndProceduresReltevantToThelnvestigation™ />
Ceomponent. TypeCode="COMP7 >
<{ohservation classCode="0B8" moodCode="EVN ™
Ceode code="F.y. 2. 20" codeSystem="2. 16, 840, 1 F13883 8 163”7 codeSystemVersinn="F r 2. 2»">
lem Foro 2 220 MedDREA Version for Test Name 57 —>
= For 2.2b0 Test Name {(MedDRA code) 81 -3
<originalText>F. r. 2 1/ originalText>
b= For. 2.8 Test Name {free text) #1 -2
<feader
CeffectiveTime value="200801017/>
Cle Foro ) Test Date #1 -—2
<yalue xsiitype="IVE PQ7>
Ceonter value="18" unit="me 4L
<= For.3.2: Test Result (value / qualifier) #
<t By 3,80 Test Result funitd #1 -
<vamlued

<{ende codew

- 40 -



{interpretationCode code="F. r 3. 1" codeSysten="2. 16, 840, 1. 113883, 3.98%. 2. 1. 1. 127>
CBom For 3010 Test Result (code) 81 -2

<referenceRange typeCode="REFV™>

" wondCade="EVN. CRT™>

T oumit="my 4T

dobservationfange ¢lassfod
<yalue ssiitype="PR" valu
cles oy 40 Normal Lew Value 81 -
CinterpretationCode codes™|” codebvstens 2, 18, 840, [ 113883, 5. 857

SohservationRangey
<freferencelanged

<referenceRange typeCodes"REFV™>
SobservationRange clagsCode"0BS” mosdCode="EVN CRT">
Cvalue xsiitypes PRT values 1107 unit="me/dl /0

<l-- F r B0 Normal High Vaiwe -

CipterpretationCade code= H" codeSvsten="2. 16 8401 TI38R3. 6 B/
<j/observationRange?

<referenceRange>

contboundRelationghipg typeCode="FERT >

ade"ORS" moodtades "EVHT>

crdeSvslens"2, 16, 840, 1. 11388

RS value >

‘ohservation of

{eoade code="10
w1 type="EDT R
Lommenis (Free rextl 23

3484, 2.1 1. 197 displayNeme="comnent” />

{fobservation?
CSonthoundRelatianship?s

CeuthoundBelationship? tvpelCode="REFE™>
2= "ORST moodCodes "BV )
" nodeSistemsT2 16 8401 TEA883. 3 984, 2 1 L 197 displavNames"morelnformatiendvsilable™ />

Tobservation of
e
ypes BLY vabues"true"0

<eode code

D More Informsticn Availshls 23 ’
Jjobgervaticn?
ClouthoundRelatinnship? >
{lobgervation?

< eowponent s
Ceamponent typeCade="COMP" >
des 088" moodCodes "EVNT -
2 Ob codeS A1 TLIRED B, 163" codeSystemVersion®
a’ HedDRA Vers Name F2 -
1 Name HedDRA code) 82 -3
2o ariging i Textd
Name {free text) 2 -5

{whservation cla

o 2. vy

SECE N
A= F.or. 226 Te

iginal Text>F
L2010 Tes

<Heode
<effectiveTime values"200801017/5
che= F r }: fest Bate H2 - M
Cvalue xsittypes” IVL Q7>
Jow nublFlavor="NINF" />
chigh values"10" wnit="mg/ /41" inclusives"{alse” />
<{Avealued
ol By, 320 Test Result {value / guaiifier) #2 -
<l Fop 3030 Test Result (unit) g2 -
lom VT 10 mg/dl #2 o>

{Sobservation?

< Scomponent?
Ceomponsnt typeCodes” COMPT>
ation classCode="0BS" mondCode="EVN">
<eade code="F. 1. 2,207 codeSystem="2. 16, 8400 E 13882 6. 1637 codeSystenVersion="F r 2. 247>
e Fop 2 280 MedDRA Version for Test Name $3 -0
<de- For 2,200 Test Newme (MedDRA codae
<original Text>F. r. 2. V0 ariginalText)
Clew P 2000 Test Name (free text) #3 -
eade>
<effectiveTime values"200901017/>
fe- For 1t Test Date 83 >
Cyalue wsictype=" IVL_PO™
<low nuliFlavor="NINF~ >
Chigh value="10" vpit="ne/d]" inclusive="true” />

Jobse

ivaluey
<l-- For 3020 Test Besult (value / gualifier) 3 -3
Ches For 3030 Tost Result (unit) 83 -
<i-- LE 30 mgfd]l B3>
</observation>
<feomponeniy
Ceomponent typeCodes"COMP™ >
Zabservation ¢lassCade="0BS" moodCodes"EYN">
<ende code= 2087 cadeSystem="2. 16, 840, 1 113889, 6, 1627 codeSystemVersion="F. r. 2. 22>
e Bop 2 %a0 WedDRA Version for Test Name £4 --D
<I-= F.r. 2.2b: Test Nome {MedURA code) #4 -




CoriginallTextdF.r. 2. 1</original Texty
Chew For 210 Test Name (free text} #4 >
¢Seode)
CeffeetiveTine value="200901017 7%
<t F oy 11 Test Date #4 -3
<yvalue xsi:type="IVL_PQ">
ow values 107 apit="mg/dl” inclusive="false” />
Chigh nullRlavor="PINE">

<Ava

1=~ F or.3.2: Test Result (value / cualifier) £4 - >
Clee For 3030 Test Result {unit) #4 >

<P GT 10 mgsdl B4 -0

{Aobservation
<{Acolponent
feompenent tipeCade= COMP™>
{ohservation classCode="0BS" mondCodes”FVH™>
<code code="F. v, 2. 2h7 codeSystem="2 16840, 1. L1383, 6. 163" codeSystemVersion="F. r. 2, 2a">
e Forl 2,260 MedDRA Version for Test Name #5 -2
e For 2.2k Test Hame (MedDRA code) #B -3
LortginalText>F v 3 1/ nriginalText?
Ao Foy, 2010 Test Nawe (free text) #5 -0
‘eode
ctiveTime valuew 200801617/>
- For 1t Test Date #5 —5
Zyalue xsiitype=" IVL_PQ7>
Clow value="10" wnit="mg/d]” inclugive="trus”/>
<high nul Hlavor="PINF"/>
<Svalues
low Fop %20 Test Resuli {value / qualitier) #§ -~
CH=- Foy 8030 Test Result {unit) #5
ot GE L0 mgldl BE -2
<ebservation>

</component
Ceomponent. typeCodes"COMP™
<observation classCodes"0BS™ moodCode="EVN™>
{ende code="F.r. 228" codeSystems” 2 16, 840, 1. 113883, 6, 163" codeSystemVersion="F. r. 2 227>
- For. 2 %23 MedDRA Version for Test Name 56 -

o4 Por 2026 Test Mame (ModDRA coded 86 -2

<originalfext>F r 2 i originalText>
A== F.r 2.1 Test Name (free text) #5 —>
<feode
<effectiveTime value="200081017/>
Ao Py 1t Test Date #8 -
Cyalue xsiltype="ED7OF. v 3 4d/valued
<t—— Foy 240 Result Unstructured Data (free text) 86 -——>
“/observation

< /component?
{larganizer>
<Jsub jectOf
CgubjectDFZ tvpeCode="5R1"Y
Code=" CATEGORY” moodCnde="EVN">
47 codeSystems"2. 16, 840, 1. 113883, 3. 986, 2. 1. 1. 207 displayName="druginformation” />

4 >

<orgapizer cl

<eode code=

<t Gk Drugls) Information {repeal as necessary)
eomponent typeCode="CONP™)
Isubstanceddministration cla
<id root="3cHlhdds
{gonsumable 1ypeCode
Cinstance®fKind classCode="INST
<k indGHFProduc sCades"VMAT" determinerCodes"KIND">
Ceode code="6. % 2. 117 codeSystems TRD-MPTD™ codeSvstenVersion="G. k. 2. 1. 1a"/>
<TGk, 2.1, 1a: MPID Version Dave / Numher #1 -
= Goko201 1b: Medicinal Product Ddentifier (MPID) B -—
<name i, k. 2. 24 name>
== G k. 2. 20 Medicinal Product Name as Reporied by the Primary Source #1 —>
sManifacturedProdoct classCodo="HANL >
<subjectOf typeCode="SBI":
¢aporoval elzssCode="CNTRCT” moodCode="E¥N">
Zid extension="G.k. 3. 17 rooi="2 16 B40. 1, 113883 3,989.2.1.3. 470
<1-- G k. 3 1 Authorisation / Applicatien Number Bf ——>
Cauthor typeCode="ALT™>
<territerialAiuthority classCodes"TERER™>
Zterritory classhede="NAT determinerCode=" INSTANCE™>
eode code="6. k. 3. 27 codeSystem="1. 0 3168, 1. 2. 27/
-- G ko320 Country of Authorisation / Application #1 -7
{territory?

ATMT moodCode="EVN">
C3-ETEY {nlef9ed” />

- a5 -



territoriatiuthorizy>
<fauthory
<periinentiinformation tvpeCode="PERT">
policy classCode="POLICY" moodCode="EVN">
ende code="J2 5 k" codeSystem="2 16.840. 1. 112883.3.989.3. 1.3 2. L. 4"
e GRBJZG % -HHEEEFOY A LT H) -
<policys
<pertinentInformationd

<Sapproval’
<Ssubject0f >
<subjectdf typeCodes"SBI 7>
iCode="0BS" mondCade="EVN™>
Stom="2. 16840, 1. 113883 3. 589, { - : B4 IR A3
<yaloe xei type="CE" cede="J2 4. k" codeSystoen=s
Tl fed)E 4R B SRR E Ay #1 -
CSoharseteyistiod
<Swub joctOf
¢/ asMantfacturedProduct >
CasSpecializedling classtodes"GENTY
<generzlizeddateriallind classCode="MATY determinerCode="KIND"™>
Coode?
Lorigins]Text> 2 124/ ariginalTeyt>
CfeeogyRoz HEERSEE
Cfended
CApeneralizedMaterialind

<charaeteristic cla
<ende cade="1" codeSy

<FusSpecializediind>
AT

<inpredient olassG
CgtsnLiLy’
ar value="107 unit="G. k 2. 3. r 3h"/
2.3 r. 3al Strength (rumber) #1-1 -
b Strength mity #1-] —>
Cdeneminator valuwe="1"/%

Clguantitvy

dipgredientSubstance classCode="MMAT" determinerCode="KIND™>
Ceade rode="G k. 2.5 v 2bY codeSystews  TBI-Substance” codeSvstemVersion="6. k. 2. 3. ¢
<o Gk 2%y Za Substance S Specified Suhstance Termld Version Date / Mugher Bi-] =3
- 6.k 23y, 8h: Substance ! Specified Substsnce TerniD #i-1 -->
Cname s ko205 £ B name’

Tiee Gk 2030 x 10 Substance / Specified Substance Name H1-1 —2

2t

LentSubstance:
<Singredient>
Cingredient classCode="ACTT >
Lgurantitys
<numeyator values

0T unit="6 k203 1 3T
-Gk Strength {number} 33-2 >
CHew 6ok 203y 3b: Strength {unit) E1-2 -2
<denominator value="17/7

Crpantityd

“ingredientSubstance classCode="MMATY deserminerCode="KiND">»
{oode code="G k. 2.5 r. 2b7 codeSystem="TEBISubstance” codeSysteon¥ersion="G. k. 2.3 1. 22"/
e Gk 2030r. 2at Substance / Specified Substance Termil Version Date / Numsber £1-7 -3
e Gk 20301 2k Substanee [ Specified Substasnce TerwiD #1-2 - >
Snamerb ko203 r P name>
Kl Gk 203 v 17 Substapce / Specified Swbstance Hame §1-2

CAingredientSubstanced
<ingredient
CRind0fProduct >
CsubjectOf typeCode="SBY">
<praduciBrent classCode="ACT" moodCode="FVN">
<ende code="1" codeSystem="2. 16, 840. L. 113883, 3, 989, 2, 1. 1. 14" displayName="retailSupply™/>
“performer tyvpefode="PRF™>
CansignedBntity olassCode="ASSIGNER" >
<{representedOrganization classCede="0RG” determinerCode="
Caddr>
{eonntryiG k, 2, 4 country>
Gk 2 47 Tdentification of the Country Where the Drug ¥as Obtained §1 -3
<rnddrs
{/representedirganizationd
{assignedEntitys

ISTANCE™>

</periormer>
<AproductBEvent?
<SsubjectOfy
Csubjectdf typeCode="SRI™>
<ohservationfvent clazsCade="DBS” woodCode="EVN™
<eods ende="2" codeSystem="2. 16 840 1, FI3BA5. 3 989, 5. 1. 3.2, 1. 107 displayNames"— S FBERER O ACPER™
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Cvalue wsiitypes"CE" code="J2. 6. k" codeSystow="0 16, B40. 1 113883, 3,986 5 1.3.2 1 67/
- BERY2.6. Kk - RERLO SRR 1
</observationfvents
</sub jectDf>
Finstance0fKind>

CSronsumabled

¢outhoundBelationshipl ivpeCode="3A37>
Jpavseluant ity values"107 unir="G k. 9. 0. 3 77>
Gk % 5.3 lar Time Interval between Beginning of Prug Administrztion and Start of Reaction / Event (number) Drug #i,

Reaction #1 -->
A G k% i3 b0 Time Intevval between Heginning of Drug Administration and Start of Reaction / Event (mit) Drug 51

i3

Reaction &
ZantBeference ¢lassCode="0BS" moodCode="EVN™>
" 154epBEG-OEEL-45 T R-al f- 40 BT A6RTFT D
“factReference
SauthoundRelationshint>

“id roo

CoutboundRelationshint fvpefode="SAE >
cpauseQuantity values"107 anit="6.k 9.1, 3. 20"
ot Gk B i3 %a Time Interval between Last Dose of Drug and Start of Heaction 7 Fvent {mumber) BDrug £1, Reaction #1 -

-~ 6 k.5 5.3 280 Time Interval between Last Dose of Drup and Start of Reaction / Event {unit} Drug &1, Reaction 51 —3
“setReference olassCode="NES” mocdCode="EVYN™>

T 164ebBRG- 00845 -a00 F 47 d4dBTA6ETEY >

CiactReferencey

id roo

CSonvhoundRelationshinly
<outhoundRelationshipl typeCode="SAS5">
Cpafsefuantity values 107 unit="6 k. 9 i 2 1b75
e Goko901. 8 1al Time Ynterva) hetween Beginning of Drug Administration and Siart of Reaction / Event (number) Drug 51,
Reaction §2 -=>
e Gok9 3.3 1b: Time Interval between Beginning of Drug Adwinistration and Start of Reaction / Bvent (mit)  Brug #1,
Reavtion H2 -->
ZactRelerence oiassCodes"0BS" movdCode="EVN">
Cid root="Zhan28d6-c9el-defo-Yiel-ShB60DI 142207
JaviReferences

<SonthoundBetationshinl >
<outhonndRelationship! typetode="SAE™>»
CpanseQuant ity values" 107 unit="6 k. 0 1 3 2677
L4l Gohow i3 250 Time Interval hetween Last Dose of Drug and Start of Reaction / Event (mumber) Brug #1. Rezction 22 -~
S Gk 9033 2h: Time laterval between Last Dose of Drug and Start of Reacrion / Bvent {unit} Drug £1, Reaction #2 -3
<actReference «lassCodes"0BS” moodCode="EVN">
Cid root="Zhas2Rdé-cYeR-dobn-03e9 FhEAOLIT42207 ¢
FaciReference>
</oautheundRelaiiobghipl>
<otthoundRelationshipl typeCode="545">
Cpanssthantity vatue="10" wits="G k. 9. 1.3, 167>
<hoe Gobka 813 1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (numher} Drug #1,

Beaction 83 -
i3 1B Time interval between Beginning of Drug Administration and Start of Reaction / Event (unit) bBrug #i,

Reaction §3 -3
rence o lassCodes”0BS” moodCode="EVN™>
46260b-4F 1h—4eal-Badt-e0f 1344300 dE ">

“iactReferenced

ZactRefe

Cid ro

<owtboundRelationshipt
conthoundfie lationshipl typeCode="SAE">
Ipavseluentity vatue="10" unit="G. k 9 i. 3. 22"/
Sl Gl 8.4.8 2a0 Time Interval between Last flose of PBrug and Svart of Reaction / Evest (number) Drug #1, Heaction #3 ——

e Gk 9 1.3 280 Time Interval between Last Dase of Urug and Start of Reaction / Event (umif) Drug 81, Reaction 83 >
¢ rlassCode="0R8" mocdCode="EVN™>
3a8626ch-811b-4eal-Ba0i-o0FF35430ad17>
<SactRelerence?
< foutboundRelationshipt>
CouthoundReiationshin! typelode="SA8 >
fpauseliuantity value=" 107 unit="G. k. 9.1, 3, b0
e Gk, 9 1. 3. 180 Time Interva) between Beginning of Drug Administration snd Start of Reaction / Event fnumber) Drug #1,

caetRefer

<id roo

Repetion #4 -->
e Gk 5 103 0 Time Interval between Beginning of Drug Administraiion and Start of Reactien / Event {unit} Drug #1,
Reaction 24 -3
dactReference c¢lassCode="0BS” moodCode="E¥N™>
<id root="20098407-08b4- 4800801 T dd84] 514 ERaR T/
ifactieference’
< fowthopndRelationshipl>
<outheundRelatiosnship] typeCode="SAE™>
fpansefBantity value="10" wnit="0 k. 9. 1. 3. 287/



b G0k 3 220 Time Interval between Last Dose of

- 6ok 9 4. 3.2h0 Time Interval between Last Dose of
<actReference ¢lassCode="0BS” mocdlode="EVN™>
“id root="2ed9840f-08h4- 49080 - ddB41 5F4E8ab" >
<SavtiteTerence?
<Southoundielationshipd>
CouthoundRelationshipl
<pausefiantlity value="1687 unit=

SASTY
Gok 953170

typelodes

Shee i %9 i3 1 Time Interval between Beginning of
Reaction 26 3

Sl Gk G i3 bt Time Vnterval between Beginning of
Feactjon 85

CactReference classCode="0BS" moodCode="EYN™>
cid rootz" 10710040 £ 10-4a3b-Blc 1 -34F0ddbTeabd” />
{aetkeference?
</outhoundRelationshipt?
CeutboundBelationshipl typeCode="SAE™>
CoauseQuantity value="10" unit="G. k. % i. 3. 287/
e Gk 9083 280 Time Interval between Last Dose of

Gol9 13 2bt Time Interval between Last Dase of
ZactReference olassCode="0BS” mondCode="EYN™>

<id root="107i06dc—cfI0-4a3b-83c]-34F9ddhTeatd”
dlaetReference)

CoutboundRe lationshipi>
<outhoundielationshipl typeCode="8A%")
Cpauseluant ity value="107 unit="0. k. 9. i 3 18"/
e Gk 8503 1t Time Interval between Beginning of
Reaction #5 -7
Clee Gk 0033 1k Time Interval between Beginning of
Hewction #6 —->
ZavtReference ¢lassCode="0B8" moodCode="E¥N">
Cid root="HEY2T RS- 100hE-4334-0d43 8 20640Fb18ET >
dfactReference?

<AouthoundRelationshiply
<outheundBelationshipl typeCode="SAE™>
cpatseflpant 1ty ealue="10" wit="0. k. 9. 1. 3. 26"/
Sl Gk 8 1. % 200 Time Interval between Last Dose of

o

<l 5% G053, 20 Time interval betwesn Last flose of
<actBeference £isssCode="0BS" mocdCode="EVN™>
$id root="1f927283-10b6-4334-9043 20256400 R IR />
</mctReference?
< /nuthoundlelationshipl >

<outhoundRelationshipl typefede="8AS">

CppuseQuantity value="107 upit="6 k9. 1.3 W7/

a4 Gk #9413 1a Time Interval bevween Beginning of
Reaction 87 2

Sl k.9 1.3 1b: Time interval between Beginning of
Resnticn 57 % .

CactReference classCode="0B%" mondCode="EVN™>
Cid rocts"e0342969-38be- 423 -hEbh-ce 14be 2 TR >
< tReference’

<AoutboundRelationshipil

<outboundRelationship! typeCode="SAE™>
value="107 unit="G. k. 9 i, 3. 2b"/>
25 Time Interval between Lasi llose of

‘pauselduantity
e k0042
b Gk 1.3 2h: Time Interval between last Dose of
“petReference classCodes"0HS™ moodCode="EVN">
Cid roor="e0342060- 38he-4237-bbbb-co Lo 278487/
actReference>
¢SouthoundRelntiomshiply
CouthonndReiationshipl typeCodes"5458">

CpatseQuant Tty value="10" unit="C. k. 9. i. 3 1L"/>

G- 6ok 90303 1al Time Interval between Beginning of

Reactinn 48 -3

~ 5.k.8.1.3. 160 Time Interval between Beginning of
Eeaction 38 -
sartReference classfode=" 0RS" moodCode="EVN">
<id roct="alfbelI-R070-426d-a 04-F862263443007 >
<factReferenced
<iouthoundRelationshipl>
Couthoundielationshinl typeCode="SAE™>

-85 -

Prug

Britg

Drug

lirug

frrug

Drug

Drug

Brug

Brug

Dyag

Brig

Dy

Drug

Drug

Brig

fhrug

and $tart of Reaction / Event (number) Drug #1, Reaction B4 -

apd Start of Resction / Bvent {unit} Drug #£1. Reaetion #4

Administration and Start of Reaction / Bvent (number) Brug R,

Administration and Start of Reaction / Event (unit) DBrug 21,

and Start of Reaction S Event (mmber) Drup #I. Resction #5 -

and Start of Reaction / Bvent {unit] Drug 51, Reaction 35 -0

Administration snd Start of Resctiopn / fvent (suwpbher) Drog #1,

Administration and Start of Reaction / Fvent (unit) Drug #31,

and Start of Resction / Fvent {pumher) Drug #1 Resction #8 --

and Start of Kesction / Event {mit) Drug 21, Keaction HE 3
Administration and Stavt of Reaction / Event {number} Drug #I,
Administration and Start of Rescrion / Bvent lunit}  Drug 21,

and Siart of Reaction / Event (number)

Drug #1, Resclion &7

and Start of Reaction / Event (mmit) [Prug 21 Reaciion 87 —2

Adwinistration and Start of Reaction / Event (number) Drug Z1,

Administration and Start of Beaction / Event {unit) Druog £1,



CppuseQuantity value="10" wit="6.k 9. L. 3. 2"/
G— G6.k.5 i3 2a Time Interval between Last Dose of Brug and Start of Reaction / Event (aumher} Drug 81, Reaction H8 --

b 6 k.9 1.3 2b Time Intervel between Last Dose of Drug and Start of Reaction 7 Bvent {unit) Brog %1, Reaction #8 —»
<actBeference classCode="0BS" moodCode="EVN™
Cid root="albbedbl-80T0-426d-2f64-6863263443e07 />
</actReference>
outboundRelationshipl>
enthoundRelatinnship? typeCade="PERT>
Zobservation classCode="0BS" mouodCode="EVN">
Ceode codes 87 codeSysiern="2 16 R40. 1 PI2R8S. 3 GRY 2.1 1. 397 displavMame="hlinded” >
Cualue xsiltype="BLY value="true" />
<T— 6.k 2.5 Investigational Product Blinded 51 -->
diobservation?
</ontboundRelationship?>
CouthoundRelat ionship? typeCodes" COMP™>
cl—— . k.4 r: Dosage and Relevant Information (repeat as necessary) Hi-l
Csubstanceddministration classCode="SEAIN" moodCode="EVN">
lextrG ko 4 v B texty
Y= G k. 4. 1. 8 Dosage Text i) -~—>
<effectivelime xsi:type="SXPE_TS™>
Ceomp Xsibype="PIVL_TS">
<period value="307 unit="G. k. 4.r. 3770
<1-- G k. 4. r. 20 Nupber of Units in the Interval #i1-1 —3
<l Gk 4oy 30 Definition of the Time Interval Unit E1-1 -3
< eomnr
<eomp wstirvpes"IVL_TS” operstor="4">
<low value="200801017/
<t-— 6.k 4. r. 40 Date and Time of Start of Drug #3-1 -->
<high value="20080101"7/>
G k. 4 r 5 Date and Tiee of Last Administration £1-1 -7

-y

S eomp
<eomp xsiitypes”I¥L. TS aperator="A">
<width value="4" wnit="G. k. 4, r 6b7/>
-k 4 r Ba Ouration of Brug Adsinistration (number) £1-1 - >
- G. k. 4. 7. 6b: Duration of Drug Administration (unit) #1-§ - >

<A oompy
GeffectiveTine’
Croutelode code="G k. 4 r. 10, 28" codeSystenm="2, 16, 840 1 TI38B3. 3. 988 2. 1. 1. 147 zodeSystemVersion="G. k. 4. r. 16 227>
< G.ok.4. 1. 10 Za® Route of Adeinistration TermID Version late / Muher #i-1 -
Gk 4 r 30 2b7 Route of Administration TermID #i-1 ¥
CartgipalText>G ko 4 r 10 $ariginalText>
Ch—— Gk 4or 10,10 Ronte of Adpinistration (free text) Hi-} -
<rovteCoder
CdoseQuant ity value="10" unit="G k 4 v ib"4>
<l G k.4t la Dose (number} £1-1 -
oo Goko4or, Ib Bose (umit) #1-1 ——>
<consumshle typeCad SHT>
CinsteneeOfKind classCode=” INST™>
<productinstascelnstance olassCode="MMAT" determinerCodes” [NSTANCE™>
CEotMumberText>6. k. 4. r. 74/ fothunber Tox >
Chew Gk 4 r, 70 Bateh / Lot Nuwher 81-1 -
<Sproductinstancelnstance”
<hindOfProduct olassCode="MMAT™ determinerCade~"{{ND"
FormCode code="G k4.1, 9 2b7 codeSyston="TBD-DoseFaorn” codeSvstemVersion="0 k 4 r 9 2a">
<l Gk 4 v, 8 2a° Phormaceutical Dose Parm TermIE Version Date / Number 23-1 —3
<t-— G k. 4. 1.9 20 Pharmaceutical Dose Form Ternld §i-1 -2
{originalTeatdG k. 4 r. 3 Y originalText>
Cie- Gk 4 v 8. Pharmaceutical Dose Form (free vext) E1-1 -3
< rornCode>
<indOfProduct>
instance0fiind
<feonsumable?
CinboundRelationship typeCade="RERR™>
Cabservation classCode="0BS” moodCode="EVN">
Ceode code="28" codeSvaten="2. 16, B40. 1. FI38K3. 3 089 2 11187 displayName=" parentRouteOffdminietration” />
Cwalye sxiltypes CF7 code="G b 4 v 11 207 codeSvstem="2. 16, 840, 1, 1I3R83. 3 988, 2.1 1 147 codeSvstenVeorsion="6 k 4 r.

~

= 6.k 4 r. 3L Za: Parent Route of Administration TermlD Version Bate / Number Ei-1 -- >
e Gk 4. 7. 11.2b° Parent Route of Administration TermIh #1-1 -0
<originalText G k. 4 r. 11 1< originalText>
<l Gk 4 v 11 1: Parent Reute of Administration (free text) Zi-1 -5
{Avaluer
</observation?
</inhaundRelationship>
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</sithstanceAdninistration?
<SovtbonndRelationship?>
<eutheundielationship? typeCode="COMP">
<l— 6. k. 4. r: Dosage and Relevant Ibformation {repeat as mecessaryi §1-2 --3>
Cstbstancehdministratios classCode="SBAIM" mondCode="EVN™>
<texrrl ko 4. r B tentd
<I— G k. 4.r. 8 Dosage Text #1-2
<effectiveTime xgiitvpes SEFR_TS™
Coomp xsiitypes"PIVE_TS™
period value="107 unit="6. k. 4. r 3770
Tee Uk 4 r. 20 Nowber of Brits in the Interval £1-1 -0
<l ko 4or 30 Befinition of the Time Interval tnit %1~
oomp?

_—
N
3

(comp xsiltype="IVL_TS" operator="s"
<low values"200901817/>
“d-— 6 k.4 r. 40 Date and Time of Start of Drog #1-2 -->
<high value="200801017/>
== G k.4 r. 5. Date and Time of Last Adminisiration &
Cleampd
AeffectiveTimer
routeCode code="6. %k 4.1, 16 287 codeSysten="7, 16,840, 1.1 5% 686 201117 ew
St Gokodor, 10 230 Route of Administration Termid Version Bate / Sumber 21-
b G k. 4. 1. 10, 2b: Route of Administirations TermfB Hi-2 >
{originalText>G k. 4y 10 14 ariginalTent>
Clem b 4o v 10020 Roate of Administration (free text) #1-2
<SrouteCodes
<dosefuantity value="107 unit="6k 4. r 1b" "
<l G k.41 1a Dose (number) #1-2 -3
A G koA v Iy Dose (unit) #1-2 -
<consumable typeCode="CSM™>
CinstanceOFKind olassCode=" INST”>
(praductInstanceinstance olassCode="MMAT” determinerCodes” TNSTANCE™>
<lotHumberText G, o 4. 1. 7¢/ IntNupherText?
<d-- Gk 4, v. 7! Bateh [/ Lot Nuwber #1-2 -3
</productinstancelnstance
<kind0fProduct classCode="MAT™ determinerCodes"KIND™>
formCode code="G. k. 4. v. 9. 2b7 codeSystew " TBD-DoseForn” cedeSystenVersions="6.
A=k 4 v § % Pharmaceutice! Dose Porm Termll Version Bate / Number 51-%
b Gk o4 v 825 Pharmsceutical Dose Form TermiD BEi-2 o2
originalText>G k. 4.7, 8 1< /originaiTexty
oo ko4 r ) Pharpaceutical Dose Farm free text) #1-2 -2
</FormCode >
<RindOfProducty
</instance(finds
<feonsumabler
<inboundRelationship typeCodex "REFR™>
<{observation classCode="0BS" moodCode="EYN">
Ceade code= 28" codeSysten="2. 16, 8B40, 1. LIIREE. 3. 089, 2.1, 1. 197 displavName="parentReuteQfAdministration” />
cealue nsiitypes"CE” coda="G. k. 4o r. 11 267 codeSystew="2 16, 840, 1 TLIBKED 2 689 2. 1 1 147 eodeSystenVersions"6 k 4. r.

T
’

temVersion="G ko 4. r. 10, 227>

14 247>
<Ie— 6ok 4. v 11 23 Parent Route af Administration TermlD Version Bate S Number 12 -->
<lee G k.4 r.11.Zh: Parent Route of Administration Termlld §i-2 —->
<originalTextst k. 4 v, 1) i< originalTexts
Clew Gk 4 r 1110 Parent Route of Administration (free text) HI-2 -
<lvalued
C/ohservation?
<inboundBelationship>
</substanceddministration
<SouthoundRelationship??
<puthoundRelationship? tvpeCode="COMP™ >
<t-— G. k. 4 1° Dosage and Relevant Information (repest ax necessary) 2i-3 -- >
<substanceAdministration classCode="SBAIMY mosdCode="EVN">
<textihoko 4 or BO textl
<I-- G k.4 r. 8 Dosage Text #i-3 ~>
<effectiveTime xsi:type="SXPR_TS™>
Coomp xsiotype= PIVE_TS:
<{period valve="10" unit="G. k. 4. r 3"
— Gk 41 Number of {nits in the Interval 51-3 -
e Goko4r, 30 Definition of the Time Interval Unit #1273 -3
<oompr

Cenmp xsiotypes"IVE_TST operator="A">
{Jow value="20080101"
<l-- G ok 4. r. 40 Date and Time of Start of Drug #1-3 -7
<width value="4" unit="G. k. 4. r. 6b"/>
== fu ko4 r B2 Duratien of Brug Administration {nemher) #1-3 -3
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<= G. k.4 r. 6b: Duration of Drug Administration (unit) §1-3 -->
<fromp?
effeptiveTimey
CrouteCnde code= G k. 4. 1. 10, 20" codeSystem="2. 16 8B40, 1. V13883, 3,989, &, 1. 1. 147 codeSystenVersion="G. k. 4. r. 10, 257>
CHo— Gk 4, v 10 280 Route of Administration TermlD Version Oate / Nomber #i-3 ~->
¢l-- G k.4 r.10.2b: Route of Administration TermlD #1-3 -—>
CoriginalText»G. k. 4. r. 10 1 /originalText>
- G k.4 r.10.1: Route of Administration (Free text) B1-3 -0
<Srouvtefode?
(dosefuantity value="10" unit="G. k. 4.1.1p" 5>
<1-- 6. k. 4.7, la Dose (nusher) Hi-3
<= Gk 4 v Lbt Dose {unit) #1-3
<eonsumable typeCodes"CSH">
<instanceOfiind classCodes"INST >
(productIpstanceinstance olassCade="MUAT" determinerCode=" INSTANCE” >
<lotNumberText>6 k. 4. r. 7¢/ 1o thumber Text >
I Gk 4.r. 7 Batch / Lot Number #1-3 -~
¢/productinstancelpstance
Ckind0fProduct classCode="MMAT" deteyminerCode="KIND">
<formCode code="G. k.4.r.9. 28" cedeSystens TRO-Dozeforn” codelSvstemVersion="6. k. 4. v . & 2"
- Gl 4, r. 9 23! Pharmsceutical Dose Form TermlD Version bHate / Numher BI-3 —
b Gk 4. v 89 2b Pharmaceuticz! Dose Form TermlD §1-3 >
{originalTextG. k. 4. r. 9. 1</originalText>
- Gk 4. r. 8 1 Pharmaceutical Dose Form {free text) #1-3 ——>
< fornCode?
CAindGProduect
<finsrancelfKind;
</consumable>
<inboundielationship typeCode="REFR"
“observation classCode="DBS” moodCoda="EVN">
<pade codem"28” codeSystem="2, 16, 840, 1, 113883, 5 889, 2. 1. 1. 18" displayName="parentRouteOfAdninistration”/>
Cko4or 11207 codeSystewm="2. 16, 8B40, L 113883, 3. 989 2. 1 1. 147 codeSystemVersion="G k. 4. r.

Svaltue asiitype="CE" codes

2

- Gk 4r 1]

S Gk 4.r 1126 Parent Ronte of Administration TernID Fl-

CoriginalText»G. k. 4 r. 11. 1<{/criginalText?

<A-— Gk 4 v, 11,15 Parent Route of Adwinistration {(free toxt}) B1-3 -->
<Avalue?

a. Parent Route of Administration TermlD Version Date / Humber Bi-3 -3
3 =3

</observation>
</inboundRelatiouship>
</ substanceAdministrationy
<SoutboumdRelationship?>
JoutboundRelatianship2 typeCode="COMP" >
“=- G.k 4. r: Dosage and Relevant Tnformatien (repeat as necessary) Hl-d -3
{substancerdministration classCode="SBADM" moodCode="EVYNT:
<textiG. k.o 4or 8 textd
e B R 41 80 Desage Text #i-4 -2
{effectiveTime xsiitype="SXPR_TS":
<oomn xsiitype="PIVL_TS">
<pericd value="10" unit="G. k 4.r 3"/
<I-— Gk 4. 1. 20 Number of Units in the Interval #1-4 -—
Al & k. 4. v 3 Definition of the Time Intervisl Unit £1-4 —>
(S oompy
Coomp xsiitypes VR TS” operator="A")
<width value="4" wnit="6 k 4 r. 6b"/>
O Gk o4 v B2 Duration of Brug Adwministration (msmber) &1-4 —>
<!—- G .k 4. r. 6h: Burariom of Drug Administration (unit) #$1-4 -->
<high value=" 200901017/
o G4 v, 5 Date and Time of Last Adwinistration #1-4 =3

{Acompe
effectiveTimes
Srovtelode code="t k. 4. r. 10 2b7 codeSysten="2 16, 840, 1, VI2R8Y, 2,988, 2.1 1, 14" codelSystemVersion="0 k 4. 1. 16 227>
Clem Gk 4o 10, 28 Route of Administration TermID Version Date S Number #I-4 ——»
- Gk 4.r 10, 2h0 Boute of Administration TermlD £1-4 -->
CoriginalTextif k4. r 100 I /originalText>
<= G k. 4.5 10,1 Route of Adpinistration (free text) &l-4 >
{rovteCodel
CdoseQuantity value="10" unit="G. k. 4 r. 1b"/>
e Gk 4 v L Dose {pumber) #1-4 -—>
Jom Gokodor 1D Bose (unit) #i-4 -
<consumahle typeCode="DSHS
<instanceOfKind classCodes" INST™
{productinstancelnstance clussCodes"WHAT” determinerCode=" INSTANCE™>
ClotNumberText>6. k. 4. r. 7</ TotNunbherText>
<Ie- Gk 4.r. 70 Bateh / Lot Number #i-4 —>

- R -



fproductinstanceinstance’
indOfProduct classCode="MMAT" determinerCode="EIND™>
FarmCode codes 6. k. 4. 1.8, 2b" codeSystem="TBD-DeseFore™ codeSystemVersion="G k. 4. 1. G 2a">
I Gk 4 r. 9 220 Pharmaceutical Dose Form TermID Version Date / Number $1-4 -->
<I-- Gk 4. r. 9. 2b: Pharmaceuticsl Duse Form Termib #i-4 -
<priginaltextiG k. 4 r. 9 1< nriginaiText?
¢i—— Gk 4 r. 9.1 Pharmaceutical Dose Form (fres text) Hi-4 -3
<AormCode?
<AhindUfProduct>
<instanceQfKind>

<Feonsumabler
ZinboundRelationship Typelodes REFR™Y
88" anodCode="EYN">

<obgervation classCode

Zrode cade="2R" codeSyster="2. 16, 840, 1 LI3BR3 3 086 2 1 1 197 displayName="patentRouteffAdministration”; >
<value wsiitype="CE” cnde="G. k 4 r. 11 2b7 codeSvstem="2. 16, 840. 1. 113885, 3, 889 2 L. L. 14" codeSystemVersion="t. k. 4. r.
11. 287>
= Gk Ao v E12a0 Parent Houte of Administrstion TermID Version Date / Number Hl-4 -->
= Gokodl v 3L 2k Parent Boute of Administration TermlD 51-4 -—>
CoriginalText>G ko4 v 11 1 originalText>
Ct-— Gk 4 r. 11,17 Parent Route of Administration (free text) gl-4 -->
Genlues
{fobservation?
</inboundRelationshipd
</substancehdministration?
<omrboundRe Iationship?y
{outhoumdBe lationship? typeCodes"COMP™>
1= Gk 4 v Dosage and Relevant Information {repest as necesssry) B1-6 -->
<eypstanceddministration classUode="SRAIM” mocdCode="EVN">
<rextrf i 4ov. B textl
6k 4 r 8 Dosage Text #1-5 —->
<effectivelime xsi:types SYPR_TS™>
Loomp xsitype=" IVL_TS”>
Aow values"200861017/>
<l— G k.4 r. 40 Date and Time of Start of Drug 815 —>
<high values 200801617/
<l-- G. k. 4.7r. 5 Date and Time of Last Administration ¥1-6 -
</ eompd
Ceomp gailtypes VLTS aneravor="a"y
<widih value="4" unit="G k. 4 r 68"/
¢low 6 ko4 v G20 Duration of Drug Admipistration {number) BI-5 —>
<I—- & k 4. r.6b buration of Drog Administration fmlt) #1-5 2
< comp?
<feffectiveTime>
‘routelode code="(. k. 4. 1. 10, 2b” codeSystor="%. 16 840. 1 [1388% 3,986, 2, 1. 1. 14" codeSystemVersion="G. k. 4. r. 10, 28"
Sl Gk 4 v 30 Za Route of Administration TermlD Version Bate / Mumber Hi-8
- Gk o4or $0.02h: Boute of Administration Terpld #1-5 -2
CoriginalTexirG. k. 4. r. 10, I</originalTent?
Sl ko4 T 104 Rewte of Administration (free text) ®L-§ -3
</routeCoder
<doseQuantity value="10" wnit="6 k 4. 1. 1b"/>
<P-— Gk 4 r.ta Dose (number) H1-5 —>
<= Gk 4 v 1bT Dose (unit) gl1-5 -3
“eonsumable typeCode="CSM7>
{instanceQffind classCode="TNST »
product IngtanceInstance classCode="MMAT determinerCode=" INSTANCE >
CotlumberText>Go k. 4 r, T/ TotMunber Texs s
lew Gk 4.r. 70 Batch / Lot Number #1-8 -3
productInstanceInstanced
chindiProduct classCode="¥MAT" determinerCode="KIND™>
<formCode cade="G. k. 4. .9, 20" codeSysten="TED-DogeForn” codeSystemYersion="G, % 4. r. 9. 2a”
<I=- 6.k 4.7 8 Za: Pharmaceutical Dose Form TermlD Version Date / Numher 81-5 -—
“le- Gk 4 r 9 2b Pharmaceutical Dose Form TermlD B1-5 -->
CoriginalText>G k. 4. r. 9. 1< originalText?
o Gk dor. 970 Pharmaceutical Doge Form (free text) &t-6 —>
< tormCode?
</kind0fProduct>
</instanceffKind?
<Seonsumablel
<inboundRelationship typeCode="RFFR™>
Cobservation c¢lassCode="0BS” mondCode="EVN™>
Coode code="28" codeSvsten="2. 16, 840. 1, TI3883. 3. 989, 2. 1. 1. 18" displayName="parentfoute0fidministration” >
Jvalue xsiitypes (BT codes 5.k 4o r 11 287 codeSystem= 2. 16 B40. 1. 113883, 3, 988, 2. 1. 1. 147 codeSystenVersion="G k 4. r
13, 2"

<-- Gk 4r. 15 280 Parent Roure of Administration TermiD Version Date / Number #i-% ——>
(oo Gk 4 7, 13 2b Parent Route of Administration Termil fi-5 -3
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CoriginalText>Go ko 4 v, B I originalTeaty
<= Gk 4. r 10010 Parent Rovte of Administretion (free texti #i-5 —>
¢/valuer
</observation?
</ {nboundRelat ionshipd
</substanceAdministrationd
</nuthoundRelationship??
CouthoundRelatiohship? typeCodes"COMP™>
e Gk 4 v Dosage and Relevent Information {repesl as necesssry) 216 -3
<substanceAdministration «lsssCode="SBADM" moodCodes"EVN"
CtextoOo k4o B ex1>
e 6ok 4y B Dosage Text #1-6 -3
<effectiveTime xziitypes SEPR_TS">
<pomp xsicltype="PIVL_TS™>:
<period value="107 wnit="G. k4. r. 477>
A Gk 4or 20 Bumber of Units in the Interval £1-6
G- Goko4or 3 Definition of the Time Interval Unin #1-6 -2
Llcompr

Ceomp xsitypes IVL_TS™ aperatar="a"3
OOB01017 4>

<low values
<I=- G k. 4.7 4. Date and Time of Starr of Drug #1-6 -
“width valuer” 47 univ="0 k 4.1 BH"/5
<= G k. 4. v Ba: Duration of Drug Administration (number) &
<= Gk 4 p.6ib: Buration of Drug Administravion {unit} #i-8 -
<loompy
Ceomp xsictypes" VIO TST aperator="A")
<high value="20000101"/>
e Gk 4y B Date apd Time of Last Administration §1-6 -3

ooy
<SeffectiveTime>
CrauteCode code="6 % 4 r. 10.2h" codeSvsten="2 16 840, 1, 113883, 3. 989 2. 1. 1. 147 codeSystenVersion="G. k 4. r. 10, %a”>
o= 6ok 4 v 1D 2s0 Route of Adminisirvation TermiD) Version Date / Number #1-6 —>
A g oko4or 1002k Route of Adminisirvation TermiD #1-6 --
<originalTexti6G k. 4 v 10, 1 ariginalTents
e 6ok 4 0 101! Houre of Administration (free text) 816 -3
<routeCode>
{doseQuantity value="10"7 unit="G_k. 4. r ">
<l Gk 4 7 1z Bose (numhery H1-1 -
e 6ok 4or b Dose {unit) E1-41
{oonsumabie typeCode="C8H">
<instance(f¥ind classCodes”INST™>
productInstanceTnstance ¢ lassCodes"MMAT" determinerCode=" INSTANCE™>
<lotNumberText>G. k. 4, r. 7< o tNumberTex
low Gk 4.y 70 Bateh / Lot Number Hl-1 -7
' <product nstance fpet
CeindOfProduct classCode="MMAT” determinerCode="XIND">
FarmCode code="Ck 4 v 9. 267 ¢
S Gk 8 s Pharmacenysos

anct

P Gokodor 9 2b Pharmscentical Dase Form TersID BI1-6 -3
CoriginalTexti6 % 4 v 9 1< originatTexts
o= Gokodor 9010 Pharmaceutical Dose Form (free texy) #i-6 -->

¢/ TormCode >
CkindGfProdunt>

<instanceOfKind>
<Seonsumabie
<CinboundRelationship typeCode=”REFR™>

<pbrervation ¢lassCode="UBS" moodCades"EVN™>
ez 987 code 2016, 840, 1, 113883 3 980, 7 L4 Y7 displavNasme="parentRoute0TAdmini siration” />
vpe="CF” code="G k. 4 r. 11 2b7 codeSystem="2, 16, 40 1 F13883. 3 989, 2. 1. 1. 14" codeSystenVersion="G. k. 4. v

i.da™

“i-- Gk 4 r 1L 20 Parent Route of Administration TermlD Version Date / Number #1-6 -
¥ (SRR S B Parent Route of Administration TermiD H1-B -3
<originalText?h b 4 r 11 1 originalYent>
£i-— G k.4 r 11 L Parent Woute of Administration (free text) E1-6 —>
$Avaluer
“/ebservation?
</inboundRelationship?
<ruhstanceAdministrations

<fouthoundRe lationship2?
<nuthoundRelationship? typeCode="COMP™>
A== G k. 4. r Dosage and Relevant Information (repest as necessary) B3-7 -->
<substancerdministration clsseCode="SEADM” moodCodes"EVN">
LtentPhoko4r. B vent
<= G k. 4. r. B Dosage Text #1-7 —->
Ceffectivelime xsi:tvpe="SXPRLTE™>

- -



{eomp xsi:rypes  FYL_TS™>
Qow value=" 2009010177
<l Gk 4 r 47 Date snd Time of Start of Drug B1-7 —3
dwidth value="4" unit="G k. 4 1. 6b"/>
<o Gk 4 v 6a: Buration of Drug Administration (number) #1-7 -—>
<l G k. 4.1 B Puration of Drug Administraticn (unit) #i-7 -—>

< eompd

<eomp xsioovpes TVLTSY aperator="4"
<high value="20080101% />
clem Gk 4 r 50 Bate and Time of last Administration #1-7 -2

<lcomp

<CeffectiveTime?
<routeCode codes”G k4 1 100267 codeSysten="2, 16 8401 J 13883 3,989, 2. 1 1, 147 codeSystenVersion="G. k. 4. 7. 10. 25"

Sl Goko4 r 10 220 Route of Administraticn TermlD Version Date / Number #1-7 —>

Cloe Gokodor 10 20 Reute of Administration TermID #1-7 -3

coriginalTestrG k4 r 10 I origine}Texts

<l Gk 40 101 Route of Administration (Free text) E1-7 >

2
<doeeDuant ity value
<l G4 v la Dose {numher) BI-7 -0
clee Gk 4o e 1B Dose {unit) §1-7 -
“eonsimable tvpeCodes USMTS
<instancefEind olassCodes INST"
<product Instancelnstance classCode="MHAT™ determinerGodes” INSTANCE™
ClotMmberText>h k2 r 7O TatNumberTexs>
Che GoW Ao T Bateh /Lot Number EI

<A rotteCe

0T unit="Gok 4.0 RS

Apraductinstence Instance”
<kinddfProduct ¢lassCode= AT determinerCodes"KiNB™>
Farmfode code="G k 4. r 8 207 codeSysten="TBi-DoseFarn” codeSvstemVersion="G k. 4 r. % 2a™>
Tl Gk 4.7 9. 2a0 Pharpaceutical Dose Form Termil Version Date / Number #1-7 ——>
Chee Gokd v, 9.8b Pharmaceutical Dose Form TermiD Bi-7 --2
foriginalText>G ko 4 v 8 1 originalTexts
~ k.4 r. 9. 1 Pharmaceutical Dose Ferm {free text) #1-7 ~-»
i TormCode >
«kindOEProduct
</instanceQf¥indg>

CAeonsumahled
CinhowdRe lationship typeCode="REFR™>
vation classCode 085" moodCode="EVN">
Syetom="2 I8 B4 1, 113883 3. 989.2. 1. 1. 197 displayName="parentRoutedfAdministration”
code="C, k.4, r. 11, 20" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2. 1. 1. 147 codeSystemVersion="0. k. 4. r.

<obs

Seode code="28"

<value Relltypes
11 2a73

- G ko 4v. 11 8a0 Parent Route aof Adminisiration TermlD Version Date [ Number 21-7 -5

Hee Goko4or, 112k Parent Route of Administration Termll HI-7 --»

CoriginalText>G ko v Bl L/ ariginalText?

e Goko 4 v T1000 Parent Route of Administration (free vext) #3-7 --
<Swalued

g

<Sohservationd
<inboundRelationships
</substanceidministration)
“/outhoundie iatfonship2?
CoutbommdRelat ionship? typeCode="SUMH" >
Cobservation olassCodes 085" meodCode="EYN">
Spode coder 147 codeSystem="2, 16 B40. 1. 113BE3. 3 0892 1 L 107 displayNames cumil ativeloseToReaction” />
cype="PQ7 value="10" unfe="0_k SL7/>

Cyaiue ¥
CHee ik
Chee ke
<Jobservation?
cinnshipdy
<gtithoundRelationship? tvpeCodes"PERT")
<ohservation classCodes OBS” moodCode="EVN">
Ceade code= 16" codeSystam="2, 16840, 1. 138833 689, 2. 1. 1. 197 displavName="gostationPeriod” />
Cvalue xsictypes PRT value="10" unit="G. k. 6b"
b= G k8
l-- Gk 6ib: Gastation Perjod st Time of Fypostre (unit) #1 --3

C Cumtlative DBose to First Reaction (numher) #1

Comulative Dose to First Reaclion funit) ) -

<FouthboundRels

ia: Gestation Period at Time of Exposurs (number) #1 -—>

<Jobservation?
Coutbound®elat tanskip?d
<putboundRelationship? typeCode="FERT™
Zobservation classCodes 0BS” moodCode="REVN™>
Cende code="31" codeSystonm="2, F6. BAG, b TISBEI S, 480, 201 1187 displayName="recurranceCtieact ion”
<value xs5ittype="TEY code="G k. 9. 1. 47 codeSysten="2. 16, B40. 1. 113883, 3. 980, 2. 1. 1. 187>
Chew Go%ko9. 140 Did Feaction Recur on Re-administratiosn? Drug £1, Reaction ¥1 -0
<atithoundReliationshipl typeCode="REFE"™:
<actReference classCodes OBS” moodCode="FVN™>
<id root=" 154ebBRY-U58h-45F2- 202 f~4Ld4d6T46RTE /)

- 31 -



</actReference>
<SoutboundRelationshipls
</observation?
</outhoundRelationshipli>
ZouthoundRelationship? typeCode="FPERT >
Cabgervation classCode="0BS" mocdCode="EVNTY
Coode oode="%1" cadeSysten="2. 6. S40. 1. 133883, & 589 2 [ ). 197 displayName="recurranceQfReaction”
Svatues xsiitypes CET code="G.k 8. 1 47 codeSvsten="2 T B40L 1. 113883 3. 989 2. 1 1 1670
<l Gk % 1.4 Did Reactian Recur on Re—administration? Pryg #1, Reaction £2 -3
CouthoundRelationshipl tvpeCodes"REFR™>
<aetReference classCodex"0BS” moadCode="BYN">
Cid roots"ZhaalBdE-r4eB-defic-93e0-ShREEOLII4E207
i3
Lionshipl?

wiactRefere
<SeutboundReld

<fobservations
HouthoundRelatjonship2
<outboundRelationship? typeCodes"REFR™>
ation classCodes"0BS" moondCodes"EVNT>
code Lo " codeSystem="2 16, 840, 1, 113882, 3. 089, 2. 1. L. 197 displayName="codedlrugInfornation” >
cealye ysiltvpe="CE” code="6 k. 10, r" codeSystem="2. 16, 840, 1 113883, 3. 989, 2.1, 1177/
¢lee Gk 10.r: hdditiomal Information on Drug {coded) (repeat as necessary} #1-1 -—->

<ok

<Fubservation?
<JoutboundReiationship??
<cuthoundie fationship? tvpeCode= REFR" >
<observation classCodes 0BS” moodCode="EVN™>
Cepde code=8" codeSystems" 2 1. B40. 1. 113883, 3. 989, 2. 1. 1 167 displayName="codedBruginlarmation” /3
Syatun xsitypes TEY code="0 k10 r7 codeSystems”20 160840, 3 113883.3 980, 2.1 1 177/

<
<

G. k. 10, v Additicna)l Tnformation on Drug {(coded) (repeat as necessary} Bi-2 --»
</nbservation>
<AouthoundRelationship2?
CatthoundRelationship? typeCode="REFR”>
Zohservation classCode="0BS" moodCode="EVN™>
reode code="" andeSvstensT2 16, 840, 1. 113883, 3 089, 2 1.1 197 displaviames"additional Information” />
cvalue xsiitype="ST06 k. 1</ value)
- Gk 110 Additiona]l Information an Drug (free text) 81 —->

e

Fobseyvation?
<SouthoundRelatisnship2>
<inbmmdRelationship tvpeCode="RSON"
<observation classCode="0BS” moodCode="EVN™»
<code code="19" codeSystom="2. 16. 840, 1. 113883, 3,984 2. 1. 1,197 displayName="indication” />
Cvatue xsiitypes"UE” code="G. k. 7.1.2h" codeSystem="2. 16, 840. 1. 113883, 6. 1637 codeSystemVersion="G. k. Y. r 2a">
<bee Gk T.r 2a0 MedDRA Version for Indication 811 -5
<lee ok Tor Zhe Indication (MedBRA code)  #i-1 -2
originaiText»G. k. T.r. M originalText?
<l Gk T.r. 10 Indication as Reported by the Primarv Source ¥i-} -—>
Clvaluer
performer typeCades"PRETY

<zssignedBniity classCode=" ASSIGRED™>
Cepde code="3" codeSystem=”2. 16, 840, 1, 113883, 3. 989, 2. 1. 1. 217 displavNames” sourceReporter™
<iassignedfntitys

<performer?
Cabservation?
/inboundRelationship?
<ipboundRelationship typeCode="RSOH"»
Zobservation classCode="0BS" mocdCode="FEVN™>
Ceode codes 197 codeSystem="2 16. 840, 1. 113883, 3. 989. 2.1, 1. 18" displayName="indication™ />
Zvalue ¥niitypes"CE” code="G. k. 7.r. 26" codeSysten="2, 16, £40. ). 113883, 6. 1637 codeSystemVersion="6.k. 7.v. 22>
Sl Gk Tyl Zu0 MedDRA Yersion for Indication #1-2 -3
Chee Gk T, F 2b0 Indication (MedDRA eade) H1-2 —>
<originalTextrG k& 7. r. 1</ originalText)
<lem Gk 7.v. %! Indicatian as Reporied by the Primary Scurce #1-2 -5

<Avalued
¢peyFormer tvpeCode="FPRE™>
CassignedEnt ity classCode="ASSIGNED™>
Cende code="1" rpdeSyston="9. 16, B40. 1. 112883 3,989 2.1 1 217 displayName="sourceReporter”
CassignedBntity?

Cperformery
</observation>
</1rhoundRelationshin?
<inboundRelationship typeCodes"CAUS™>
<act classCode="ACT" moodCode="EVN™

Ceade codes G, k.87 codeSystens"Z, 16 840 L LI3ERZ 3088211157
Chee Gk 80 Actionls) Taken with Drug 81—
<Sact>

</inboundRelstionship?
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{fatbstanceddsini stration?
¢/eomponent
L= 6. % Drugls) Informstion (repeat as necessary) H2 -3
¢eomponent typelode="COMF™>
<substanceAdminisiration classCode="SBADM” moodCode="EVN™>
<id root="8Rd6T5ce-3h3b-45¢T-92dd- 6906730 39" />
<congumable typeCode="CSH™>
<ihstanceOfKingd classCodes"INST™>
RindOfProduct classCode="MAT" determinerCade="KIND">
Ceode code="Gk 2. 1. 2b7 codeSystem="TRD-PhPID" codeSystemVersion="G. k. 2.1. 22"/
e Gk 701 %a) PRFID Version Date / Numbor 82—
<= G k.21 280 Pharmaceutical Product Identifier (PHPID} R2 -3
<pname G k.2 2K name>
<t 6ok, 2020 Medicinal Product Name as Reported by the Primary Source #2 -3
CasManufacturedProduct classCodes"MANU™>
<subjectd] typeCades"SE]">
<approval classCode="CNTRCT™ moodCode="FVN">
Cid wxtension="0 k3. 17 root="2 5. 84001, FI3B83. 308G 21,3470
<1 Gk 3010 Authorisation / Application Mumber @2 -0
<author typeCode=”AUT™>
{torritorialAutherity classCode="TERR™>
<territory classCode="NAT determinerCode=" INSTANCE™S
Ccode oode="G k. 3. 27 codeSysten= 1.0 3166 1.2 27/
Che Gk, 3,20 Country of Authorisation / Application §2 —3

LAerritory>
<Sterritorialiuthoritys
Lfauthor>
<pertinentInformation typeCodes"PERT )
policy classCode="POLICY" moodCode="BVK™>
2.6 k7 codeSystem="2, 16, 840, 1. 113882, 3 980, 5. L 4.2 0 #7/
LS M) R A f2 e

{oode codes
Ao OISk - B RS
policys
Cpertinentinformationy
<Aapprovall
<SsubjectO
subiectOf typelode="SBI™>
Ceharseteristic clagsCode="0BS" meadCode="EVN">
e 2 L6. 8400 1113883, 3,980, 5 L3 2 LT 4

tepe="CE" code

RRE ",

<ualue 12,4 %7 codeSystem="2, 16 840. 1, LI3883 3,98

<o QBRTZ 4kt WERGFOWRE S 42
</characteristic>

b jectOF>
asManutaoturedProduct >
<ingredient classCode="ACT1>
fguantity’
<numerator value="107 wnit="G. k. 2.3.r. 30"/
o Goko20d v 3at Strength (romber) #2-1
Clew Gk, 2.3 r.3h0 Strength funit) 82-1 —>

LN
i?

Cdennminator values")
Cquantityd

{ingredientSubstance rlassCode= AT determinerfode="KIND™>
Cende code="6 k. 2.3 r. 2b7 codeSystems"TBI-Substance” codeSystemVersion="G. k. 2. 3. r. 2a” />
Sl (G k2.3 v, 2a0 Substance / Specified Substance TermID Version Date / Numwber #2-1
Ch— 6k 208 r 2b Substance / Specified Substance TermlD #2-1 -2
CnpmeGo ke 203 1O hame s
[ r. 1 Subgiance J Specified Substance Name 22-1 >
<JingredientSubstance’

<lingredient)
Cingrediant classCode="ACTI >
CgusntiTyd
<numerator value="10" unit="6.k 2.3 r. 307>
<l-= k.2 3. r. 33 Strength {rumber) £2-2 —->
<i-- Gk 2.3, r 360 Strength {unit) #§2-2 -7
Cdenominator value="1"/3
Cpuantityr
<ingredientSobstance classCode="MMAT” determinerCede="KIND">
lnode code= Gk 2.3, 1. 2b7 codaSyeten="TRI-Substance” codeSystemVersion="G. k. 2.3 1. 22"/
toor Gk, 20807, 250 Substance / Specified Substance TermiD Version Date/Wumber §2-2 -
= G k. 2.3 r. %h Substance / Specified Substance Termll) #2-2 -~
Cname>G, k. 2. 3.1, 1< name >
ol Gk r. 1 Substance / Specified Substance Name E2-2 -2
{fingredientSuhsrancer

¥
LT

“ingredientd
<Fiind0fProduct>
CsubjectDt typeCode="SBJ">



‘productBEvent classCode="ACTY moodCode="EVN">
Ceade code="1" codeSyslem="4%. 16 840, L 113883 3,986, 2 1. 1 18" displavName="retailSupply™/>
performer typsCode="PRE™)
tassignedintity classCode="ASSTGNER™
‘representedrganization classCode="ORG” deferminerCode=" INSTANCE":
<addry
<oountry>G, k2. 44/ country?
<l Gk 2 40 ldentification of the Country Where the Drug Was Obtained 82 —7
CFaddr
{Srepresentedirganization?
{inssignedintity>
performer?
<SproduniBrent)
< muh jeo 0Ty
<subject(d typetode="SE]">
<observationEvent classCodes"0BS” moodCode="EWN">
7 codeSystem= 2. 1A, 840, 3, IS8AR. 5.089. 5. 13 2 LMY displavName="— §¥FEE B O A FREE
="CE code="J2. 6. k" codeSystem="2. 16, 840§ FL38R3. 3. 989, 5. 1.4.2. 1. 8"
W FHERS O NNRER #2

(eade code

<value xsi
<o @)

<fohservatio

Feub jentOf -
</ instancetfRKind?

</consupabler

CouthoundReiatiooshipl typeCode="SAS™Y

Gk 9 1.3 1T

e GUk0903. 3 bes Time lnterval hetween Beglnning of Drup Admimistration and Start of Reaciion / Event (number} Drug 82,

CpauseQuantity values"10" units

Reaction HI--3
S 6k % 5, 40 th Time Interval between Beginning of Drug Administration and Start of Reaction / BEvemt funit) Drug 82
Feaction 81 —>
taptReference classCode ORS” moodCode="EYN™»
<id roov="134ehBEG-938h- 4502202 - 42d4d6T465TT />
ciactReferences

<foutboundRelat ionshipl?
CautboundReiationshipl typeCode="SAR">
<pagseQuantity valoe="10" wnit="G. 4. 9. 5.3 207>
g Gk % 1.3 2a: Time Interval between Last Dose of Drug and Start of Reaction 7 Eveni (number) Drug £2, Remction #1

L (k. % 1.3 2k Time Interval between Last Dose of Drup and Sfart of Heaction / FEvent fonind  Drug €2, feaction $1 —>
{actieference ¢lassCode="0BS" moodCode="E¥N">
<id roots”1H4ehB8Y-G58b- 45 2-ub2 f-42d4d6FAB5TE" >
Y/ aetRef
</outhoundRelationshipl>

CENCE D

<guthoundfelationship] typeCode="SAS">
“papseQuantity values 107 wnit="G k & {3 1"/
A= & k8 1. 5 la Time Interval hetween Beginning of Drug Administration snd Start of Reaction / Bvent {humber} Drug %2,
Reacrion %2

<l G k%0103 0b Time Interval between Beginning of Brug Administration and Start of Reaction 7 Event funit} Iug #2,

[

Reaction ¥
Zactheference ¢lassCode="0BS" meodCode="RVN">
Gd root="aalBdé-cleBdebe-93eD-GhEE0L3 ) 4707 /0

SactReforence)

CSouthoundRelationshipl>

<puthoundRelationship] typeCode="SAET
CpaugeQuantity valuem 107 univ="6 % 9 i 3 267/
Chee 6% % 103 280 Time Intarval hetween Last Bosa of Drug and Start of Reaction / Buvent (nuwher) Brug 2, Reaction #2 --

< G0k 90403 2b0 Time loterval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction 82 —>
cactReference olassCoden”OBS” moodCode="EYN">
Gd roars" thasiRdi-clel-4ebn-8369-2bRE0ORI 142807 >
“/actReference?
CovtheundBelationshipts
Couthomdielationshipl typeCode="8A8">
<pauseQuantity value="10" unit="56 k. 9. 1. 3. 16772
Chew Gk 9103 1at Time Interval bhetween Beginning of Drug Adwmipisiration and Start of Keaction ¢ Event (rupher) Drug £2,

fipaction 83 >
e Gk 93 3 1k Time Interval between Beginning of Drog Administration and Start of Reactien / Event (unit) Drug #2,
Reaciion #2 —>
TaniReference classCode="0BS" mnodCode="EVN">
<id root="3a8626ch-971bdeaf-Ra0f-o01734430ad5" />
“/nciRefersnce’
<femtboundRelationshipl >
ComthoundRelationshipt typeCnde="SAE">
<pahseQuantity value="10" unit="G. k. 9. i 2 2k7/>
e Gk 9103 2a0 Time Interval hetween Last Dose of Drug and Start of Reaction / Event (number) Prug 82, Reaction §3 -—
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Resction 84 -k

Rescting #4 =2

Keaciion 35 -

Resction 5 -3

Reaction 36 -3

Resction 86 -3

Reartion BT -2

Feaction #7 --»

¢l—— 6k % 1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Fvent (unit)
<acifeference classCode="0BS” moodCode="EVN">

<id rooi="3a8628ch-3f 1h—4eaB-Ralf-cOf T34430adf" />

<factiReferehoe>
<SoutboundRelatio

nshipl>

CouthoundRelatianshinl typeCode="SAS™>
<pauseQuantity value="107 upit="G. k. 9. 1.3, 1"/ >
o Gk 9303 1a Time Interval between Beginning of Brug Administration and Start of Resetiop / Event (number) Drug #2,

e Gk B.1.3 16 Time Interval betwsen Beginning of Brug Administration snd Start of Reactics / Event {unit)

<actReference classCode="0BS” moodCode="EVN"™>

Gd root="2e89R408 0854 4800 -80T - ddS 41 14T BaE" />

{factReference?
<SouthoundRelatin

nshipl>

outhoundRelationship! typeCoda="54E">

{payseQuantity
o GokO38

Chem GokBOE3L
<actRefere

<factRelerence?
<SmtboundRelatio

values"18" unit="G.

g Time

2b Time Intervs!

nshipl>

[IREI N A

Interval between Last Dose of

bevween Last Dose of
ce elassCode="0BS” mocdCode="EVN">
Cid root="2eB9840¢-08bA-- 449~ 80F F-ddB4 16T [ 8ab "/

Couthoundfelationshipd typeCode="SA87>

<pausefuaniity values"10" unit="G k. 9. i
e Gk 90103 1at Time Interval between Beginning of

3T

Gk 9. 1.3, 1h: Time Interval between Beginning of

SactReference classCode="0RS" meoodCode="EYN">

<id root=" 10710640 ¢f 10-4a3b-83c1- 347 9dab T eufid”

<factReference’
“Southoundielatio

nshipl>

<putboundRelationshipl typeCode="5AE">
<pavseQuantity value="107 upit="G. k. 9. 1.2 26"/

e Gk 103 280 Time Interval between Last Bose of

e

k.9 1. 3.2b! Time Interval between Last Bose of

CavtReference classCode="0BS" moodCode="EYN™>

<id root="107T1064c-cF10-4a3b-83c1-34F9ddhTeatd” />

</actReferences
SouthotndRe latio

nshipls

<puthaundRelationshipl typeCode="SA8">

<pavseQuantity value®™ 167 unie="G k. 8 8. 2 16750

e Gk G i 3 EbD Time Interval between Beginning of

Gk 943 1a: Time Interval between Beginning of

<actReference claseCode="0BS" moodCode="EVN">

Cid root=" 17927255 10bE- 43040443 n92EE40TRIBT7

<JactReferencer

</outhoundRelationshipl>
<puthoundhelationshipl typeCode="SAR">

“pauseluant ity

Cf== Gk % 0.3 Za Time Interval between Last Dose of

- Gk %0103 2he

<actReferenc

&

<sartReference’

value=" 107 unit="(,

Time

/onthoundRelationshipl>
<ouihoundRelationshipl LypeCode="3A5">
Cpausefuantity value="10" mit="% k. 9. 1. 3. 1b7/>

Sl 6k 9.4 % la: Time Interval between Heginning of

A= Gk 913,18 Time Interva] between Beginning of

ko9 32070

Interval between Last Dose of
assCode="0BS” moodCnde="EVN"x
Cid roots" 1THLT2RY-1006-4334-9d43-0025640 b IR

tactReferenne olassCode="0B8" moodbode="FEVN">

<id root="ed342969-38be-4231-bEbb-ce ] dbe2T9dRe " /5

<jactReferencer

CSouthondRelationshiply
<outboundRelat fonshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G. % & i.% 2"/

<t— G k.9 i.3 2a: Time Interval between Last Pose of Brug and Starv of Reaction / Event

Drug

Drug

Dirug

Brug

brug

Drug

Drag

rug

Drug

Drug

Drug

fhrug

and Start of Reaction / Event (number)

and Srart of Reaction

J Bveri funit)

Drig #2, Reaction 83 —>

brug 2,

Drug 2,

Reaction B4 ——

frug #2, Reaction #4 —>

Administration and Stavt of Reaction [ FBvent f{number} Drug B2,

Administration and Start of Reaction / Bvent (unit)

and Btart

and Start

of Reaction / Event

of Reaction /

Bvent (unit)

(humber)

Drug £2,

Drag #2,

Beaction #5 -

Drug %2, Reactinn &5 ——>

Administration and Start of Resction / Event {number) Drug 22,

Administration and Start of Reaction /

and Start of Reaction

J Event {number)

and Start of Reaction 7 Fvent funit}

hdministratian

Administration snd Start of Reaction / Event (unit)

Event {(imit)

Drug #2,

Trug £2,

Irug #2,

Reaction &6 -~

Reaction §6 -

anid Start of Beactiom / Bvent (number) Drug #2,

(number)

brug §2,

Brug #2,

Reaction #7 -~



Reaction #8 ——

Reaction HE >

it 2a">

b 6ok 9.4l %280 Time Interval hetween last Dose of Drug and Start of Reaction / Event (unit} Drug #2, Reaction #7 -3
<sctReference classCodes"0BS" moodCode="EVN">
<id reotm e0342860-38be-423f-hEbh-cet a2 794872
</actReference?
</outboundRelationshkinl’
CouthoundRelationshipl typeCode="SAS >
cpabseQuantity valoes"18% unit="G k. 9 1. 3. "D
Chee Gk, 901.03 1o Time Interval between Beginning of Brug Administration and Starvt of Reaetion / Event (number) Drug #2,

<= G k. 9 9.3 1b" Time Interval between Reginning of Drug Administration and Start of Reaction 7 Event lunit} Drug 22

<actReference classCode="0BS" moodCode="F¥YN™>
<id root="alEhel92-ROT0-426d-a f04-GE6 426344307
CJactReferencs)
<AouthoundRelationshiply
<outheundRelationshipl typeCode="SAE™>
Cpatseuant 1ty value="10" vnit="G. k. 8. 1.3, 27/
< G.k. 9 5.2 2a: Time Trterval between Last Dose of Drug and Start of Reasction /

frent (number)  Drug 82, Reaction #2

e Gk 933 Bk
CLactReference classCodes"0BS" moadCodes ;
<id root="aibbe092-8070-426d-af04- é8632h315i00”1>
</actReference’
<fouthoundRelationshipl>
¢outhoundRe lationship? typeCode="FPERT >
<ohservation classCode="0BS” moodCode="EyN">
cende cade="8" codeSystem="2 16, R40. 1, TIZRES. 5 989, 2. 1. 1. 187 dispiayName="blinded” />
<va]ue xsitypes"BLY value="true”
- . k. 2.5 Investigational Produer Blinded #2 -3
{/Qbseruati0n>
<fouthoundRelationshipi>
<sutboundRelationship? typeCodes"COMP™>
e Gk 4.y 0 Dosage sud Relevant Information {repeat as nec
csubstanceAdministration classCode="SEADM” moodCordes "
Ctext>G. k. 4. p 8/ text>
A—- Gk 4. r. B Dossge Text #2-1 o
CetftuctiveTime wailtype="1¥1 TE™
{low value="200001017 /0
- G koA r 4! DBate and Time of Start of Drug §2-1 -2
<high values"200801017 />
A= Gk 4 v 5 Date and Time of Last Admiristration 82-}
CeffectiveTime
<routeCode code="G k. 4 v, 16, 28" rodeSysien="2 16, 840, 1. FI38RE. 30989 2.1 1147 codeSystemVersion="G k4 r. 10, 827>
e Gk 4 or 10237 Route of Administration TermIB Vex
<l Gk 4 r 10.2b: Route of Administration TermID #2-1 >
<originalTextrG k. 4. v, 10, 3/ ariginaliexnt?
lee G ko4 v 10017 Route of Adwinistration (Irvee text) g2-1 -

Time Interval hetween ias! Dose of Drug and Stert of Beaction © Bvent {unit) Drug #2, Reaction HE >

ion Date / Number #2-1 -

</roteCaded
<doseQuantity value="107 wnit="G ko 4. r 16"/
<= G k.4, r. la Dose (pumber) E2-1 -—>
Sl— G k. 4 v, tbt Dose funit) #2-1 >
{consumable typeCode="(SM™>
CinstanceOfKind classCode="INST™)
{productInstanceinstance classCode="MMAT™ determinerto
CtotBumberTest>6 k. 41, 7</TotNumberText>
<l G k. 4. 1.7 Batch 7 Lot Number #2-1 —>
< product InstanceIns tatce>
Ckind0fProduct olassCode="MMAT™ determinerCodes"KIND">
formCade code="G, k. 4. v 9. 2b" codeSystem="TBE-DaseForn” codeSystemVersions"G k. 4 r. 8 227>
A== G k.4 r. 9 220 Pharmaceutical Doge Form TermiD Version Date 7 Number #2-1 —>
= Gk 4 v 8 2% Phavmaceutical Dose Form TeranlD #2-1 -3
originalText>6. k. 4. r. 9. I originalTexts
<to- ko4 or. % 1 Pharmaceutical Dose Form {free fext} H2-1 -3
</ formCode>
kindOfProduct
<instanceOfKindy
CFeonswnabled
<inboundRelationship typeCode="REFR™>
<observation ¢lassCode="0BS” moodUode="EVN">
<ende codem 28 codeSystem="2. J6. R40, L LTIBRS, 3888, 2, 1. 1. 197 displayNames " parentBoute0fAdministration™/>
Qvalue xsiitype="TE" cnde="0.k 4. r. 11 2b7 codeSystem="2. 16 8410, 1. T13883, 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4. r.

THSTANCE™ >

e Gok.4.r 1128 Pareni Route of Administration TermiD Version Dare / Number #2-} ~->
b= G k.4 11, 2b: Parent Route of Administration TermID #2-1 --»



<originalText>G k. 4. r. 11 Woriginalfeut?
Cte— Gk, 4.1 F), 1 Parent Route of Administration {(free text) ¥2-1 --»
Svaluer
</observation?
</inboundRelationship>
</substanreAdminisiraiion’
<SouthoundRe lat fonship?
<outhboundRelationship? typeCode="COMP™>

rayy) BI-% -2

A— G k. 4 vt Dosage and Relevant Information (repeat as nece
Csubgtancetdministration classCode="SBADN" moodCodes *
CtexthG ko4l B text>
b Gk 4 v, B Dosage Text §2-2 3>
effectiveTime xsiitype="IVL_TS™>
Ctow value="2008G10177
= Gk 4or. 4 Date and Time of Siart of Drug #2-2
Cwidth value="4” unit="6. k. 4 r 66"/
b 6 k. 4.1 Bxl Duration of Drug Administration {number}
le— 6ok 4 v Bb: Puration of Drug Administration (unit) B2-2
{fetfectiveTimer
cyouteCode code="6. k 4. 1. 10, b7 codeSystems"2, 16 840, L LI3885 2. 089,21, 1, 147 codeSystemVersion="0. k. 4. v, 10 237>
<o Gokodlr 100 2a0 Rowte of Administration TerelB Version Date / Number $2-2 -
ot-= G k. 4.r. 10,267 Route of Administration TerwlB H2-2 -7
Corigina1TeatdG k. 4o v 10 1/nriginaiText>
= 6 % 4 v 10,10 Route of Administration (Tree vext) ¥2-4 --%
<routeCode>

(dogefuantity value="10" usit="G k 4. r Ib"/>
A Gk 4 r la Bose (number) #2-2 -3
Gohodor Ih: Dose (unit) #2-2
<consumable typeCode="CSW™
CinstanceDfKind classCode="INST" >
<productinstancelnstance ¢lassCode="MMAT determine
SJorNumberText 6. k4 r. T/ Tot umberText >
e Goko4or 70 Bateh /Lot Number #2-2 --i
</praductInstancelnstancer
Chind0fProduct clussCodes"MAT" deterwinerGodes"KIND™>
Gk 4. 7.8 907 codeSystens” TBD-DoseFarm” codelystemVersfon="0 k 4.1 9 2a™>
- Gk 4or 6. 240 Pharmaceutical Dose Form TermiD VYersion Dave / Number 82-2 -3
A= 0ok 4 r 9% Fharmeesutionl Dose Form TermiD £2-% -3
ZoriginalTexnt>G k4.1, 9 1 originnlTextd
d-—- 6.k 4.r. 9 1 Pharmescentical Dose Form (free rext) ¥8-2 -~
< FormCode?
<ShinddiProduct
</instance(fKind>
<Seonsumabler
<inboundRelationship typeCodes"REFR™S
<ohservation classCode="0BS" moodCode="EVN"™>
<cade codes 2016, B4 1, 1138833, 084, 2
Gk 4w 1L 2b7 cndeSystem

<1

=T INSTANCE™ >

<tformCode code=

o

1.1 197 displayName="parentRoutedfAdministration” />
236, R40. 1 113889, 3. 680 2.1, L 147 codeSystemVersion= 0. k. 4. v,

Cvaloe xsiitypes CF

= ko4 e b 260 Parent Boute of Adminisiration TermD Version Date / Number #2-2 -->
e GOk 4 r 11200 Parent Reate of Administration Termld #2-2 -0
<originalText>Co k4 r 1) i</ originalText?
hee Gk 4 r 1110 Parent Route of Adwinistratich (free text) #2-2 -—>
<Svaluer
</observationr
</ inboundRelationship?
</substanceAdministration?
<fouthoundRelalionshipd>
CputhoundRelationship? tvpeCode="COMP™>
« 6.k 4. v Dosage and Relevant Information (repeatl as necessary) H2-3 -3
<substanceAdministration ¢lassCode="SEAIN mondCode="FEVN">
TrextPGok. 4. r B4 texty
<l— Gk 4.v.8 Desage Tert #2-3 >
{effectiveTime xsiitype="IVL_TS"»
Cwidth value="4" unit="G. k. 4. r 60"/
<l-- G k. 4. ¥ Ba: Duration of Brug Administration (mumber) 32-3 -3
e (k4 r. Bb Duration of Drug Administration lunit) 82-3 -2
<high value="200901617/
¢l G k.4 1.5 Date and Time of Last Administration 22-3 -—>
<SeffectiveTime>
<routeCade codes 6. k. 4, v, 10 2h” codeSystem="2 16, R40. 1L 113883 3 688, 2 1 1. 147 codeSystenVersion="G, k. 4. v, 10, 2a">
e Gk dor, 10,240 Route of Adwinisivation Termill Version Date / Nuwher #2-3 -2
< Gk 4 r 10.2b0 Reute of Administration TermiB #2-3 --2
CariginalText>G ko 4. r. 10 1</ ariginaiTent?
o= Gokodor 10010 RBoute of Administration (free texv) 23 -5
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<SrouteCoder
(doseQuantity value= 10" unit="G. k. 4. r. 1b"/>
e Gk 4or. la Dose (number) #2-3 --7
(== G k. 4.r. 1b Poge {unit) $2-3 —»
Ceonsumable typeCode="CS4">
ZirstanceOfKind classCode="INST™>
<{productlnstancelnstance classCode="MMAT™ determinerCode="INSTANCE™)
OotlumberTextio k. 4. v T4/ lotMugherToxt
<fe- G k.4 v 70 Batch / Lot Number 52-3 —>
“/productInstanceInstanced
<eindOfProduct classCode="MMAT" detersinerCode= "KINR">
Formbode code=™5 ko 4. v, 8, 267 codeSysten"ThD-DoseForn” vodeSvstenVersion="6 k. 4.1 9 2a™>
A Gk 4 r 9 Za Pharmeceurical Dose Form TermlD Version Date / Nomber #2-3 -
== Gk 4. 1.9 2b! Phermaceutical Dose Form TermlD #2-3 -
originalText G k 4 r & P original Text?
- Gk 4or 901 Pharmaceatical Dose Form (Free text) H2-3 —3
</ formCode>
rindOfProduct
<SinstancefRind>
CSeonsumabler
<inboundRelationship typeCodes"REFR™ >
Cobservation classCodes"0BS” moodCode="EVN">
{ende code="48" codeSvstem="2. 16, 840. 5. 1313883, 3, 980, 2. 1. 1. 19" displayName="parentRoute0fAdministration™ >
voes"CE” code="G. k. 4 r. 11, 2b7 codeSystem="2. 16, 840, 1. 113683, 3. 989. 2. 1. 1. 147 codeSystemVersion="0.k 4. r

<vilue xsic
112475
<= 6k 4. r. 11 23 Parent Route of Adwinistration TermiD Versiop Date / Number $2-3 --3
== G k.4 r. 11.2b: Parent Route of Administration TermiD #2-3 -—>
<originalText>5 k. 4. r 1} I</originaiText
A= G k.4 1. FL 11 Parent Route of Administration (free text) ®2Z-3 —>
Cvalued
Cohservation?
<FinboundRelationship
“/substanceAdministration?
ClouthotindReiationship2s
<outhoundBetationship? typeCode="COMP">
<= G k. 4. r’ Dosage and Relevant Information (repeat as necessary) §2-4 -
<substanceAdministration classCode="SBADM woodCode="EVR™>
Ctext>h U 4 v R teyr
{I-- Gk 4 v 8 Dosage Text #2-4 -—>
<effectiveTime xsiftype="SYXPR_TS™>
eomp Xsiitype="FIVI TS
¢period value= 10" unit="6 k 4 v 3"/
<= Gk 4. v, 3 Numbor of tnits in the Interval £2-4 -->
¢I=- G k4. r. 3 Definition of the Time Interval Unitl #2-4 -—>
< foomp>
Ceomp xsiitype="IVL_TS" aperator="A">
<low value="200801017/>
J— G k. 4. r. 4! Bate and Tiwe of Start of Drug #2-2 --3
<Seowp?
effectiveTime?
<routeCode code="G. k. 4. 1. 10, 2b”7 codeSystem=" 2, 16, 840, 3. 113883 3,989, 2. 1. 1. 14" codeSvstemVersion="G. k. 4 ». 10, 2a™>
Chew Gk dor 100220 Route of Administration Term!D Version Bate 7/ Number #2-4 -3
A= Gk 4. v 10,2 Boute of Administration TermlD #2-4 -3
<originalTexi2G k. 4. r 10 I /originaiTexts
== G k4.1 10 10 Route of Adwinistration (free vext) #2-4 -
LSrouteCode?
Cdosefuantity values"10" wnit="G. k. 4. r. 167/
<= G k.41 i Dose (number) #2-4 -3
e Gk 4. r 16 Dose (unit) #2-4 >
Ceemsutishlte typaCode="CSW">
CinstancelfRind classCodes" THET™>
“productlnstanceinstance classCode="MMAT" determinerCode=" INSTANCE
<lotNupberText>G, k. 4, v. 7</1otHupberText?
= Gk 4r T Bateh / Lot MNumber #2-4 0
</productinstanceinstance>
CkindOfProduct classCode="MMAT" determinerCode="KIND">
GormCode code="6.k 4 1.9, 2b" rodeSysteom="TBD-BoseFrrn” codeSystemVarsion="6. k. 4. r. §. 22"
Clwe Gk d0v, 9. 220 Pharmaceutical Bose Form Termil Version Date ¢ Number #2-4 -->
A= 6.k 4 7. 9. 2h! Pharmaceutical Bose Form TermlD 24 -3
<originelText>G k. 4. 1.8, 1{/originalText>
W1-- G k.4.7.9. 1 Pharmaceutical Dose Form (free vext) #i-4 -—>
</ TormCode )
< kind0fProduct
</instance0fRind>
Ceonsumabla>
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<inboundRelationsbip typeCode="REFR™>
<abservation classCode="0BS” wmoodCode="E¥N">
<eede code=" 287 codeSystem="2. 16, 840, }. PI3883, 3 989, 2. 1. 1. 19" displayName="parentRovteDfAdministration” />
<value asiitype="CE" eade="fL k. 4.r. 1L 207 codeSystem="2. 16, 840, 1. FLARKY. 3. 989, 2. 1. 1, 147 codeSystenVersion="G. k. 4. r.
142375
e Gk 4 v 11 280 Parent Route of Administration TermID Version Date / Number §2-4 -»3
<t k.4 r. 11 2kt Parent Houte of Administratien TermiD #2-4 --»
ToriginalTextrG k. 4. v 10 1< originaiText>
Cle= Goko4or 1510 Parent Route of Administration {free fext) #2-4 -
<fvalyer
observation?
FinboundRelationship>
o/ substanccAdministration?
<SoutboundBelationshipsy
<outhoundRelztionship? tvpeCode="COMP™>
<A-- 6.k 4 0 Dossge and Relevant Information (repeat as necessary) #2-§ -->
<substanceAdministration classCodes "SHADM™ moodCode="EVN">
Ctext G ko4 r B4 tant>
o Gk 4 r 81 Dogage Text 8205 >
<effectiveTime xs5i!tyvpe="SKPR TS™
Leomp ksiitypes"PEYL TS
Cperied values 107 unit="5.k 4. r 370
- Gokodor. 20 Bumber of Units in the Interval #2-85 —0
<hes Gk 40y, 30 Definition of the Time Interval Unit #2-5 -
Cfoompd

i

<eomp rsiitypes VL TSY eperators
<high value="200901017/
Ao Gk 4 r 0 Date and Time of Last Adwinistration #2-0 >
</ comp?
“/etfectiveTime>
Croutefnde ende="6 k 4 v 10 2b7 endeSystens"2 16 840 1 1138833, 989, 2. 1. 1. 147 codeSystenVersian="6. k. 4 v, 10,2575
Ao Goko 4o 10 2a0 Route of Administratien TermiD Version Date / Nuwber #2-5 -
¢i-- G k. 4.1 10 Zb: Route of Administraticn TermID #2-5 -
CoripinatTextr>G ko 4 v 10 )</ ariginal Texts
oo Gokod r 10017 Route of Admings
</routeCoder
<dogetuantity value="1" unit="G k. 4. r 1p7/>
<M== G k. 4. r. 1a Dase {number) 397
b ko4 r Ik Dose funit) 8275 >
<eonsumable typeCodes"CSH"
Cinstance(¥ind classCodes" TNST™>
<productinstancelnstance classCodes"WIAT" determinerCode="TNSTANCE ™S
otMumberFent 6 k4 r T Lo tNumber Text>
e GokE v T Bateh S Lot Humber ¥2-5 5
CSproductinstance Instance:
<kipdDfProduct ol ndes "VMAT™ detorminerCode="KIND™>
<formCode code= G, k. 4. 1. 9. 267 codeSysten="TED-DoseFore” codeSystemVersion="G. k. 4. r. G 2a™>
<= G ¥ 4 r % Za Pharmascentical Bose Torm TermlD Version Date / Number #7945 -3
{lee ok 40y, 9. 28 Pharpaceutical Bose Form TermlD £2-5 —>
origihalTextoG k. 4. r. 9 1< oviginal Text>
Gk o4 r 9.1 Pharmaceutica! Dogse Form (free text) g2-5 - >
< ormioder
ChindBfProduct >
<SinstanceOEindd

<Aransumablas

ration (frec toxi) #2-5 >

ey
>

<

<CinboundBelationship typeCode> REFR">
<observation ¢lassCode="0BS" moodCode="EVN™>
cende codes 87 codeSysten="2. 16, 840, 1, 113883 3 089, 2. 1 1. 197 displayName="parentRoute0fAdministration” />
<walue xsiitype= CE7 code="6. k. 4. r. 11 207 rodeSvstew="2. 15 840, 1 113883, 2 989 2. 1. 1. 147 codeSystemersion="6. k. 4. »

o Gk v 1120 Parent Route of Administration TermlD Version Dute / Number £2
- Gk 4or 11 2h Pavent Route of Administration TermID #2-5 -
CortginalTextob k. 4or. V1 Y original Tenty

= Gk 4 r Bl it Parent Rowte of Adeinistration (free fext) #2-5 —
<Avalued
</observation?
</inboundRelstionships
<frubstancefdministration?
<fautboundRelationship?®
CouthoundRelationship? typeCode="COMP”™>
hew Gk 4o v Nosage and Relevant Information {repeal as necessary) R2-6 -
<{substancehdministration ¢lassCodes"SBADM™ mondCode="EVYN">
ext:G k. 4. r. B tert
o G4 4 v RD Dosage Texrt #2-6 -3
Ceffectivelime xsiltype="SEPR_TS">
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="PIVE TS

T unit="00k 4y 37

Numbar of Units in the Imterval #2-6§ —->
Definition of the Time Interval Onit 826 —>

<oomp XSIIyp
<period valn
=6 kdr
Ao Gk Ay 5

< Fnompy

{ocomp xsiliyp
twidth value="4

IV TS aperator="4">
Y ounit="t k. 4 r BB

<l Gk 4 r Ba: Duration of Drug Administration (number] #2-6 ——>
<l Gk 4 v Bh Duration of Drug Administration {unit) #2-6 -->
<Joomp?

<leffectiveTimes
CrouteCode code= 6.k 4. 1. 10, 287 codeSysten="2 L6 840, 1. LI3883, 3. 988, 2. 1. 1. 147 codeSystenVersion="G k. 4. r. J0, 227>
<lew ko4 v 3 2a0 Roure of Administration TermiD Version Date / Number #2-6 -—>
= 6ok dor, B 2h: Boute of Administration TermiB #2-6 --3
<originalTextrG k. 4. r 10, 14 originalTesty
<l Gk 4y 10012 Route of Adwinistration (free text) #2-6 —>
¢ froutetode?
<dnseluant ity valoe="107 unit="6. k. 4 £ 1b7/>
o Gk 41 1 Doge {nupher) S2-6 %
Gokodor tht Do B2~ -
wable typeCod
instanceltEind classCoden” INSTTY
cproduct Instancelnstance ¢lassCodes"WHAT™ deterbinerCode="TNSTANCE™ >
UeovhumbeorText>G k. 4. r. 7 InthumberTex1d
Ol Gokod4 v, 70 Beteb /Lot Number £2-6 -5
pradoctIngrance
kindOfProduct ¢lassCode="WMAT™ determinerCodes"KIND™>
HornCode codes"6 k4. r. B 27 codeSystens TBD-DoseForn” codeSvstemVersion="6. % 4. 1. 9. 22"
Al ik 4D 8 Z2al Pharmaceutical Dose Form TermiD Version Date / Number #2-6 -0
<Fee Gk 4. 9.2 Pharmaceutical Dose Form TermiD #2-6 —->
originalText>G b 4. r. 9 (< ariginaiTests
- G ko4, v, 8. 10 Pharmsceutical Dose Farm {(free text) #2-6 -->
< formCade >
<A nd0Product >
<AinstanceOfKindg>
¢/consimable?
<inboundRelationghin typeCades"REFR™>
SRS moodCades TRYNT:
2 20168400 1 38R 39849, 2.1, 1197 displayName="parentRouteffAdministration”/
Cwmloe xsittype="CE" codes f k4. r. 1L 2b" codeSystem="2. 16, 840. L. 113883. 3. 980. 2. 1. 1. 14" codeSystemVersion="6.k. 4. r.

nstahoed

7

8T em?

Chem Gokod r 11 257 Parent Route of Adsinistration TermlD Yersion Date / Number 52-6 -—>
e ko4 v 11 2h Parent Route of Adminisiration TermiD #2-6 —>
<originalText>G k. 4. r. 11 1 origivaiText>
e Gokodor 1101 Parent Route of Administration {free text) #2-6 -->
lualued
<febservationd
<AinboundRelationshiny
rubstunceAdministrationy
GontboundRelationship2)
CopthoundRelationship2 ?yvandn;’CGMP">
hew Goko4 v Dosage and Relevant Information (repest as necessarv) 22-7 -
<spbstanceddministration ¢lassCode="SBADM” maodCode="EVN">
Gtexy2ho ko4 B ext>
¢l ke 4. v B Posage Text #207 ~-p
coffectiveTime xgi:types"PIVI_¥S™>
cperiod values" 07 unite"G ok 4 r 374
che Gk 4 v, 20 Number of Units in the Integval -7 -
G. k.4 r 3 Definition of the Time Interval Unit §2-7 -
elffectiveTima>
<routeCode code="0. k. 4. v 10, 2b" codeSvstes="2 16, 8B40, §. 113883, 3,980, 2. 1.1, 14" codeSystenVersion="0. k. 4. r. 1. 2a”™>
<= Gk 4 v 30 2a0 Boute of Administration TermlD Version Date / Number #2-7 —->
de- Gk dor. 10280 Route of Administratvion TermID #2-7 -3
originslTextdG k. 4r 100 {</ ariginalText>
e Gk 4oy B0 10 Boute of Administratien {free text) B2-7 —->
frouteCode
CdnseQuant ity value="107 onit="G k. 4. r 16"/
e Goko4or ba Bose (humber) #2-7 -3
e 6 k4 r 1k Dose {unit) 2207 >
‘eonsmable rypeCode="CSHY
Cinstarceilind classCodes"INST™>
‘productInstanceInst ode="MMAT" determinerCode=" TNSTANCE >
ClotNumberText »6 ko 4. 1. T TotNupberText?
<t=- G k. 4. v. 7 Batch / Lot Number 32-7 —>
<IproductInstancelnsrance>

~
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CkindOfPraduct classCode="MMAT" determinerCade="KIND"
<formCode codes"5. k. 4. r. & 2b" codeSyston="TRD-DoseFarm” codeSvstemVersion="G. k. 4.r. 9.2a">
e Gok.4.1. 9. 2ar FPharmaceutical Dose Form TerwiD Version Date / Number #2-7 =3
b Goko4r 9020 Pharmaceutical Dose Form TermlDd 82-7 -0
alfext2t ko 4r @ I originalTexi>
ol Gok 4 r 901 Pharmecentical Dese Form {free text) #2-7 -0
<formCade>
“Akind0TProducty
instanceKind>
<Srongsumab e
ZivhoupdRelationship irpeCades REFR™>
TOBS” mondCade="EVE"y
ystem="2. 16, §40. 1. 113883, 3. 080, 2. 1. 1. 18" displayName="prrentRoutelfAdministration” />
code= G k4,1 11 267 codeSystem="2, 16, 840, 1 112883, 3,889, 2. 1. L. 147 codeSystemVersion="6h k. 4. ¢

ori

<observation olas
ode codes"28"

<wvalue xgilty

! ok dor bl 2z Parent Boute of Administration TermlD Version Bate / Number £2-7 -2
e Goko4oro 11200 Parent Route of Administratien TernlD #2-7 --»

CoriginalTextot ko4 v 1 1 originaiText>

Wl Gk 4or 1104 Parent Route of Adeinistration {(free text) #2-7 -3
“lvalue
<Sobservation?
<JinboundRelationship>
rations
<outhoundRelationship2?
<puthoundiRelat ionship? typefode="C0MP">
<l § k.4 r: Dosage and Relevant Information (repest as necessary} §2-§ -->
anceddministration classCode="SBADM" moodCode="EVN">
<texiol k. 4 v B text >
(SRS Gk o4 r. B Dosapse Text #2-8 -
<eftectiveTime wsi tvpe="IVL 787
Clow value="200901017/>
Alem G4 r 40 Bate and Time of Start of Drug §2-8 -—>
<letfectiveTime>
Ceoutelade code™ G ko4 r 10,207 codeSystem="2, 16, H40, 1 V13885, 3980, 2. 1. 1, 147 codeSvstemVersion="G. k. 4. . 10, 2a™>
e Gok o4 r. M) Za: Boute of Adminisfration TermlD Version Bate / Number #2-8 —3>
Choe ko4 r 10,280 Roule of Adwinistration TermId #2-8 -->
<originalText>G ko 4. v 10 1 /ariginalText>
e Gkl v 10010 Route of Administration (free text) E2-8 ~->
ronteloder
Cdpsetiuantity values 107 unit="6 k 4 r 107/
e Gk A v La Dose {number) #3-8 >
Slee £ % 4 r thD Dose {unit) H#3-8 -->
L
“instancedfBind elassCodes" INST™>
<SproductInstence Instance ¢lassCode= " MMAT” deferminerCode=" INSTANCE">
ClothmberText26 k4 v 7</TotNunberText>
Chew Gk 4 r.T0 Bateh [/ Lot Number B2-8 -3
<Apraduetinstancelnstan
<kindOfProduct ola WAT" determinerCode="KIND™>
FormCode rade="G k4. r. % 287 codeSystem="TRI-DozeForm” codeSystemVersion="6. k. 4. r. 9. 22>
- Gk 4 r 9 2at Pharmaceutical Bose Form TermiB Version Date / Number #2-8 —5
o= Gk 4 r. 9. 2b: Pharmaceutical Bose Form TermlD K2-8 --»
LoriginalText>G. k 4.+, 9, 1< origipal Text>
(T G k. 4 r. 9§ Pharmaceutical Dose Form {free text) BZ-8 -3
ormCode s
ChindDfProduct
</insrancelfKind>

“fzubstancefdminis

Csubst

<eenstumahle 1vpeCoc

<Seonsumabled
<inboundelationship typeCode="REFR™
<shservation classCode="0RS" macdCode="EVN™>
<epde code="28" codeSystem="2 16, 840, 1 113883, 3. 989, 2. 1 1 18" displavName="parentRovtelfAdministration” />
Ceplue xsi:tvpe E” code="0.k. 4. r. 11 207 codeSvstem="2, 16, 840, 1. FIZEESE. 3,989, 2. 1. 1. 147 codeSvstenVersion=

Gk 4 r 31 2s° Parent Route of Administration TermID Version Bate / Number £2-8 -->
- Gk 4or 1L 20 Parent Boute of Administration TermiD #2-8 —3
CoriginalText>5 ko 4. r 11 1 originalToxts
<o ko4 r b1 LD Parent Boute of Administration (free text) #Z-8 --3
<Svalued '

tion?
<Sinboundielationship?
<isubstatceddministration?
<SouthoundRelationship2s
<outhoundRelationship? typeCodes"COMPT>
b= Gk 4. v Bosage snd Reievant Information (repeal as necessarv) #2-9% ——5
“ode="SHADM” moadCode="EVN">

‘substanceddrinistration class

- 41 -



{text>Go ko4 v 84/ text>
<1-— Gk 4. r B Dosage Texi #2-g ~-
CoffectiveTime xsi:tvpe="1VL _TS">
<high value="200901817/>
Ct-— G k.4 r 5 DBate and Time of Last Administration #2-% -—
<effecriveTime>
<routelode code="0. k. 4 r 18,907 codeSystem="2, 16, 840 1. 113883 3. 489, 2. 1. 1. M7 codeSystenVersion="G, k. 4. r. 10 2a™
<d-— 6. k. 4. r 10, %a7 Route of Administration TermiD Version Date / Number #2-9¢ -3
Clew Gk 4 v 10.%b° Route of Adwinistration TermlD #2-9 -3
natText>G ko 4. r. 10 2 originalText>
G.oko4 r M 1 Route of Administratien (free text) #2-9 -
<Aroutelode?
CdoseQuant ity value="10" onit="G &k 4 r. 1b"/>
I~ Gk 4. r.la Dose (number) H#2-9% >
b= G k. 4 5 ib: Bose (pnit) 52-8 -3
{oonsumable tepelode="084">
<instance0fKind classCode="INST™>
Iproductinstanceinstance classCode="VAT" detorminerCode=" THSTANCE™
otNumberTent 26 k. 4 v, 74 Inthumber Text?
<= G4 1. 70 Bateh / Lot Number #2-9 —2
<AproductInstancelnstancer
kindHFreduct classCode="WMAT" deverminerCode="KIND">
<formCade code= 6 k. 4. 1. 8. 207 codeSysten="TRI-NoseForn” codeSystemVersion="G. k. 4. r. % 2a">
- Gokodor. 9. Pa Pharmaceutical Bose Form TermiB Version Date / Number #2-9 -3
e ok 4 1.9 200 Pharmaceutical Dose Form Termil §2-9 -->
<originalTextrG i 4. r. % 1(/originalText?
e ko401 8 L0 Pharmeceutics)l Dose Form (free text) #2-9 -7
</ FormCode>
<Skind0fProduct>
<JinstancedfRinds
<feonsumable>
<inbaundBelationship typeCode="REFR™> )
Cohservation classtodes"0BS” woodCode="EVN">
Ccode cnde="38" codeSystem="2. 16, 840, 1, 1138R3. 3. 689, 2.1, 1. 187 displayName="parentRouteOfAdministration” >
Cyalae vsittype="CE7 code="G k. 4 r. 11 20" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2.1, 1. 147 codeSystemVersions

Lari
ot

Gk 4 r,
1k 22"
<o Gk 4 r L Zac Parent Route of Administration TermiD Version Date / Number £2-9 -->
e Gk 4.1 11.2h: Pavent Route of Administration TermID H2-3 --3
CoviginalTexid>G ko 4or. 11 1</originalText>
<Pe- Gok.4.r 311 Pavent Route of Administration {free text) #2-9 -->
“Avalue
fobservation?
<SinboundRelationship?
</substancefdministrations
<FontheundRelationship?>
Couthoundlelationship? typeCode="COMP™
<l-— Gk 4 r: Dosaze and Relevant information (repeat as pecessary) 82-10 —5
substanceddminigtration ciassCode="SEADM" mondCode="FVE">
Ctext>Go ko4 80 textd
<A-- Gk 4 r 7 Dosage Text #2-10 -3
<effectivelime xsitvpe=" Vi FS™>
twidth values 47 unit="G k41, 6B7
G .k 4 r fa’ Doration of Drug Administration (mgber) #2-10 -->
Gk 4 r. 6b: Buration of Drug Administration {unit) #2-10 —->
Feffectivelimes
<ranteCode code="G. k. 4 v 10 2b7 codeSystem="2, 16. 840. 1. 113883, 3. 982, 2. 1. 1. 34”7 nodeSystenVersion="G. k. 4. 1. I0. 2a">
b Gk 41 10 2a0 Houte of Administration Termil Version Date / Number E2-10 -3
! G. k.4 r. 10,2k Route of Administration Termll 82-10 -—>
CortginalText>6 k4. r 10 1< originalText>
¢hem Gk 4oy I0017 Route of Administration {free text) ¥2-10 —>
</routeCade?
<dosefuant ity value="10" unit="G. k. 4.r. 107/
CHe- Gl 4or 1a Dose (wmber) #
¢loe Gk 4 r Yhe Dose (unit) #2-10 -->
{eonsumable typeCode=s"CSM™>
{nstancetfKind classCode="INST">
(oroductinstancelnstance classCode="HMAT" delerninerCode="INSTANCE™>
<IothumberTest 6. k. 4 r. 74/l ot NumberText>
o= Gk dor 70 Bateh /Lot Number #2-10 -3
o/productinstanceinstance>
<kind0fProduct classCodes"MMAT" determinerCode="KIND">
k4. v, 0. 28" cadeSysten="TBD-DoseForn” codeSystemVarsion= G k. 4. 1. 8. 2a">
6 k4. v % 2ar Pharmaceutical Dose Form Termll Version Date / Number H2-18 -->
i 6. k4. r. 9 2b Pharmaceutical Bose Form Termild #4-10 -->
CoriginalText>G. k. 4. r. 9 1</ originalText>




CE~ Gokodor U 10 Pharmacentical Bose Form (free text) #2-10 -7
<HornCoder
</kindQfProduct’
</instance0fKind>
¢/nonsumshiel
<inboundRelationship typeCode="REFR™>
<ohservation elaszCode="0BS" moodCode="EVN™>
deode code="28" codeSysten="2. 16, 840. 1. LI38B3. 3. 948, 2. 1. L. 197 displayName="parentRoutedfAdministrarion”
<value xsi:type2"CE” eode="G k. 4. r. 11 207 codeSystem="2. 16, 840, F 113883, 3,985 2. 1. 1. 14" codeSvstemVersion="M & 4. 7.

<1-= G k. d.or bL 2a0 Parent Route of Adwinistration TermID Version Daze /

<Foe Gk Aor. 11 2he Porent Route of Administration TermiD #2-10 -3

Corigine TexiG. k. 4. ¢, 1L I originalText>

== Gk 4or. 1110 Parent Route of Administration (free text) 32106 -
<value

Nrmber #2010 -

{Sobservations
</inboumdRelationships
</substanceAdminisiration
<SoutkoundRelstionship2y
<outhboondRelationship? tvpeCode="SIMH">
Zobservation classCode="0BS" moodCode="EYN">
<code code="14" codeSystem="2 I8, 840, 1. 113883, 3 880 2. 1. 1197 display¥ame="cumulativeloseTaRenctinn™/>
<yalue zsiitype="PQ” value="10" unit="G. k. 50"/
¢l Gk Bal Cumalative Dose to First Reaction {number) 32
Ci=- G k. 5h: Cumiative Dose 1o First Reaction (unit) #2
</observation’>
<AoutboundRelationship?2s

<outboundRelationshing typeCode="PERT™>
<ohservation classCode="0BS” moodCode="EVN">»
<ende codem 167 codeSvstem="2. 16, 840, 1. 113883, 3 489, 2. 1. 1. 187 disgpl
<value xsiliype="PQ7 value=" 10" unit="G. k. 6b"/>
e 6k fa’ Gestation Period at Time of Fxposure {(number) #¥2 -3
<l—- 6.k 6b: Gestation Period at Time of Exposure {unit) 22 -
</observation?

Name="gestat ionPeriod” Fo

<SontbopndRelationship2y
Couthoundfelstionship? rypeCode="PERT" >
{ohservation classCode="0BS" moodCode="EVNT>
<eode cade="31" eodeSvstem="2, 16, 840G, 1, 1138833, 0892, ), 1187 displavNames"recurrance0fBeaction” />
code="G. k. % 1. 47 codeSystem="2. 16 840, 1. TLIBRY 3 989 2 1. ). ‘
<he- Gk %345 Bid Reaction Recur on Re-administration? Drug #2, Reaction #1 -
<gutboundRelationship] typeCode="REFR">
<actleference classCode="0RS" mosdCade="EYNT>
Gl root="154ehiR9HGRE- 45 2-a02 f—4Zd4d6F4EETE"
<actHeferonces
<southaundReiationshipls
<Sobservationy

{valite Nsiltype=

“/nutboundRelationship2y
<outboundRelationship? typeCode="PERT™>
Cobservation classCodes 0BS” moodCode="TVN">
C(ende code="317 codeSystem="2. 16. 840, 1, Y13BR3. 3. 989, 2. 1. 1. 197 /! sacurrancelfReaction
<yalue xsiltype="CE" code="G. k. % 1. 47 codeSvetens"2. 16, 8B40, I 1138833, 989 2. 1. 1. 168"
Cloe 6ok 9140 Did Reaction Recur on Reeadministration? Drug #2, Reaction #2 --»
<outhoundRelationshipl typeCodes"REFR™>
<actReference classCode="0BS" moodCode="EVN">
dd root="Zbaal8d6-cOeh-4ebe-03ed-ShRG0LIT4I0" />
</actReferences

<SouthoundRelatianshipls
{/nbservationy
<SovthoundRelatianship?
<outboundRelationship? typefode="REFR™>
‘observation classCode="0BS" moodCode="EVHT>
<code code="8" codeSvstem="2. 16, 840, F. 113883, 3. 989 ¢ 1.1 197 displaviame="cededBruginformation” />
dvatue xsittype="CE” coade="G. k 10. 1" codeSystem="2, 16, 840, 1 LIIB8R 3. 989 2.1 1077
<f-— Gk 19 v: Additional Information on Drug {coded) (repest as necessary) Ei-f --
{fobservation?
<SouthoundRelationship?y
CouthoundRelationship typeCode="REFR”)
Zohservation clnssCode="0RS” moadCode="EVN™>
teode vade="9" codeSystem="2, 16, B40. 1. LI3R82.3.989. 2. 1. 1. 197 dispiayName="codedDrupinformat jon” >
<yalue xsitype="CE" code="G & 10. 1" codeSysien= 2. 16, 840, 1. 113883, 3. 089, 2. 1. 1. 1774»
Information on Drug {coded) {repest as nocessary) H9-% >

s

<low Gk, 10 v Additional
</observaiion?
</outbapndRelationship?>
<putboundRelationship? typelode="REFR™>
<observation classCodes DBS” moodCode="EVN">

T -



<code code="2" codeSystem="2, 16, 840, 1. 113883. 3, 988, 2. 1. 1. 197 displavName="additionalinformtion” />
Cvalue xsictype="ST70G. k. i</ /value?
<1-- 6.k 110 Additional Information on Drug {free test} ¥2 -—3
</observation?
</outhoundRelat ionship?s
¢ipboundBelationship typeCode="RSON™>
Cohservation ciassCode="0BS" moodCode="EVN™>
Ceode code="19" codeSystem="2 16. 840 . F13BEY, 3,989, 2.1, 1. 19" displayNume="indication” />
<value Xsi:tvpe="CE" code="G. k. 7.r. 2b7 codeSysten="2, 16. 840. 1. 1}3883. 6. 163" codeSystemVersion="G. k. 7. r. 2a">
- 6% 7.1 28 MedDRA Version for Indication #2-1 -2
<o GRTor 2bt Indication (MedBRA code) ®2-1 —7
dariginglText>G k. 7. r 1< original Text>
<te— G k. T.r 1! Indicavion as Reported by the Primary Source B2-1 ~-3
Clvalued
performer typeCodes PRE™ >
{ngeignedintity classCode="ASSIGNED">
tcode cades"1" codeSveten="2. 16. 840, 1. 113883, 3,989 2 1. 1. 21" displayName="sourceReporier” >
</assignedEntityy
<performer >
“/ohservation?
</inboundRelationshipr
nboundRelationship typeCodes RSON™Y
<pbservation classCode="0BS" moodCodes EVN™»
Ceode code="19" codeSystem="2. 16 B4, | FIASRL 308G 2.1 1 197 displayName” indication” />
Cuplue wsiitype="CE" code="6. k. 7. 1. 2b" codeSystem 16, 840, 1. 113883, 8, 1637 codeSystemVersion="G. %, T.r. 2a”>
= Gk 7.¢v 2a’ MedDRA Version for ladication #2-2 -2
Ao Gk Tor 2b Indication (MedDRA code) H2-2 —2
<originalText>G k. 7. r 1< originalText>
Gk 7.1 1t Indicatinn as Reported by ihe Primary Saurce #2-2 ~-3
</value>
<performer iypefode="PRF™>
cassignedEntity elassCodes"ASSIGNED™
<eode code="37 codeSvatem="2. 16, 840, 1 113883, 1 980, 2 1 1. 217 displayName=" sourceleporter”/
<fassignedEntity>
<iperformer>

<Sobservation?
</inbcundRelationshipd
<inhoundRelationship typeCodes"CAUS™ >
Cact classCode="ALT" moodCode="FEVN"2
Ceode code="G6. k. §” codeSystem="2. 18, B40. 1. 113883, 3, 980, 2. L 1. 157/
“lem Gk RD Action{s) Taken with Prug #2 -
<lacty
</inboundRelationship>
</substanceddministration>

eonponenty

CAorpanizers
ofsub jectOf>
<subjectDf2 typeCode="SBI">
<organizer cfassCode="CATEGORY” moodCode="EVN™)
Spode code="1" codeSvstem="2 16, 540, F 113883, 3.889. 5.5, 3.2, 1. 117 displavNames " (6B OB
‘eomponent typeCode="COMP™>
“observation olagsCode="08S” moodCode="EVN">
(ende cade="7" codeSystem="2. 16 840, ¥ 113883 3. 689,58 1.3, 2. L. 10" displayName="Jf HiT#" />
{vatue xsiltype="INT™ value="1"/2
b gEETZO13v. L FEIHEEE #1 -

{abservationd

<Jeomponent)
Ceomponent typeCode="COMP™>
<observaiion ¢lassCode="DHS” moodCode="EVN™2
Zopde codes B codeSystem="Z. 16, 840, 1. 113883, 3, U858, 5.1, 3. 2. 1. 107 displayName="2t @i 87>
Cysiue xsittype="ED">J2 13 r. 2 value>
Cle- BREYZ I3 r 2 HRES f1 —

<iobservation?

<Aoomponent
Ceomponent typeCode="COMP™>
tobservation rlassCode="0BS" moodCode="EVN™)
Ceode codes” 9" rodeSystem="2 16, B40 P 1IR3 3. 9895 1. 3.2.). 307 displayName="BREIH"/ >
2016, 840, 1. 113882, 3.989. 5. 1.2, 2. .77

<value xsiityper CE” code="}2. 13 r. 37 codeSysten
of-- @8@J2 13,1 3: BASEAH F1
</observation>

< feomponent?

<eomponent tvpeCode="O0MP >

3Code="0B5" mocdCode="EVN">

=“10% codeSystem="2. 16, 540, 1, 113883, 3. 989, 5. 1. 3.2, 1. 107 displayNeme="8E T g S A7 887/

Cvalue xsiitype="BLY value="true” />

{ohservalin
{ende cod

- g -



Chee @BEIZ.13.r. 40 BEDOGER OB 81 -
C/observation?
<Seomponenty
</organizer’
</sub ject0f2>
<snbjectOfZ typeCode="SB] >
Corganizer elassCode= CATEGORY™ moodCode="E¥N">
(onde code="1" codeSystem="2. 16 B40. 1, FI3885 1980 5. 1 3.2 1 1
Seomponent typeCode="COMP™>
{observation clussCode="0RS" mocdCodem"FVNT
Ceade eode="7" codeSystem="% L6, 840 TEIRRY. 3 ORY. B 132
<yalue xsiltyoe="INT™ value="1"/>
CI-- BE6¥2. 13.r. i RRHIEM B2 -

</observation>

displayName=" fEER OR8>

07 displayName="Fh HiBEE 7>

“fenmponent >

<gomponent typeCode="COMP">
Cobservation elassCode="0BS”™ mondCnde="E¥N">

" codeSystem="2. 16, B40. 1. TI3HRE. 3, 98D !
value zsiitype="ED7¥]2. 13, r, 2</value>
- BBEFI. 13.v.2 WSR2 -

{/observation>

3

Seode codem"R 107 displavName=" R E"S

</component?
Ceomponent typeCodes"COMP™>
“observation classCode="0BS" moodCode="EVN">
“eode code="8" codeSystems"Z 16, B40. 1. 113883, 3, 989, 5, 1.3 2. 1. 107 displayName="%EH" >
Cyatue wsiltypes"CE code="J2 13 1. 37 codeSystem="2. 16, 840 1 113883 3,988 5 1 3, 2 1
<te-o@sRjzo 3 oro 3 B g2 o>
{fobservationy

<Seomponent >
foomponent typeCode="COMP™>
‘observation claseCode="0BS" mondCodes"EVN™>
(oode code=" 18" codeSystems"2, 16 840 3 1I38EI 3 98 5 1.3 2. 1107 displayNames" 8P G0 5 27 0
<value xsi type="BL” value="false”/>
<l BBRIZ 1S v 4 EEPORBEOER 2
Zohservaiiony
< /component

<farganizer>
</subiectf?)>
<primaryRelel

<Asubjectls
{eompenent Lypelode="COMP™>
sesment classCode="0BS” moodCodes VN>
2. 16, BAD. 1. 113883, 3 984, 2 1. 1,187 dispiayRame="interventionCharacterization” >
‘yalue xsiitype="CE” code="h. % 17 codeSystem="2 16, 840, 1 L3883 3. 889, 2 1 11370
¢l-- 6.k 1! Characterisation of Drug Kele Brug #1 -->
Cambject2 typeCode="SUR]">

<productilselReference classCod SHADM™ moodCades="EVN™>

<id reot="3c9)bddo-e03%-4a7 s~ 90306767 Ib0e f924" />

</producttseReference’
Csub jeed 2
ngalityAssessmenty

{causalitvis

Ceode code="20" codeSvston

<feomponent’
Leompenent typeCode="COMP” >
{causalitvAssessment classCode="0BS" moodCode="EVN">
2.16.840. 1. 113883, 3. 989, 2. 1. 1. 18" displayName="interventionCharscterization”s>
“G.ok 17 codeSystem="2, 16 840, 1. FIAREI 3, 201D
<i-— G k. 1: Characterisation of Drug Hole Drug 852 -3
¢subject? typeCode="SURJ"»
{oroductlgeReference clusgCode="SBADM™ mocdCades
<id toot="68d6{Bea—3h3b-4507-92dd-68206730c3a8" />
< /productlseRaference’
(Feub jectd>y
GenusslityAssesspentD

<code code="2G" codeSys

<walte x51type CE” co

W

e

{/component>
eompanent typeCode="COMP™>

CcausalitvAssessment classCode="0BS" moodCode="EVYN™>

tondn code="38" codeSyatem="2, (6. 840 3 113885 3, 889 2 1. 1197 displarName="causality” />
<value ¥siitype="ST™>G k. 9. 1. 2. r. 3</valuey
¢low Gk B 121 27 Result of Assessmont Drug 21, Reaction #E Assessment H1 -->
{methodCode >

Coriginal¥ext>t ko4 1, 2 r. 2 eriginalTent?

Sl Gk 93 2 r 20 Method of Assessment Drug #Y, Reaction BR, Assessment 8 >
</methodlode>
<author typeCode="AUT™>

{assignedfntity classCode="ASSIGNED">

~ AR -



{ondel
<origiralText>G k. 8 1 2. v i</ originalText?
- 6. k9. i 2 r 1! Source af Assessment Drug #1, Reaction #I, Assessment #i -->
eoder
</assignedEntity>
</agthor?
<subject} typeCode="SUBJ™>
{adverseEffectReference classCode="0RS" moodCode="FVN™:
id root="154ebBRY-058b—451 2202 f - 426 FABETET Y
{fadverseBffretReferences

¢ pubjectly
<subject? typeCode="SUR}">
‘productiiseRefersnce classCode="SBADM™ mondCode="EVN">
id root="3c81b4d5-603Rdatu-Ge30-BTET Lh0eT9es” 1
<SproductiiseReferences
<Asihject2>

/causalityAssessment)
<Soomponent?
<component tvpeCode="COMP™>
<causulityrseessment classCode="OBS" moodCodes"
<ende coden” 39" codeSystem="2. 16, 840, 1. 132883, 3. 980, 2, [ 1 197 dieplayName="causality”
Cyalue xsiltype="ST G k. 9.1 2. r 3¢ valued
clef 90 2. r. 4 Result of Assessment Brug 51, Reaction B2, Ass

ssment 2L b

{methadCade?

CoriginalText>G k. 9. 1. 2. r. 24/ originatTaxid

Ao kB 1.2 r 20 HMethod of Assesswent Drug 81 Hesclion 32, Assessment #1 >
<UmethodCode

<author typeCode="AUT™>
{agsignedEptity classCode="ASSIGNER™>
Cender
<originalText?G k.9 0. 2. r i/ /nriginal Text>
Ao 60k 8 1 2 v 10 Source of Assessment Drug Bl Reaction 22, Assessment Bl
JSended
fassignedBntity?
</author>
“subject] typeCode="SUB]">
CadversefifTectReference classCode="0BS" moodCo
2RAG—cQub-4abo-9300- SR ER0LI 1 477

VR

<id roof

<fadversebEffectReference
d/suhjectl>
ssubject? typeCodes"SURJ™>
productUseRelerence classCode="SBADM" moodCades="EYN">
<id root="%cH1b4d5- 0384579306767 10 fled” />
SproductlseReference?

causalityAssesgment >
</companent?
<eompenent typeCode="COMP™>
‘causalityAssessment ¢lassCode= "85 moodCodes"EVN™>
{rode code="39" codeSystem="2. 16,840, 1, {13883, 3 889, 2. 1 1. 19" displayName="cavsality”/>
Cvalue xsiitype="ST736. k 8. §. 2. 1. 3/ value>
-G k.9 1.2 r. 20 Resuit of Assessment Dhrug B2, Reaction B2, Assessment 31 -0
“methodCades
CoriginalText G i 9. 1. 2. r, 2 originaiText>
-Gk % 1 2or 2 Method of Assessment Drug #2, Reaction #72. Assessment 81 -
methodCodas
Canthor typeCode="AUT">
CassignedEntity cluassCode="ASSIGNER">
<ooded
CoriginalTent>G k9.1 2. ¢ 1</originalText>
o Gk 0012 r 10 Source of Assessment Brug 22 Reaction B2, Assessment §1 -3
<Cendeld
{fassighedEntity?
<Sauthor:
Csubject? typeCode="SURI™>
{adverseRffectReference classCode="0BS8" moodCodes"E¥N"
<id root="ZhaaZBd6—cheB-4efo-93e0-5hEEOL3 142207/
<adversefffectReferences
</subjectl>
<zubiect? typeCade="SUBJ >
productUseleference classCode="SBADM moodCode="EVN™>
<id roct="68d6 5ce—3hik—45c7-92dd-53e067 3003297,
</productliseRelerence >
<Aanbjeetd>

SeausalityAssessment?
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{Senmponent >
<component typeCode="COMP™>
(causalityAssessment olassCode="0RS" moodCode="EVNT»
<ende code="30" codeSystem="1. 16, 840, 1. YI38E3 3. 989, 2. 1. F. 197 displayName="causality”/>
Cyalue xsiitype="ST 06 k. 9.1 201 3¢/ valuer
ChoeGol G502 v 30 Result of Assessment Drug %2, Resction 82, Assessment H2 -3

<methodCode?
‘originalText>G k. 9. 1.2, r. 8¢ original Text>

-Gk 052 x, 20 Wethod of Assessment Drug %2, Reaction 22, 4 sment EZ2 -l

<methodCaods
<anthor typelode="AHT"
‘assignedEntity classCode="ASSIGHED™>
<coded
LoriginalTextd0 k. 9.1 2 v PoriginalTexis
== Gk 912 v 1 Source of Assessment Brug £2, Heaxctfion B2, Assessment 82 .-

<fvode>

N

</assignedFntity>
<fauthor>
<suhjertl typelodes"SURY™ >
<adverseEffectReference clas
2id root="2hanifd-ched- tef
GadversefffeciReference?
<fsubjecti>
<subject? typeCode="SURJ"™>
¢oreductlseReterence ¢lassCades SBAIM mondCodes "EVN™>
<id root="68d6F5ce—3b3b4be T-H2dd- 69067300308 7>
</ produe Reference)
fsubjectd
<frausalityAssessment>

stode="0R5" muodUodes
Go G- BhERORII42207 />

< /eomponent >

Ceomponentd typeCodes COMP™>
<whservationfvent classCode="0RS”
{code code="10" cod
cvalue xsiitype="EDTOH. 2</value>
- H 20 Reporter’ s Comments

<atthor typeCode="AUT">
{assignedfntity classCode
<oade code="3" codeSystem

A

_187 displaybame="comment />

ASSTGNED™ >
=72 16 RAG, L ITESR3 38R0 21 1L 217 displayNames

ourcelleporter” />

LgnedEntity>
<Santhor»
Z/observationfvent:

< /comparent 1>

<oomponent]l typeCode="COMP" >
{observationEvent classCnde
<ende code=" 137 codeSyste

="OBS” mocdCodes"EVNT "
216,840, 112883 L KYT displavName="diagnosis™ /2
<value xsiitype="CE” code="I 3. 1. tb" codedys 440, 1. 113883 6. 1637 codeSystemVersion="H 3 r. 1a"/>
- W3 v 1a: MedDRA Version for Sender's Diasgnosis ¢ Svndrome and / or Reclassification of Reactish / Event #@ -3
fication ﬁf Rerction 7 Fvent (MedDRA code) #7 -3

<l

<lew 3. r 1k Sender’ s Disgnosie ¢ Syndrome and © or Feclassi

Yauther typeCade="AUT">
<{assignedfntity classCade="A8%

nde code="1" codebystems"2

ignedEntity>

</authory

o

observationBvent
Cloomponentls
<component] typeCodes"COMP">
Cobservationfivent classCode="0BS™ moodUode="E¥N™Y
Coode code="15" codeSystom="2 16, 840, 1 113883, 3. 980, 2.1, 4. 197 displayNames"dingnosis™ /Y
dvalue xsiitvpe="CE” code="H. 3. r. 1b7 codady =72, 16, B40. T 113882 6. 1837 rodeSystemVorsion="H 3. r. 12"/
<I-— H.3.r 1la: WedDRA Version for Scnder’ s Diagnasis / Syndyome and / or Reclsssification of Resction / Event &3 ——>
vadrome and / or Feclassification of Feaction / Fvent  (MedDRA code) R2 —-»

e HoA v b7 Sender’ s Diagnosis /
Cawthor typeCode="AUT">
Z{assignedEntity classCode="ASSIGNED™
<{eode code="1" codeSystem="2. 16. R40. 1. TI388E, 4 BEE 2.1 L 287 displayNeme="sender” />
t/sssignedEntityd
<Sauthar?
<SobservationBventy
<feomponentl>
Ceamponentl typeCode="COMP™>
Cobservationfvent classCades"0BS” moodCodes
vepds code="I07 codeSyste 2016840 1 1138y
Svalue xsiiype="ED"SH. 44 value>
(l-= H. 4! Sender' s Comments
<author typelode="AUT">
Lassighedintiiv elassCode="ASSIGNET"

30984, 2,101,187 displayName="comment "y




Ceade code="1" codeSysten="2. 16, 840, 1. [138R3. 3. 988.2.1
</assignedEntity>

217 displayName="sender” />

< authory
</observationfivent
<Seomponent 1>

<eomponenti typeCode="COMP™>
{observationEvent classCode="0BS" maodCode="EVN™:
eode code="3" codeSvstems 2 16,840 1. 1138R3. 3 4RG3 1 3.0 1 10" disployName="
Syalue xsiltype"EDT2J2. 7. 2/ value
- BEE)Z.T L RETEHTA2A Y P D
<{/observationBvent’
</eomponentl>
Loomponent! typeCodes"COMP™»
nt ¢lassCodes"0BS” mondCode="E¥N™>
47 codeSystem="%_ 16 840 1. 113883 3,589, 3.1, 3 &
<yafue xsittypes"ED">J2. 9 /valuer
b geRI2. 9 MYLE O MERE >
<fobservationBvent>
<Joompenents
<componentl typeCodes” COMP™>
Coheervationfvent classCode="0BS” muodCades"EVH">
{ende code="5" codeSystem="2. 16, 840, 1, [13883.3 9805 1.3. 2.1, 107
<value xsi:type="ED"2J2. 10/ valuas
1-- Ba@)2. 10 HEDIE >
observationEvent)

<observationEv

]
=1

Copds codes " displavNeme=" B EWE o MR SHE"

di splayName=" 5 8 02 %ih " />

{foomponentl
<{componentl tvpeCode="COMP™ >
<obgervationfvent elassCodes"OBS” moodCodes"EVNT
2016 840, 1. LI3B83. 3. 989, 5.1, 3.2, 1 107 displayNewe="F OB HHIHE" />
<value xsiitypex"ED7 32, L1</value:
dl-- BRGIZ 11 T OMBEFEIEE -
</observationfvent)
</eomponent 1>
<componentl typeCode="COMP™>
{ohservationBvent classCade="0BS" moodCode="EVN™>
<code codes 127 codeSystew="2. 16, 840, 1. LI3883. 3. 989. 6. 1. 3.2
<value xsiitype="ED"rJ2 16</ valuey
alee BEBI2 160 WEWNEFOESL -
</observationBvent>
</eomponently
<componentl typeCodes"COMP™>
<obaervationfvent rlessCodes " ORS" mondCodes"FVN"»
<code code="13" codeSystem="2. 16 840 1. 112883, 3, 9859 5. 1.3, 2.
<value zsiitype="ED">JZ. 19</valued
CHe-- BREJZAG: ffEL >
{/ochservationEvent>
</componentli’
<componentl tvpeCode="COMP™>
<obsorvationBvent classCode="0BS” mondCodes"EVN™>
<code code="147 codeSysrem="2 16 B40. 1. 113883 3,988 5 1.3,
<value xsiltypes EDT3)2 20< valued
- GEAF2. 20 %2
</observationfivent?
«/vomponentl”
Ceomponent] typeCode="COMP" >
Cobservationfvent classCodes"0BS” moodCode="EVN">
stewms "2, 16, 840, 1, 113883, 3,988, 5,3, 3, 2.
<value xsl:type= EDT3)2, 21 valuer
Cho- gR@J2 21
</observationFvent?
</component 1
<componentl typeCodes COMP“>
ohgervationBvent classCnde="0BS" moodCode="EYN">
{oode code= 167 codeSystem="2, 16, 840, 1. 113883, 3. 988, 5. 1.3, 2.
dyalue xgiitype="ER7>
<l-- @e@I2. 220 WEs
</obgervationBvent

<code code="6" codeSystems

107 displaviame="$BEREOELA" D

fan

CH07 displavNames #1700

2

b

107 displavName="{@ ¥R

<code codes" 158" code

I

L0 displaviame="#E%37

107 displayvName="fE%E4"/>
LVAQATE Hw

</componentl’
SadverseEventAssessment?
< /eomponenty
<compohent typelodes"COMP™
CobservationBvent classCode="0BS" maodCode="EVN">
<code codes"17 codeSystem="2 16, R4t | L1383, 2 686 2 1.1 197 displayName="additionallocumentsAvailable ™/
<value xsiitype="BL" value="true”/>
<l— € 1. 6. 17 Are Additional Docomenis Availsble? -->

- AR -



</ohservationBvents
</companent
{eomponent Typefode= COMP™ )
CobservationEvent classCode="0B8" moodCode="EVN">
Ccode codem" 23" codeSystems"2 16, 8B40, 1. 118883, 5. 989, 2. 1. 1. 187 displayName="locallriteriaForExpedited” />

<value ge=iltype="BL" valuex"true”/>
<l== £ 17! Does This Case Fulfi) the Lecal Criteria for an Bipedited Report? -
Ciobservationfivent
</conponent’

Ceomponent typelode="COMP™)
<observationEvent ol ade= RS moodCode="EVN>
<pnde code="367 crndeSvetems"2, 16, B40. L [138RI. 3,989 2.1, 1. 197 displayNeme=" summaryAndComment "/ >
Cwalue xsi:tvpe="EDT languase="H 3. r. 172 5. r. ta<d/valyer
Wl W B r 1s fase Summary and Reperter’ s Comments Text #1 —3
g Comments Langusge 31 —3

U K & r. 1h: Case Summary and Reporter
Zauthor typeCode="AUT">
CassignedEntity classCodes”ASSIGNED™>
Ceode code="27 codeSystem="2, 16 #40, § {13883, 3, 988, 2. 1. 1. 217 displayName="reporter”/>
lassignedEntity?
</author>
<fobservationfuentd
<Aoomponent
{compenent typeCodes "COME™>
Cade=" 0B moodCode="EVN" >
<eode code="367 ¢ vstens" 2 LE B40. 1 DI3BB3, 3. 989, 2, 1 1. 18" displayName="summaryAbdComment "/ >
Syalue reilrypes FDT Janguage="H 5 vy b7 5 v lad/ valued
<t B 5 r tar Case Summary and Feperter' s Comments Text 52—
! HoB.r 1! Cagse Summary and Reporter’ s Commenis Language §2 - >
<author typeCode="AUT™

<observatinnfvent

SSTGNED
7201608400 L 112882, 2. 988, 2. 1. 1. 217 displayName= reporter” />

vassignedEntity clase
{eode code="2" oo
<fassignedintity>
<{fauthor>
</observationBvents
<Aeomponenty
<outboundRelationship typeCades="SPRT ™2
<relatedlnvestigation classCodes"INVETG" moodCode="EVN">

L2.1.1.287 displayMames"initiniRBoport”;

sM0OTE AR T 1728873 3 G
) oSN RPN 1 U S S Pt 2 B - 1

¢subject0fE {ypelades”"SUB]™ >
CoantrolAetBvent classCodes"CACT" moodGode="EVN" >
Cauthor typeCode="AUT >

{eode codex” 17 codel

CagsignedEntity olassCodes " ASSTGNED
coode code="C 1. 8. 2" codeSystem="72 16 840 1, J13883 3,080 2. 1.1.3"/>
ol 018,20 First Sender of This Case —»
<fassignedEntivyl
<Santhor >
leontroihotEvent>
< Squb fect(f2s
“irelatedinvestigation:
outhaundRelationships
<outhoundRelationship fypeCode="SERT">
<refatedinvestigation classCode=" INVETGT moodCode= 8N
teade nullFlavar="NA"/>

B

ZeontrolactEvent classCodn="CACT™ mondCode="EVN">
it mxtehsion="C 1 O v root="2 16 8461 PI3883 3 G892 13274
ol-— 0oL A0 r ddentification Nasber of the Report Which Is Linked to This Repert (repeat as neccssarv) §

Ceub jectOf2 typelodes

eontreldctBEventy
<UstbjectDf2>
<relatedinvestigation>
< /outhoundRelationships
<outboundRelatianship tvpeCode="SPRT™>
<relatedInvestigation classCoades  TRVSTG” mondCode="FEVN
Seade nul1FTavor="NA"/>
{aub jectBf? typelade="5
<ermtrolictEvent classCode="CACT™ moodCode="EYN"3
d extension="0 1 10,17 =70 V6 B&0. 1. TEA8RZ A URG. 2. 1.3 27/
= G110y Ydentificaiion Number of the Repori Which Is Linked 1o this Repert {repest as necessaryd
ClcontrelActEvent>
<uubjectOfEs
</relatedinvestigation>
{SonthoundRalationshipd
<nuthoundRelationship typeCode="SPRT™>
priorityNumber value="1"/>
L €08, r A0 Primary Source for Regulastory Purposes #1 --»

Fad

- A48 -
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<relatedInvestipation classCodes"INVSTG” moodCode="EVNTY
{eode code="2" codeSysten="2, 16 840 1 113883 3,889 2 1 1. 22" displayName="sourceReport” />
{subjectif2 fypeCode="SIRT"
fcontrolhctEvent classCodex"CALT" moodCode="EVN™>
<author typeCode="AlT7 >
Cassignedfntity clasalode="ASSTONED™
<addr>

CstreetAddrs

shinerC 2.z 2.3 ytreethddrosstiney
. Reporter’ s Street #)
4 ety

r. 2 41 Reporter's City 81 %
(ST TR N :
[ R S

Reporter s State or Provinee §1 -3
2., 2.6 paatalCede?
2 B Reporter' s Postcode #1

com value="tel:C 2. r. 2077/

C.2.v 27 Reporter's Telephone #1 -->
ignedParson lassCode="PSN” determinerCode=" INSTANCE™>
<Riame
dprefixC 4o 1 preafig
(AN S N
¥ S
-

Reporter’s Tivle Bl -
Fpiveny

_ 20 Reporter’s Given Name BY -3

<giveng b3 givens

e €08 r 130 Reporter s Hiddle Nome #1 >

Clami by2C. 2oro 149 Fami tes

e 002 v L 4 Reperter' s Family Name H1 -3
<Suame
CasQualifiedPntity classCode="0UAL">

Ceade codes (L2 r 47 codeSysten="2. 16, 840, 1. 113883.3.689.2. L. 1.67/>
4 Qualification #1 -3
Entityr
atedEntity o
{rocatinn clags(

e

<Sastualifie

Zasion Codes"LOCE™>

COINTRY™ determinerCodes " INSTANCE™>

C2 10 8 coedeSyetem="1 0, 3166 1.2 27>
e €2 v % Heporfer s Country Code 51—

CAlorstion?

<onde cod

aslocatedEntity?

asgignedPerson

<representedOrganization classCode="0RG" determinerCode=" INSTANCE™>
Srmme G, Lor, 2 2 name
e 002 9 2 80 Reporter’ s Deportment d1 —3
CassignedEntity classCode="ASSTGNED">
<repregentedrganization oisssCode="0RG" determinerCode="INSTANCE™ >
namer. 2. v, 20 1 name >

e g

v 2t Reporter' s Oreanisabtion 81 -2
‘representedirganiaations
sLgnedintity>

representedirgantzations
<SussignedEntity?
</aunthor>
eontrolpotEvent s
Asubfectifds
<Arelatedinvestigations
FonthoundRelationshin>
<omthoundielationship fynefode="SPRT™>
Code=" TNVSTG" moodCed
27 codeSystem="2 1B 840, 1. 113863, 1, 48
<subject0f2 typeleode="SUBT >
ZeontrolietBvent classCode="CACT" moodCode="EVN">
Cauther typeCode="AUT™>
gnedBntity classCode="ASSIGNER">
“addy
{streetiddre
AEN RS
et

<1-

<yelatedinvestigation clu

EYN™>

21,1287 displayNames="sourceRenort”™ >

Lstarel 2 B4 stated

K 8 r 2.5 Reporter’ s State or Province 82 —»
cpostalloderC, 2, r. 2, B4/ /postalCoder
= 0 2or 2 60 Reporter’ s Posteode #2 -3

</addr>

Ctelscom value="tel 02 v, 2. 777>

= 02 r 270 Reporter' s Telephone 32 —>

- 50 -



(assignedPerson classCode="PSN” determinerCodes" INSTANCE™>

“NAmE >

dprefix»C 2 v 1 id/prefind
ol G2y b b Reporter' s Title #2 -2
CpivendC. 2. v, 1 24/ givens
L2 04 Reporter’ s Given Name #7 --2

: cr B3 givand
e 02 r 130 Reporter' s Middle Name 2 -2
Cfamily>C 20 v, 1 4</ Tani Ly
Sl €02 ¢ 1.4 Reporter’ s Fawmily Name H2 -3

mer

walifiedEntity «

sCode="QUAL™>

2 r 47 codeSystem="2 16 840 1, 1138R3 3 898G 2 1. 1. 677>
40 Qualificaticon 2 -

GasualifiedEniity?
{aglocatedEniity clasg

<eode ande
e

stiader"LOCE" >

clocation classCode="COUNTRY” determinerCode=" INSTANCE™ >
: L2137 codeSystem="3.0. 3166, 1.2 27/

- 00253 Reporter s Country Code #7 --0

cation?

de oo

faslocatedEntity>

signedPersan

CrepresentedOrganization classCode="0RG™ delerminerCode=" INSTANCE >

2,2 mana

< 2 2 Reporter s Department §2 -7
ssignedinicy classCode="ASSIGNED™ >

Crepresemiedfrganization olassCode="DRG” determinerCode="INSTANCE™>
“hape>C, 2y 2 iname
e 020y 201 Reporter' s Ovgemisation 82 —3

namerC 2or

representedOrganizationd

<Jauthor>
LSvontrolActivens
<Ssub jectNF2>
<irelatedinvestigations
ttheundReTat tonship>
Zxubjectifl typeCode="SHR]">
ZeontrolActEvent ¢lassCode="CACTY moadCode="EVN">
AT
ZagsignodBntity classOode="ASS

cauthor typeCorle

! i . Sender Type -
<addr>

4. 1/ streeifddressbiner

CstreetAddresshine>C.

Street Address -

EE W I P nder’ 5 City —>
{statesC 3403 Sstate
e 03,4030 Sender’ s State or Province —-3

1003 4 BT
dey’ s Telephone )

M Vi bles
[ BRI O
Ctelocom value="fax:Co 3. 4 77/
<be- 030470 Sender’ s Fax >
rom value="maillo:C 3. 4. 87/
tlee C 504 8 Sender' s B-mai] Address -—»
assignedPerson elassCode="PSN" determinerCode="TNSTANCE" >
“name>
aprefixol. 3.3, 2/ prefiny
[ Sendar’ & Title -7

A /givens

Sender’ s Given Name -~-»
3, 4 /giveny

41 Sender’ s Middle Name >
A familyy

b 03350 Sender’ s Family Name >

3

{name >

CasbacatedEntity olaseCades"LGCE™>

.3, 4 5. Sender’ s Country Code -

Slocation
<AasbocatedBEntitys



(JassignedPersond
<representedOrganization olassCode="0RG" determinerCode="INSTANCE”>
(name>(l. 3. 2</namn >
[ C. 3. 2: Sender's thganisation —>
CSrepresentedOrganization?
<Srssignedbint oy
</authar’>
<primaryInformaticnBecipient tvpeCode="FRCP™Y
<assignedintity classCode="ASSIGNED™>
CassignedPerson olassCode="PSN” determinerCode=" INSTANCE™>
{nume>
dprefixr]2. 18 8 prefin>

ol GREJZ R 2 FIEE WEE -
Familyd J2 W8 37/ famiily>

J-— B@R@IZ 18 3 N
Sgiven>J2. 18, 44 giv

I BRETZ LR 4 B &

<mama >

</assighedPerson>

<representedirgani zation classCode="0RG” determinerCodes” INGTANCE™>
Cname> J2. 1R, 1</ name>
<le- @017 1801 REE HBEL

</representedOrganizationd

assignedintityr
primaryinformationRecipient>
s/eontrotActEvent’
oisubectOfl>
Csub jectOf T typeCade="SUBT"
ceontrolictEvent elaseCode="CACTY mondCodes"FYN™>
<id assigningAuthoritvName="C. 1. 9. 1. v 17 extension="0, 1. 9. 1. v 27 root="2 16 840, 1. 113883 3. 9849, 2. 1.3. 3"
<P COL S Lor b Souree(s) of the Case Hdentifier (repeat as necessary) 1 —>
i 1.6 1. r. 2 Casze Identifier(s) #1 -
</controlActBEvent?
< subjectOf iy
<sthjectOfl typelode="SLR}">
<eontrolictEvent classCodes"CACT moodCode="EVN™>
<id assigninghutheritvNape="C. 1.9 1. r. 1" extension="C L. 6. 1 v 2" root="5 16 840 1. 113883 1. 0989, 7.1.3 37
<t 1.8 1.r 1 Soureels) of the Case Tdentifier {repeat as necs
e L0191 v 2 Caze Jdentifier(s) #2 —-»
JeontraldctBvent>
</sublectDfl>
<sih jectOf? typeCode="SURY">
<investipationChar

sary} 82 o3

ssCode="0R5" moodlode="FVN">
2016, 840, 1. 113883 8%, 2, 51 237 displayName="ichReporiType” />
L1 3T codeSystem= 2. 16 840, 1 113883 3,989 2, 1. 1,27

aoteristic

Zeode codes”

17 codeSysten=
“waltie xsi i tvpe="CE" nod
e 013 Type of Report

ofinvestigationCharacteristin?

<Seubjeatf2>

<sub jeet0f2 typeCode="SUR) >

CinvestigationCharacteristic slassCode="0BS" moodCode="E¥N">
Ceode code="2" codeSvetem="2. 16 840. }. FIIRRD 398G, 2. 1. 1. 23" displayName="ntherCaselds” >
Cyalue xsiciype="BLT value="true” />
<do C1 91 Diher Case Jdentifisrs in Previous Transmissions —>

investigationCharacteristics
</ subiectOf2>
<subjeet0f2 typeCode="SIRT™
<investigationCharacteristic classCode="0RS” mocdCodes"EVN">
eode code="3" codeSysten="2. 16, 8B40, 1. FI3883. 4 985, 2. 1. L 237 displayName="nullificationipendnentCode”
<vatue xsi:type="CE" code="C 1, 1117 codeSysten="2. 16, B40. 1. V13RRR. 2 480 2, 1. 1. 57>
¢l 03 13 10 Raport Mullificstion / Amendment —3
<JinvestigationCharacteristior
<Ssub jectOEZY
<subjeciOf? typeCode="SUBI™>
CinvestigationCharacteristic classCode="0BS" mosdCode="FVN™>
code code="4" codeSystem="2. 16 840, 1. L1A88Y 3 986 2 1 1 227 displayMame="nullificationAmendment Keason”
Cvalue xsiitype="CE™>
ZoriginalVext>C. § 13 2<¢/originalText>
(= €04 311 20 Reason for Nullifieation / Amendment -
“Avaluer

</investigationCharacteristic»
</sub jeotGfer
<subjeciDf? typelode="SURT™>
CipvestigationCharacteristic classCode="0BS" moodCode="EVN™>
{eode code="1" codeSystew="2.16. 840, 3. 113883, 3 989 5. 1. 3. 2. 1. 127 displavName="SB0E 5 (BEHE 5
Ceatue xsiztype="CE" cede="J2 12" codeSvstem="2. 16 840 1 FI3883. 0 480 5 1.3.2.1. 174>




e BEGY2 1a: FREEES GRESR)
</investigationCharacteristice)
</subjectOf2y
<subject0f? typelode="SHR] >
<investigationCharacteristic classCode="088" moodCode=
Ceode code="2" codeSystem="2. 16, 840 1 113883 3,689 5 1.3, 2. 1. 127
<value xsiitype="TS" value="20130107"/>
-- BE@FZ. 2 1 HEEREE -
<investigationCharacterizstice?
¢/sub jestBf 2>
<subject(t? typeCode="SUB]">
GhvestigationCherzeteristic classCode="0BS" moodCode="FVN™>
Ceode eode="3" codeSystem="2. 1A 840, 1, F10883 3988 51,321,127
Cyalue xsi:type="EPT>J2. 2 2</ value>
- o)z 27 WEBEBHIET S0k -
<FinvestigationCharacteristiod
<fsubjectF2y
<suhjectOf2 typeCode="SIBT™>
<investigationCharscteristic classCode="0BS” moodCode="EVN™>
feode code="4" codeSystem="2, 16, 840. 1, 113882, 3. 986 5.1, 3. 2. 1.127

<value xsiitype="CE" code="J2. 37 codeSystem="2. 16.840. 1. 1138832

< ez 3 MMEEET P S
<finvestigationCharacteristic?
<sub JectOf2y
Csubjeet0f2 typelode="SER]™>
CipvestigationCharacteristic classCodes"0BS" moodCodes"EVN">

{(cade codes"5" codeSysiem="2, 16.840. 1. 113883.2. 989, 4. 1. 3.2, 1. 127

Cvalue wsittype="TE” code="J2 8,17 codeSyetem="2 16, 840, 1. 113883, 3 ¢

Ol ERETZOE 1 HEHERATE Y
</investigationfharacteristicy
</ sub Jectf2>
<subject0f2 typeCode="SURY">
<investigationCharacteristic classCode="0BS" moodCode=
codeSyetem="2, 16, 840, 1, 113883, 3,989, 5. 1.3, 2, 1, 127
Cvatue xsiitype="ED ]2 8 24 /valued
e BBET2.8. 20 WE MBS GEE
</investigationCharacteristicy
<Saub ject0T2>
<SinvestigationEvent>
subjectr
CoontyeldctProcessd
<APORR _INGA90160V >
<l Message H1 -

teode codew"6”

l-- Weszage #2

<lw PORR_INOASOL6UY >
e JPORR_INGABOLEUV >
<A Message #2 -

Creceiver typeCodes= ROV
Idevice classCode="DEVY determinerCades="INSTANCE™>
<ad extensions N 1. 47 root="2.16. 840, 1. 113883. 2 88%. 2. 1. 3. 147>
Chee NO1o40 Bateoh Receiver ldemtifier -
CAdevicer
(receivery
<gender typeCode="SND">
<device classCode="DEV" dererminerCode="INSTANCE”>
i extension= N 1037 root="2. 16, 846, 1. TI3RE3. 3 8BB. 2. 1, 0,137
Cr-- ®01.30 Batch Sender Identifier ——7

Adevicer

</sender?
CAHOCT_INZ08TO0NGT >

displayName="$EEBE O/

displovName=" 8BS HRBE O UYL 24 0 70

THIBG R T T

127

displayNames
ORO. 81302

G Rl A o SR
BT

displayliam

displayNames=" @153 SRR



XMLBRAA A Y v A (BRI

<Tum)l version="1.07 snceding= UEE-877%
CHOCT_IN2O0I00UVATE ITSVersion="XML_1. 0" xsi:schemalocations"urn:hl7-orgvd MCCI_IN200100UV0E. xsd” xmins="urn hi7 org:v3d” sxmlns xsi="http:/fwww w3, org/
2061/ XML Schema-instance >
<id extension="N.1.27 root="2. 16, 840. 1. 113883.3.886.2. 1.3, 227 />
(teee NO120 Bateh Number -->
‘cyeationTime values"201012341516177/7> .
<= N. 157 Date of Batch Transmission —-»
{responseMadeCade code="B7/>
<inpteractionld extension="MCCI_IR2OUI0DUNGY” root="2 16 8B40, 1. JF3R8A. 167>
Cname code="N. 117 codeSystom="2. 16, 840 1 113883, 2,988, 2, 4. 1. 17>
el W i Type of Messages in Batch -
- Messape ®1 -0
CPORR_ INGSBO16UY>
Zid extension="N. 2. r. 17 root="2. 16. 840. 1. 1I3883, 3. 989.2. 1. 3. 17/
Mo N2 p 10 Message Identifier -3
ZereationTime value="201012141516177/2
<l N2 r.4: Date of ¥essage Creation —>
actionld extension="PORR_INGAGOTELVT
Cnro singCode code="F"/>
processingMedeCode code="T7/
lnccepthckCode code="4L"/0
ceiver typelode="RCV™>
<device classCode="DEY” determinerCode=" INSTANCE™>

<inte root="2. 16, 840, 1 113883, 1. 67

<

<id extension="N. 2 r.37 voot="2. 16.B40. 1. 113883, 3. 980, 2. 1. 3. 12" />
- W 2.r. 30 Message Receivey fdentifier --2
<fdevice>

lreceivery
<gender typeCode="SNDI>
<device classCode="BEV deterainorCode="INSTANCE™>
<id extension="N.Z. 3. 2" root="12. 16,840, 1, TE3883. 3,989, 2, 1.5, 117>
<l-— N.2.7.2. Message Sender Identifier -
<fdevices
</sender
ZcontrolActProcess classCodes"CACT” moadCode="EVN™
{cade code PORE_TEO49016UV" codeSvstew="2. 16, 846, 1, 113883 11877
<l {LT Trigger Event TD -
CeffectiveTime values"20101 2141016177/
Sl €00 20 Bate of Creaticn -2

“subject typelode="SUB]™>
CinvestigationBvent classCode="TNVST6” moodCode="EVN™>

<id extension="C. 1 17 roct="% 16 §40, 1, 113883 3.98%. 2. L. 3. 17/
e 01010 Sender’ = {case; Safety Report Unique ldentifier ~->
<id extension="C. 1.8 1" yoot="2. 16 840. 1 113883 3. 989.2. 1.5.2"/>
<l 1.8 1 Worldwide Unique Case Identification Number -7
i extension="Y2. th” root="2. 16 840. 1. 113883 3.989. 5 1.3.2.3. 17>
e BEEIZ. 1 BWEE EH o
<code code="PAT_ADV _EVNT” codeSystem="2. 16. 540, 1. 113883, 5.47/>
CrextPH 1< enty
<le— H 1 Case Narrative lncluding Clinical Course, Therapeutic Hessures, Outcome and Additional Relevant Infermation -3

(gtatustede code="active” />
Cf-- @REF2TLRT. RIETES -
<affectiveTime>
Clow value="200801017/>
<I— €140 Dase Report Was First Received fram Source -0
CreffectiveTime>
cavailabilitvTime value="200801017/5
< b C. L5 Date of Mozt Recent Information for This Report ——>
crefersnce Lvpelode="REFR™>
(document classCode="TIOCT moodCode="EVN">
Leode code="2" codeSystem="2, 16, B40, §. 113883 3 980, 2,1, 1, 277 displavName="}iteratureReference” />
<titlerJ2 17 rdfritied
<l-- BREJ2 1T ¢ BUELRHRO IS £ o
<text mediaType="application/pdf” representations"BE47>C. 4, r. 2</ texty>
<t-— € 4 7. % Included Documents #1 -—3
ChibliographicDesignationText>C. 4. r 1</ bibliographiclesignationTent>
«I— 04 10 Litersture Refereonce(s) #1 -
<participation typeCode="AUT >
{assignedEntity classlode="ASSIGNED">
Crepresentedirganization claesCode="0RG” determinerCode="INSTANCE™>
<azlocatedEntity classCode="LOCE™>
<lneation classCode="COUNTRY™ determinerCode=" INSTANCE™>
Ceode codem" 215,17 codeSystem="1 8 3166, 1.7, 274>
<t G@GFZ. 15 v L
<foecation?
</asLacatedEntity>




</representedirganizationd
{fassignedBEntity?
{/participation>
< {docupent
<Sreferencer
<reference typeCode="REFR™>
{document classCode="DOC" moodCode="EVN">
{code code="2" codeSystem="2, 16 B40. 1. 113883, 3,988 2. 1. 1. 277 displayName="titeratureRelerence” />
CtitderJa 7. r/titles
- E8R32 17 r BB B OSE B 0
<text medialype="application/pdf” representation= BBA3C 4 1 24/ text>
O L4 20 Included Documents 37—
<bibliographicDesignationTextC. 4 ro Ld/bibl tographicDesignationTexty
<t=- (4. r L7 Literature Reference{s) #2 -->
Cparticipation typeCnde="AHT >
<assignedintity classCnde="ASSIGNED" >
<representedOrganizatinn classCode="0RG" determinerCode=" INSTANCE™
CastocatedEntity clagsCode="LOCE™>
Cincation classCode="COUNTRY” determinerCode="INSTANCE™>
Zeode code="J2. 15, 1" codeSystem="1 0. 31846, 1.2.27
o @E8T2 15y AR #2 -y
</lacation?
</asiocatedBntityr
</representedfrganizstion)

&

“SassignedEniity?
{/participation>
</document >
{/reference’
<component typeCode="COMP™>
<adversefventissessment classCode=" INVSTG noodCode="EVN»
Zsubiect] typeCode"SB]">
<primarvRole classCode="INVEB]">
<player] classCode="PSN" determinerCode=" INSTANCE™ />
<subjectUf] typeCode="SRI">
{resesrchStudy classCodes"CINTRL” moadCode="BEVNTY
<id extension="C. 5 37 root="2. 16 840, 1 113883, 3,989 2, 1. 3.8"/>

Ao 0053 Spensor $tudy Number -
Tea 1
<b-- £.5.4: Stady Type rre Resction{e} /£ Event{s} We e
Ctitled 5. 2</1itle>
20— €520 Study Name -5
Cmuthorization typefode="AUTH>

<studvRegistration ¢lassCode="3CT" moodCodes"EVN™>

<id extension="C, 5 1 r. 17 root="% 16 8401, VIBRRI 3,988 2 [ 3,687/

- 8 % r 1t Study Registration Number 33 -->
<author typeCode="AUT™)
<territorialfuthority elassCn

TTERRTY
CgoverningPla RYY determinerCode=" (NSTANCE™ >
{eode code= Systews"1. 6. 3166 1. 2. 277>
A== €8 1y 20 Study Registration Country #1 -- >

AgoverningPlace?
Cterritoriativtharicy>
¢ /author’
</studyRegistration>
<Suuthorization?
<authorization typeCode="AlTH™>
{studyRegistration classCode="ACT™ moodCode="EVN">
Cid extension="C.8. L r. 17 root="2. 16. 840, 1. 113883, 3. 489, 2. L. 3.6">
Chem OB E v 1 Study Registration Number #2 -0
<aitthor typeCode="MJT" >
{territoriaiAvthority classCode="TERR">»
<governingPlace ¢lassCodes"COINTRY" determinerCode="INSTANCE">
<code code="C.5. b.r. 27 vodeSystem="1. 0. 3166, 1 2,27/
- CO5 Lr 20 Study Registration Country §2 -3
CgoverningPlacel

Z/territorialAuthorityy
Aauthory
<etudyRegistration?
C/authorization?
<JresearchStudy>
<fsub jectdily
{gubjeciOfZ typelode="SE]™>
organizer classCode= CATEGORY” moodCode="EYN™>
‘cade code="4" codeSystem="2. 16, B40. 1, 113883
<= G.% Drug(s) Information (repest as necessary) Ef -

885,21 1. 207 displayName="dregTnformation” />



{component typefode="COMP">
(subhstanceAdpinistration classCode="SBAIM moodCode="FVN">
<id root="3cH1b4d5~e030-4aTa-9c30-6767 1klefled” /5
<eonstmable tvpeCade="CSM™>
<instanceOfEind classCode=" INST™>
<kind0fProduct claszsCode="WMAT™ determineyCodes"KIND™>
Ceode code="G k. 2.1 17 codeSystem="TRO-MPID" />
<le= G ko201 kbt Medicinal Product Identifier (MPID) HI ~-3
<name>h. k220 name>
o= G0k 2,20 Medicingl Product Name as Beported by the Primary Scuree #1 -
CasHanufacturedProduct olassCodes TMANLT
<subjectdf typelade="SBJ™>
Cappraval olassCode="CNTRCT moadCodes"EUN"
Cid extension="G k. 5. 17 root="2, (6, 840, 1 JLAS8Y 3 980 2 1 8 47>
Che- Gk, 310 Authorisation 7 Application Rumbeyr #1 -3
Cauthar typeCode="ART">
CterriterialAuthority classCode="TERE">
Cterritory elassCodes™MNATY determinerCodes" INSTANCE >
{eode code="G k. 3,27 codeSystem="], 0. 3166, 1, % 27/5
- Gk 320 Commtry of Authorisstion / Application #1 -->
Srerritony?
{territorialfuthorityy
</avuthor>
{pertinentinformstion typeCode="FERT™>
ipaliey clussCodex"POLICY” moodlede
Ceade code="J2 F k7w
Mo BEETE 5k R

<ipolicy>

3.989.51.3.2.1.47/0

pertinentInformationd
<Japprovaly
</stbjectdl>
CsubiectDf typelnde="8B)"
<characteristic classCode="0BS” moodCode="FUN">
" 216, B40. E 113883 3
Cyalue vailtypes Fo. 4 8T codeSvystew
e BeeYI 4k FEELEOERRES $1
“Jrharacteristic
<f i 1

<ende code="17 code Y89 5. 13 2 L 107 displayNeme="SEEHB CERES" D

T0OYE B0 L PLEERA. L BR0. 5 1 8 2 L ATy

STAAC

</asManufacturedfroduct>
“asSpecializedBing classCode="GEN>
<generalizedMateriailind ciazsCodes"MATY determinerCode="KINI" -
Crode>
toriginalText>J2. 13 inaiTest>
e @72 120 FlERE YRS
Coonday
Cfreneralizeddateriallind
</asSpecializedKind:

LT
CingredientSubstabce classCodes"MMAT™ determinerCodes"KIND™>
<eode code="0d 203 r, 207 cadeSvystemsTTBB-Substance "/
<l-= &k 2% v 2h: Substance S Specitied Substance TermdD §1-1 -
Chame>G k.
-Gk o4
<Aimgredientbubstance>

Cingredient classCaod

.r P name’

r. 17 Bubstance [/ Specified Substance Name 3I-1 -2

<Singredient>
<ingredient classCodes"ACTE™>
CingredientSubstance classCodes "MMATY determinerCode="KINE">
Ceode code="G k2 3. 1 2b7 codeSysten="TED-Substance™ />
b Gk 2080y b Substance 7 Specified Substance TernlD 217 -3
namerGo k205 r LV hanes
e Gkl 208 v 10 Substanee S Specified Substance Name #3-2 -3
<AingredientSubstance>
{ingredient)?
ChindGfProduct
Csub jectOf typeCade="SRI">
Code="0RS"
System="2 16. 840 1 I13883. 3. 089 5 1. 5.2, 1. 107 displayName=" 3 MEE L0 JORRE" />
2016 840,70, TEISES 3,985, 5. 1. 3.2, 157

<ohservationEvent o

27 rode
“value xailtype="CE” cade="32.6 k" codeSysie
- ey 6k —BBERLO TR 81

<JobservationFrent:
<FsubjectQfy
{AipstanceOfKindy
</consumabler

<cade eode

“/substanceAdministration>
</component >



<Jorganizery
</subject(fiy
<subjectOf? typeCode="SB" >
{organizer eclassCades"CATEGORY” mondCodes"E¥N™>
Ceode code= 1" codeSystew="2 16 80 1 LETISREA L G895 13 2 1117 displavNeme=" {BEROHEE"
COMP" >
<nbservation classCode="0BS" mocdCodes"EVH™:
Cende codes™T" codeSystem="2. 1A B40 b TTA883. 3,980 5 1.3 201 107 displayName="JR R
<yalue ¥siitype="INT" value="1"/>
I-- BEBI2.15. r. 10 BRHIEHE et

<observationg

Ccomponent LypeCade

<Seomponent >
TLOMPT
assCode="0RS" mosdCod

Ceode codes"8"

<eomponent {ypeCo

EVN™:
001 PE3BBR 3888 R L 32 1107 displayNames M SRS

‘observation of

dvalue xsllitype

C HBER

<Sobservations
<Jeomponent?
“eompohent UypeCade

{ohservation ol

M

Code= ST moodCode TEVNT

T codeSystem="2, V6, B40. 1. E3NKS, 3
<value ysictype= CE” redes="J2 13, r 37 codeSvsie
Cl-- BREIZ Y3 oe 30 BREM E1 oo

<observation?

“eode code

LI displayNames"BHSEHE"/
CIE8B3. 03,8895, 1A 2 LT

<leomponent
{eomponent typeCade=" COMP™>
Zobsarvation classCodes DRS” mondCode="E¥N":
<oode code=" 107 codeSystens™ 2 16, 840, 1. 13883
i
SRESIOHE 5L -

LROGBO.L L 21107 dHspluyName="RE P ORI RO E B

<value wsiitypes"BL" value
- BERIZ I3 v 40 L
2rvalion?

{feomponenty
</organizer!
<AsubjectDE2y
“sub jectOfZ type
{organiz

de="SE[">
TCATRGORY” mocdCode="EIN" >
T V6L B0, L PEAREE, 1080 5 1 302 1 117 4
COMP™
ORS” moodCode="EYN">
<eode code™"T7 cadeSystems"2, 16, 840 1 TI883 3989, 5. L 3 801 107 displayName=" 5 8187/
Zvalue xsiitypes" INTY enloe="1"/
e GREJZ 13 v 10 MEME a2 o>
“iokse
<Seomponent >
{eomponent typeCodes"COMP™>
Zohservation o “ode="0RS" moodCode="EVN" >
ndeSystems"2, 1B 8B40, 1, TI3RE3, 3 089,65, 1. 3. 2. 1 407 displayName=" 5 SBFE M7/
Tvaltee xsiitvpe="ED"3J2. 1 £
Chee GRETZ 15 2 XE

CSubservations

sdfe

Ceomponent typelc
cobservation classCo

vations

Ceode codes

Tuer

{Seomponent)

Ceomponent typelodes
Cohservation classCodes"0BS” moodCode="EYN">
: 2016, B40. 1 TE3BRZ. 30986, 5.1, 3. 2.0, 107 displayNeme="[H5H" >
“I2013 r. 37 codeSystewsT2 16, 84001 L3882 3. 980 5. L3 2L LT
r 30 AR 22 e

rvation
CFromponent?
<eomponent. typeCodes" COMP™>
<ohservation classCode=" 085" moadCode="EVE">
VEOR4D. 1 TIIHRE. 30895 L3 2 L BT displayNames" RO MO HEES

<eode coder"10" codeSysten:

<value xsiiiype="BL” values se
- BEEI2 1% roar BT O

{Sohservation?

</component
{forganizery
</sub jeet0F2:
<primaryRoler

<lanbjectis

<component) typeCode="C{MP™>

Cobservationfvent ¢lassCode= GBS mocdCodes "EVN>
<eode code="10" codeSystem="2 1A 840} 113853 3 980 2 L 1 197 displavNames comment ™42
<value xsi:type="ED7>H. 4
e W40 Sender's Comments —»

Avalue’



{avthar typeCode="AT >
{assignedEntity classCode="ASSIGNED™>
<eode code="t" codeSvstem="2 16 B40.} 113883, 3 989 2 1 1. 21" displayName="sender” />
<fassignedEntity>
<Aauthor:
/observationkvent>
</eomponent 1>
{componenti typelode="COMPY>
{obeervationEvent classCode=
{eode oo u

BE" moodCodes "EVYNT >

3" codeSystens 2 VR B40. 1 113883, 3. 980,05 1.3 2 1 0
Cvalue xsi:iypes ED"3 ]2 7 2/ valuer

Ao BREJ2.T. 20 RETIMELR AL

</observationBvent>

" displayNames" IETIL T A m A RO

CSeomponentl>
<compenentd typeCode="COMP" >
{observationfvent classCades"0BS" moodCode="EVNT>
<code code="37 codeSystem="2, 16, BAG. 1. 113883, 3 U8G5 1 3.2 1 107 displayName=" i oy teh "o
{value xeiltype="ED ]2 10< value)
Sl BEGYD. 10 SO TR
</chservationEvent?>
<Jeomponenti>
Ccomponentl typeCode="COMP™>
<rbservationBvent classCode="0RS™ maodCods="FYNT>
oode code="6" codeSysten"2, 16, 840 F 113883, 3. 988 5. 1.3 2. 1 107 displayieme="T LB HEHIGL "5
Cwalue Xsiitype="FD7> ]2 11 valued
- @ERJZ 11 TOME BWHEE o

<JobservationBventl

<feomponentiy
eomponentl typeCode=" COMP™
ZohservationBvent classCode="0BS" mooadCode="EVN>
<eode code="12" codeSystem="Z 16, 840, L FIZER3 3. 988 5. 1 3. 2. 1. 107 displayNamer"SPEPME OB E"
<value xsiltypes ER">J2. 16 value
<h-— Besiz 160 WM
<fobservationBvent>
<eomponent 1>
<fadverseBventAssessmenty

<Seomponent

toomponent Type v TP

{ohzervationbvent clagsCod
‘eode code="23" codeSvsten="2. I 840 1, 113K83, 3, 989, 2. 1. 1. 19" displayName="localCriteriaForEypedited”/>
<vplue xsiltype="BL" value="true”/>

w170 Dows This Case Fulfil the Local Criteria for an Expedited Repart? —-»
{/observationfvent:
¢ feomponent>
<outbotndRelationship typeCode="SPRT™>
{relatedlnvestigation classCode” INVSTG™ moodCode="EVN™>
<cadn cnde="1" codeSystem="2. 16 840, 1. 113883, 3. 989 2. 1. 1. 227 displayName="initialRepory”/>
<sub jectOf? typeCode="SUR]">
<eontrolActiivent classCode="CACT" mucdCodes
Lauther typeCode=" AUT™>
<assignedBntity classCode="ASSIGNER”>
Ceode code="C, 1L B 27 codeSysten="2, 16, 240, 1. LE38HS. 3,689, 2. 1. L. 370
Clew CO1R 20 First Sender of This Case »-»
<SazsignedEntity>
</author>
<SeontrolictBvent?
</subjectOf2>
relatedlnvesiigation?

CSeulboundRelationships
<outhoundRelatiohship tvpeCode="SPRT™>
¢relatedinvestigation claesCode="INVETG" mondCodes"EVN"
<oode nul R avar="NA"/>
<auhjectOF2 tyneCode="SUE]">
{eontrolActBvent clagsCode="CACT” moovdCodes"EVN">
<id extension="C. [ 10.r” root="2. 16 B40. 1 113883 3,489, 2. 1. 3. 27>
T 110 re Tdentificetion Sumber of the Report %hich Ie Linked to This Report (repeat as necessary)
oontrolAotEvent
</subject0tir
Yfrelatedinvestigation?
<SoutboundRelaticnshipd
{puthoundRelationship typelode="SPRT™
<relatedinvestigation classCode="TNVSTG" moodCode="EV
<code nnllFlsvor="Na"/>
“sub jectOf2 typeCoade="SUB] >
{eontrolaetBvent clussCodem CACT” mondCodes"FYN"»

L3 M



=", 16 540, 1, 113883, 5. 989. 2. .3, 27>
e €510 rt ldentification Number of the Report Which Iy Linked to this Beport {repest as neccessary) #2 —>
rontroldcotEvents
</sub jectOfT>
<relatedinvestigstiond
<Soutboundlelationshipy
<steh jectOf] typeCode="SUBRI" >
coontrolActBvent clagsCode="CACT™ moodCode="EVN">
<anther typeCode="AHT >
{sssipnedEntity clazsCode="ASSIGNED >
<{addr>
(strectiddressbine’C 3.4 14/ streetAddresst ine?
o £03.4,10 Sender' s Street dddress -3
feitysC 304 24 ety
<l €842 Zender’ = City ——>
Cstatesl 3.4, 3{/stated

“id extension=" 1 1 v Too

e

C3.4.30 Sender’s State or Province —»
<Saddr
‘assignedPersen olassCode="PSN" determinerCode=" JNSTANCE  »
“name >
<prefis»C 303 24/ prefiny
Clee (UF03020 Sender’s Title 3
<givenrl, 303 3 giveny
- 0 3.3.3 Sendey' = Given Name -->
A4 givend

I 47 Sender’ s Middle Xeme —>
family> 3 3 54/ Family)
W 0030305 Sender’ s Family Name -~
< ngme
caslocatedEntity classCode="LOCE™>
lacatios classCode="COUNTRY” determinerCode=" INSTANCE™>
<eade code="C0 3 48" codeSyatems" 1 0. 3166, 12274
P €34, 5 Sender’ s Country Code —»
“/location?
LocatedEntity?

assighedPerson>
{representedirganization classCode="0RG” determinerCode="INSTANCE™>
24 fmasme >
21 Sender s Organisation ——»
represantedirgani zation?
<fassignedBptitys
Fauthor>
</eontrolhotEvent>
CAsub jeatOF iy
<subjectOll typelode="SUB]">
<contrelactEvent c¢lassCode " CACT" moodCode="EVN">
<id assigningAsthorityName="C. 1. % ). r. 17 extension="C. L 4. 1. £. 27 root="2 16. 840, 1. L1388 3 989, 2. 1.3,
e CoL 8 L b Sourcel(s) of the Case Identifier {(repest ss necessary) Bl — ¥
e LG 1 r 2 0 Fdentifier{s) #1 —>
CFeontralbctEvent?
<SsubjectGri
Cpuhjectifl typeCodes
<oontrolictEvent classCod

SR
e="CACT" moodCodes
<id assigninghuthorivydame="C L9 L r. 17 extension="C. 1. 9.1, £.27 root="2, 16. 840. 1, 1138833 489, 2. 1. 4 37/
b= CoRL9 Ly 1. Source(s) of the &
o L1001y 2 Cage fdentifier(s

<eontrolactBvent>

: Tdentifier {repeal ag necessaryl 52 —>

<Ssub

i de="SURTT >

<investigationCharacteristic classCode="0BS" moodCode="FEVN">

Ceode coder)” codeSysten="2, 16 246 1. 113883, 3. 689, 2. 1. L. 22”7 displayName="ichRepariTyne” /s
137 codeSysten="2 16, B40. 1 113883 3 980, 2. 1. 1. 27/

E" codes

alue xsiitypes”
- {13 Yype of Report -->
(HinvestigationCharacterisrie>
</sub ject(f2
<subject0f2 tvpeCode="SUB]">
<investipgationCharacleristic classCode="0RS” moodCode="FYN">
<code code="2" codeSysten="2, 16, 840, 1. 113883 3, 989. 2. 1. 1. 237 dispiayName="ntherCaselds”/>
<value xsittype= BLY value="true” />

hee COLA0L Other Case fderntifiers in Previous Trapsmissions —->
<JinvestigationCharacteristicy
</subjectf2>
Csubject0F2 typeCode="SLB]" >
CinvestigationCharacleristic classCode="OBS™ moodCode="EVN">
{code code=" 3" codeSystem="2, 16, 840, 1. 113883 3. 8892, 1. 1. 23" displayNames"nullificationimendmentCoda” /5




Zvplne xsiitypes CE7 eode="C. 1 11,17 codeSystem="2. 16, 840, 1. 113883, 3. 585, 2. 1. 1. 57/>
Che- COL YL Report Nullifiestion / Amendment --»
investigationUharacteristic?
¢/ sub feci T2
stth jeetOf2 typeCode="SURY >
CinvestigationCharacteristic classCode="0BS" moodCode="E¥N™>
Coode code="47 codeSysterns T2, 16, G40 £ 113884, 3. 689, 2. 1. 1. 25”7 displayName="nullificationAmendmentkeason” />
<value asiltypes"CE™>
Coriginalfext>C. 1 1L 2 /originalText)y
- G0F 14,20 Reason for Nullification / Amendment -->
Civalw

jaticy

<AinvestigationCharacte
O sub jectOf2>
<subjectF2 typeCodes"SHR]"

<invesiigalionCharacteristic classCode="0BS" moodCode="EVN">
feSystewm="2. 16, 840, 1, 113883, 3.989. 5. 1. 3. 2. 1. 127 displayName="RREI3EE (84 45E "o
<embue wsiitype="CE" code="J2 Ia" codeSvstens"2 146, 840, 1. 113883, 3. 089.5. 1. 3. 2. 1. 17/
GREIZ. Sa HRBE S (B

“/investigationCharacteristic?
<Fsub et
Caub jectQf? typell

dinvestigat tond

<code codes

feode code=T1 o

LR >

cterintic olassCodes"0BS" moodCode="EVN">

26 B0 1 TI3RBI 3 888 5 1 3.2 10127 displayNane=" @ ERB 170
<vajue xsitypes TS value=" 200301077
e @@BY2 2 T WEAERE -

<AinvestigationCharacteristicy
<fsubjeciOF2y
Csub jectOfE LypeCodes

codedyatel

TSUBS
CinvestigationCharac 2 eluseCode="0BS” moodCode="FVN">
16840, 1 113883, 2 989 5, 1.3, 2. 1. 127 displayName=" @& EB N BT 5042}/
<value Wsiltypew 3.2 value>
e BReIZ 2 2 WERBRUETAD AL F
<JinvestigationCharacteristic)
<AaubjectOEa>
investigationEvent>

<eade codesT37 cod

</eubjec

<foomtroldetProsess>y
<APORRINO4801E
<A Message 81 -2

e Hessoge #2 -0
<o PORR_INO49OLGLYV -
e JPORR_INOSOIGUV <>

o X
r B e

er typelode="

Code determinerCodes” SNSTANCE™

Cid oextension= N 1 47 roct="2 16 8401 113883, 3. 984, 2. 1. 3. 147/
<hbee NODo4D Batch Keeeiver Bdentifier -3

“/devic

“device cl

“lrecelvery
Csender typelod

{devive clas
<id extension= N 137 ro
<te= N30 Bateh Sender [dentifier =

cldevice

<Frendery
CAMCEY INZOOTO0VOT:



XMLBRA A& A (4

<Txwl version="1 07 enceding="UTE-8"

<MOCT IN200TODUVOE 1TSVersion="¥ML_1.0" xsi schemslocatiion="urn hlT-crgivd MCCL_TH2O0100UVOL, 2sd” xmlns="urn hil-org:vid”

2001/ XML Sehema-instapee” >
Cid extensions TN L 27 root="E 16,840, ). LI3REN. 3 8809 2. 1.3, 227/
Chee NOT20 Bateh Nomber o>
<ereationTime value="201012141016177/>
<Hee N1 050 Date of Bateh Transmission -3

<respenseModeCade code="D"/0

“interactionld extension="MCCI_INZODIGOUVOL™ root="Z. 16, 840, L 113883.1.87/>
1R, 84004, {13883 3. 980, 2. 1.1, 317/ »

v Bateh >

{nmme codes N, 317 codeSyste

o= WO 10 Tvpe af Messages

e Ppssage Bl - v

<PORK FNOSOGTE0V
Sid exrension="N 2 v 17 root="2 16 840, 1. 113883, 3 888, 2. 1. 3. 17
Sl W2 v b Message ldentifier —>
CereationTime values"201012141016377,

Clee NV 2ov, 40 Date of Message Creation -3

actionld extension="FORE_INOASOISENY" reot="2, 16, &4}, 1, 113885 L &7/

‘processingCode code="P7 />

‘processingdodeCode cade="T"/7

‘ f'odih’é”f\l,’

finte

="RCV™ >
Cdevice o ]awtnde “HEVY determinerCode="INSTANCE >
Cid entensions TN 2 r 37 roei=T20 16, 8400 4 VIABRE. 3U9RG, 201030127

g

2 v 37 Hessage Reneiver Ientifier >
Gdevices
Areceivers
Csender typeCode="SND™
ddevice clussCode="DEV” determinerCode=" INSTANCE” >
Sid extensien= "N 2or 27 root=TR UG R0 L DISBRD 30080 20 3117/
T

age Sender Jdentifier -2

<Adevion:

< /sender?
controiAciProcess ¢lassCodes CACT™ moodCade="EVN":
Cende codes PORR_TROAQDIEINT codeSystems"2 16 B4D. L 113883 1 18"
Cle HET Trigger Bvent 1B >
<affectiveTime value="203012 41516177 />
EE T (o 3

Jinvestigationfvent class =" TNVSTG” moodCode="EVN"*
<id extensten="C. L 17 root="0 16, 840, b 113883, 3.989. 2. 1. 3. 17
Sl 01000 Sender’ ¢ (case) Safety Report Unigoe Pdentifier —>
<id exiensions 001 817 root="2 16 840, 1 113883, 3, 989, 2. 1. 3,27
<lee U181 Worldwide Unique Case Ldentification Number --»
21T yoot=TE BSR40 L LIB88Y 20885 1 3 2.3 175
RS (8 >

<id extension
(SRS IV

Ceode codes"TAT_ADV_EVRT” codeSystear="2. 16, 540, 1. 113883, 5,47/
(lz'xi ML ext

antive” />
Chee @EEJ2. T HT. RFTWTES -0
Ceffectivelime>
<laow valae="200801017 />
al=- ) 47 Date Report Was First Received from Source —>
<effectiveTime>
CavatlabilityTime value="20000101"/>
0.5 Ddte of Most Rervent Infermation for This Report —>
<reference tvpeCode="REFR™>
Cdoenment olassCnde="DOC” mosdCode="EVN">
‘eode codes"2"
ttext medisTypes"application/pdf” representation="B84">C. 4. r. 2</text>
<= o4 r 20 Included Bociments #1 -3
thlmg]aphzri}eﬁgﬂarwn%xlx' 4. r. 1</kibliagraphiclesignationTexts
; L4 r. 1! Literafure Feference(s) #1 -
<p<sri1( ipatioh tvpelodas"ALT >
<assignedBrtity classCode="ASSIGNED™Y
{representedirganizetion clagsCodes"0RG™ determinerfnde="INSTANCE™>
<aslocatedBintity classCode="LOCE":
“location olassCode="COUNTRY™ determinerCode="INSTANCE™:
{epde codem” J2.15. r" codeSystem="1. 0. 3166, 1. 2. 2" />
P GEEJ2. 15 r 103 # -
‘location?

[R5

/ ocatedEntityy
</representedOrganization:
{Sassignedfatity>

codeSystem="2, 16, 840, L. 133853, 3. 089 2. 1, 1. 27" displayName="}iteratureleference

ative Includieg Cliniesl Ceurse, Therspeutic Measuves, Ouicome and Additionsl Relevant

"

=Wty flwwe, w3 org)



</participationl
</document >
referencer
¢reference typefode="REFR™>
<document classCode="BOC" moodCodes"EYN">
<code code="2" codeSysten="2. 16, 840. ;. 113883, 3. 989, 2. 1. 1. 27" displayName="literatureReference™
<teat mediaType="application/pdf” representation="RE470C 4 r 2/ text)
<I-= €. 4.r 20 Inciuded Documents 2 -5
<bibliographicBesignationText?C 4. r 1</bibliographicDesignationText?
<l== ¢ 4. r 1: Litersture Reference(s) #2 —->
Cparticipation typeCode="AUT":
Zagsignedintity classCodes ASSIGNED™Y
{representedOrpganization classCode="0RG" determinerCode="TNSTA!
aslocatedfntity classCode="LOCE™>
Cocation classCode="COUNTRY” determinerCode="INSTANCE >
<eode code="J2. 15, v codeSystem="1. 0, 3166, 1.2. 275
Cle— BRETZ. VA v LYMTR HE -
</lovation>

“SaslocatedEntity>
{representedOrganization)
FassipgnedEntityd
{fparticipation>
<Fdocument>
</reference>
<compoRent trpelodes"COMPT>
<{adversefventAssessment classCode="INVSTG™ moodCode="EVN">
{subjeet! typelode="SB]7>
primaryRole classCode="TNVERI">
‘plaverl classCode="FSN" determinerfodes
<subjectOfl typeCade="SE)">
“researchStudy claszCode="CLNTRL” mocdfode="FEVN">
4id extension=".5 37 root="2. 16, 840, 1. 11388%. 3. 989.2. 1. 3. 57>
A== (8 30 Spossor Study Number -
<eode code="C. 5,47 codeSystem="2. 16, $40 1 VI38ET. 3,980, 2,1 1. 874
C.5 40 Study Type Where Reaction{s) / Bvent(s} Were Observed -->
CtitlesC. 5 2</tities
o €K 20 Study Name -

an tvpelode="AUTHT>
teh tyvpeloas= aldl 2

LHSTANCE" 3

Latthey
{studyRegistration classCode= 8T maodCos EVN">

Cid extensionm 05 L or 17 roor="d 16 8401 TI3BA3. 3 BHS 21 3 670

Sl 0B L v b0 Study Registration Mumber #1 —>

<auther typeCode="AUT">

CterritorialAuvthority classCode="TERR">

classCode="CONTRY” determinerCod
1or. 27 rodeSystens" 1, 0, 3166, 1.
Study Repistration Country #1 >

= INSTANCE >

oy

<governinglla

<eade code=
e COB Lr 20
<governingPlace>
<Aterritorialhuthority?
muthory
{studyRegistrations
<Sauthorizstiony
Cantharization typelode="AUTH">
<studyRegistration classCode="ACT™ moadCode="EVN">
Gid extension="C.5 1, v 17 roer="2 16 840, L 113683 3. 689, 2. 1 367
-
Cauthor typeCode="ALT">
“territoriatiuthority olassCode="TERR™>
<governingPlace classCode="COUNTRY” determinerCode=" INSTANCE™>
<onde code="C. 5. 1. r. 27 cndeSystem="1. 0. 3166, 1. 2. 2"/
Clew €05, 301, 20 Study Registration Country §2 -->
SgoverningPlacer
<Fterritorialhuthority>

Cborod Study Registration Mumber 22 —>

</author?
/studvRegistration?
</autherizaticn?
<fresearchStudy>
<subjectDiis
<subject0F2 typelode="SB]">
<{otganizer clanssCode="CATEGORY” moodCode="EVN™>

Zeode codes" 47 codeSysten= 2 16, 840, 1. F13883, 3.688.2. 1. 1. 207 displiayNames"drugintormtion™ >

<b— 6.k Drug{s) Information (repeat sz necessary) £1 —
Ceomponent typelode="COMP™
{substanceAdministration classCodes"SHADM” moodCade="EVN">
<id reot="3cHibddi—o039-4aTa Yo i0-6767 10 0ed”
Ceonsumabie typeCoden (s




<instanceOfKind classCode=" IRST" >
<kinddfProdoct classCode="MMAT” determinerCode="KIND">
Cende code="6 k. 2.1 1b" codeSystem="TRD-MPID"/>
A== 6k 2.5 1k Medicinal Product Identifier (MPID} &I »->
<namedG. k. 2. 2</ name>
- 6k 2.2 Medicinal Product Mame as Reparted by rhe Primary Souvce #
<ssManufacturedProduct classCode="MANL">
<sith jectOf typeCode="SB]7>
<approval classCode="CNTRCT™ moodCode="FEVN"»
cid extension="G. k. 3. 17 roct="2 16 B40. 1 FIGBRA. 3 GR5. 2.5, 3. 474>
cl-— 6% 3.1 Authorisation / Application Number #1 -->
Canthor typefode="AUT">
{territorialAutherity classCode="TERE™>
Gerritory classCode="NAT™ determinerCodes" INSTANCE
{oode code="G b 327 codeSysten="1 0, 3166 1.
e 6ok 3020 Comntry of Authorisation ¢ Applicatsian 81 )
{territory?
<territerialAvthority>

{JSauthoy>
<pertinentinformation typeCodes"PERT™>
{policy claseCode="POLICY” moadCodes E¥N">
Ceade cades"J25. %7 codeSysten=TZ 16, 840 L FIIARS 1 U8B 51 .01 4TS
e @652, 5k - HRRIERES O U R AW 81 o
policys
{pertinentinformationd

¥

</appraval’
</subjectOf)
<subjectOf typeCode="5Bi™>
ssCode="0BS" moodCoda="EV)
"2 16, B40. ). 11388
cadeSystem
Gy L o-eX

<characteris

GRY, 5. 1.3 2.1 107 displayName="
“OO16. B4DL ] P13HR3. 39895 14 2 1

EAn B RIS
o

<epde eade="1" codeSysie

<value wsitypes"CE” code
ho- @RE)2. 4k ISR
</eharacteristic
< /subjectGfy
<JasManufacturedProduct>
CagSpecializedKind classCode="GEN">
<generalizadaterialkind claseCodem"MAT" determinerCades"KINp™>

(e @@]2 12
<Sende?

<Sgeneralizediateriallind
</ssSpecializedKind>
Cingredient ciassCode="ACTY™D

<inpredientSubstance classCode="MMAT determinerCode="KIND™>
<eode code="6. k.2, 3 r. 2b" codeSystem="TRD-Substance” />
Ko Goko203 1, 20 Substance / Specified Substance TermlD #1-1 --
Cname>( k. 203 v 1< name>
- Gk 204 1 1 Substance / Specified Substance Name 3F-f >

</ingredientSubstance’
“/ingredient?
Cingredient classCode="ACT1™>
{pgredientSubstance classCode"MMAT” determinerCodes"KINE™>
eide code="6. k. 2 3or 27 codeSysten="TRI-Substance” /s
e GUkoZUA 1. 2h Substance S Specified Substance TermlD R1-2
CnsmedG, k. 203 r D name>
Chee Goko2,3 v, 10 Subgtance / Specified Substance Mame H{-9 - >
</ingredientSubsiance)

fingredient>
</kindOfProduet?
<subjecttf typeCade="SB] >
CobservationEvent classCode="0BS" moodCode="EVN">
<eode code="0" codeSystew="2. 16 840, 1. FTBRA. 3,989, 5. 1. 3. 2. 1. 107 dispiayName="— ¥
Cvalue wsiitype="CE7 cades"J2 6. k7 codeSystem="2 16,8401 113883, 2.980.5. 1.3.2. 1.7
<A BBRY2. 6.k - RAEESONFRE B
</observationEvent>
<subjectOf>
Jfinstapce0f¥ind>

</oonsumabled
</substanceAdministratinn
< /component >
<Snrganizer?
<SsuhjectOf2y
<subject0f2 typeCode="SBJ]">
CATEGORY™ mondCode="EVN™>

<prganizer elassCode



<eode codes”17 codeSysten="2 16 8401, TIA883. 3982 5 1.3 2.1 117 displayName="THBROMIE" />
Cecupohent typeCodes"COMP" >
{observation classCode="OHS™ maodCode="EVN">
{code code="7" codeSystem="2. L6, 840. 1, 1}38H3 3. 980, 5. 1.3, 2. 1. 107 displavName="FHHBIE" />
cyalue xsiitype="INT" value="1"/>
e BBEJ2 3v L KRIHEME BL -
observation?
<foomponent?
Teomponent typeCode="COMP™>
Cohservation classCode="0BS" moodCode="EVN™>
{vode code="8" codeSystem="2. 16, B40. 1. LI3SRS. 3 089 5.1 3.2, 1. 107 disployNeme="5t @I B"
{yalue gsi:types"BD72J2. 13 r. 24/ value>
- QE8T2. 13 r. 20 HEBEE 4
<Sobservation?
</component?
Ceomponent typeode=" COMP" >
<ohservation classCode="0BS” moodCode="EVN™>
<code code="9" codeSystem="2. 16,840, 1. 113883, 3. 989. 5. 1. 3. 2. L. 107 displayName="BRSR40" >
<value xsiitypes"CE” codon"J2 13, 1. 37 codeSystens 2 16 8400 L 13882 3. 989 5 1.1 2 L17H
<d-- @ee)z 13y 3 BRGEM 81 —
“/observation’
<feomponent?
Zeomponent UypeCode="COMP™>
“OBS” moodCode="EVYR™ >
yatem="2. 16, R40. 1 LI2RE3 2 9R0 5 1 3.2 1107 displavName=" M i o0 87
Cvalue xsittrpe="BL” value="true”/>
- EEI2 3 r 4 FRPOEROFE 3 >
</ohservation’
</eomponentr

<observation classCo
<ende eodes 107 eodes

CSarganizer>
</subject0r2>
<aub jectOf2 typelode="SRT"
<argapizer classCode="CATEGORY” moodCade="EVN">
“eode code="17 codeSystem="2. 15, 840, 1. [IS8BE. 3, 989, 5.1, 3. 2. 1. 117 displayName="fRBRoiae” >
<eomponent typeCode="COMP™
<observation classCode="0BS" moodCode="EVN™>
<code code="T" codeSystem="2, 16, 840, L. 1E3R83. 3, 989, 5 1.3, 2,
Svaliue xsilivpe™ INTT walusz"17/3
- B88T2. 13 v 1T BRHIEHE $2

{obaervationd

07 displavName="[HHiE$ "

<fcomponenty
<component typeCodes"COMP™>
(ohservation ¢lussCode="0BS” mondCode="EVN™>
teode codes"8" codeSystem="2, 16, 840, 1. TI38R3. 3, 080, 5. 1.3
<value xsiitypes"ED7>J2. 13, r. 2 value)
¢l BRBTE F3 v 2 RAREER 2 -

<Sebservation’

107 displayName="Rf R w70

=

<Aeomponent?
Jeomponent Typelndes COMPT
Cohservation classCode="0BS" mondCode="EVN™>
<eode code="8" codeSystem="2. 16, B40. 1. 113883, 5. 989, 5 1. 3 2. 1. 107 displaydame="TH5" >
<yalue gsitype="CE" code="32. 13 r. 37 codeSystem="2 16 840, 5, 113883, 3.989.5. 1.3.2. 1. 7"
<d-- BREJ2.15.r 30 PHEEM M2 -

<Sobservation

<Seomponent>
<component typeCode="COMP™
<ohservation classCode="0BS” mondCode="EVN™>»
<eode codes” 107 codeSystens 2. 16,840, 1 F13RE3. 3. 988, 5. 1. 5. 2. 1. 107 disp)layNeme="¥r# s oo fE il oo 4 87
“value xsiltvpe="BL” value="false”/>
Jo- #9812 13 r 4 BEADOESOEE & -
</ohservationr
<feomponent?
</organizer>
</subjectOfa>
primaryRole>
</subjectl>
<eomponentl typeCode="COMP™>
<abservationBvent classCodes 0BS” meodCode="FVN">
Ceode code=" 107 codeSysten="2, 16 840 { FI38R3. 2 688 2 1 1 197 dizplayNase="comment” />
<value xsiitype="EBT0H 4¢ valued
lew H 40 Sender’s Comments -=>
<suthor typeCode="AUT">
{assignedBniity clessCode="ASSIGHED™>
Yeode code="!" codeSystems"Y, 16846, 1. 113883, 3,084, 2. 1. 1. 217 displayName=" sender” />
<lassignedEntityy




<fauthor>
<fobaervationBvent>
</eomponent] >
<compohentl typeCodes"COMP"
{ohservationfvent classCode="0BS" moodCode=s"EVN">
<ende codem" 3" codeSystem="2, 16, 840, 1. 113882 3. 989 5.1, 3. 2.1, 107 displavName=
<value x51:type="FD">J2. 7. 2¢/value>
Ao BEAI2. 7.2 F

{fobservationfvent’

-5

<Seomponent>
<comporentl typeCode="COMP">
{observationEvent classCode="0BS™ mondlode="FVN">
Lende code="57 codeSystem="8 16 840, 1. LISRG3. 3. 089, 5. 1. 3. 2. 1. 14" displayNames™ £yl ts ™/ s
<value xsiltype="EB 22 Hid/value>
<l-- @ERJZ 10: HEORIE
{SebservationEvent
¢/eomponentl>
<camponent] tvpeCode="COMP™>
<observationfivent classCode="UBS" moodCode="FYN"x
“ende cndem 87 vodeSystemsZ. 16 840 1, TII8RE 3 6895, 1L 2 2. 1. 187 displayNames™ & ¢ hE & WIHE "
tvalue xsiitype="ED"3J2 11/ valued
- edgrz 1 EOMBEEHEY -

</ohservationBvent?

eompaneni]>
<eompanentl typeCodo=” COMP™>
{ohrervationfvent clas

Ceode code="12" codeSystem="2. 16, 8B40, |, LIBBRA. 3 989 5 E 3.2 1107 displayName=" 8 8r NG OB &0
<value xsitypes"RDJ2, 160/
- G882 16 BENEOEL -
</observationBvent>
“Sesmponent 1y
<SadverselventAssessment >
</component >
Cecmponent {ypeCode="COME" >
Cobservatio TOBS T moodCede="EVNTY
Coode code="237 codeSystem="Z. 16, 840 1. FI38E3. 3 989 2 1. 115" displayName="locallriteriaForfxpedited™ />
{vajue xsiiivpe="BL” value="true"/>
¢Vem 017t Doeg Thie

<fobservationBrent)

fvent classCodes

se Fulfil the

an Expadited Boport? -2

{Soomponent)
<outhovndRelationship typeCode="S¥RT™>
<relatedinvestigation classCode="TNVETG™ moodCode="EVN":
<eode vodes"1” codeSysten="2, 16 840 1 113883 8 888 2 ) 3. 227 dieplayNames"initialRepore”
<gubjectOi? typeCode="SUB]™ >
<controlActEvent classCode="CACT" mandCodes"EYN">
<author typeCode="AUT">
ZassignedEnlity classCodes"A8% >
Cende codes 18,27 codeSvetem="2. 16 840, 1. LISRAL 19892 11 870
Lo €01 B 20 First Sender of This Cuse 0
<SassignedEntityl
{fauther>
<feontrolActEvent)
{aubleetOf2y
<relatedinvestigationy

CouthoundRelationships
(outboundRelztionship typeCode="SPRT”
<relatedlnvestigation classCode="TNVSTG moodCode="EVN":
Ceade nullFlaver="NA"/
Csubject0fF2 typelode= "SR]
{controlActEvent classCode="CACT™ mondCode="EYN">
Od extension="C. 1 10.r” root="2. 16, 840. 1. 113883, 3.988.2.1.3 27/
A== €110 v: Hdentification Nimber of the Repori
</controlActEvent>
/subfectOf2>
<relatedinvestigation?

<authoundRelationships
CouthoundBelationship typeCade="SPRT" >
<relatedinvestigation classCode="INVSTE” mondCode="EVN"»
Coonds pullFlavor="HA"/>
<snb jectOf? typeCodes”SUBJ™ >
<contralActEvent classCede="CACT” mondCode="FVN"3
Cid extension="C 1 10, r7 roov="2 16, 848, 1 PIIRRE. 3,989 91,3, 275

<1-- € 3 10 ro Identification MNumber of the Repert ¥hich Js Linked to This Heport (repsst as necessary}

{foontrolActEventy
¢Ssub jectifer

FETILHTA2 A b")

hich Is Linked to This Report {repeat as necessary)

B

w2



srelatedInvestigation?
</outhoumdRelationship?
{subjectOFE typefode="SUR}">
<eontrolictEvent classCode="CACT™ moodCode="EVN™>
<author typeCode="all{">
<assignedEntity classCode="ASSTGNER">
<addr>
tstreetdddressline . 3 4, 1</ streethddre

Sender’ s ity ==
<rtaterC. 3, 4, 3¢/ stated
== 0.3 4.3 Sender’ s State or Frovince w0

Saddry
<assignedPerson olassCode="PSN" determinerCodes" INSTANCE™>
{name»
cprefiss( 303 A/ prefinG
<P 00303020 Sender's Title -

<given>(, 3. 3. 3</givend

AR 3 Sender’ s Given Name ¥
wglvensC 33 4 piveny
e £33 40 Sender’ s Middle Name -0

<family>C. 3.3 0 Tami iy

e €335 Sender’ s Family Name 3
</name?
"LOCE">
INTRY™ deterninerCodes " INSTANCE >
4,87 codeSysten="1. 0 3166, 1.2, 27/
wnder” s Cotntry Code -3

{astocastedEntity classC

{Incation classCode="
{eode codem"(
Loe 00345

<flocation?

</aslocatedEntity>

</assignedPersond
<representedOrganization clsssCode"ORG" determinerCode=" INSTANCE>
<hamerC, 3.9 name >
e 003000 Sender' s Organisation -
<frepresentedrganizationg
<JassignedEntityd
<Sauthor
{frontrolActEvepts
<fsubjectdfls
<subjectifl typeCode="SHBI™>
<controlictEvent classtod
£id assigninghuthorit
<l G189 0.y 10 Sourcels) of the
A== 0 L8 1 r 2 Case Ddentifier(s)
<SeentrolActfventy
</subjectl{1>
<subjectDfE typeCode="SUR]">
<eontroldetBvent classCodes"CACTT moodCode="EVN">
$id assigninghuthorityName="0 1. % 1 r 1" extepsion="C 1 9 1 ¢ ront="7. 16 840 1. 113883 3 989, 2. 1. 3 37>
Clew €18 1k 1 Source(s) of the Case ldenvifier (repeat as necessary) #2 -3
Cl-= 01,9 41 2 Case Tdentifier(s) 87 —»
rontrolhctEvent>
</subjectafls
<subject0f2 tyvpeCode="SUB]™ .
<investigationtharacteristic olassCnde="0BS” moodCode="EVN">
Lende code="17 codeSysten="2 14 840 1, 1 3,989 211 237 displayNames"ichReportType” /2
Cvalue xsiitype="{E7 code="C. 1 37 codeSysien="2. 16, 840, §. J1A8R3. 5. 989, 2. 1. 1. 274>
<l-—£.1.3 Type of Repart -->
<FinvestigationCharacteristic?
< sub jecetdf 2y
<subjectf? typeCodes"SIM]™>
CipvestigationCharacteristic classCode="0BS” mondCades"F¥N">
Coode code="2" codeSvstem="2, 16 540} FI3882, 3,980, 2 1 1. 237 dizplayName="ctherCazelds” />
‘vislue x5 type="BLY value="true” >

=72 16 BA0. 1. FIBREA. 3,989, 21,3 3"/

B >

1T extension="C0L G01r 20

se ldeptifisr {repeat as ne

<te- C.1.8.1 Other Case Tdentifiers in Previous Transmissions —>
</investigationCharacteristics
</sthjectOfZ>
<Cauh jee 2 vypelode="SUE]">
<investigationCharacteristic classCode="0B5" moodCnde="EVN™>
<code eode="1" codeSysten= 2 1A, 840, 1, TI38RA. 3, 989, 2. 1. 1. 287 displavName="npullificationinendmentCode”
<value xsiitvpe="CE" rode="C. 1. 1117 codeSysten="2. 16. 840, L 113883, 3. 988 2. 1. 1. 2"/
<= 1 LB Report Mullification / Amendment -
<FinvestigationCharvacteristicd
<Asub jeot{fz>

- § -



<suh jectOT? typeCode="SUR]">
<invastigationCharacteristic classCode="0BS" moadCode="E¥N">
(eode code="4" codeSvstem="2, 16, B4t P TI38R3. 3. 989 2.1, 1. 237 displayName="ncllificationdAmendmentReason” />
fvalue xeiltypes"CE">
<eriginalTexi>C. b H1.2<
s CO1FE 20 Reasen
valued

fginalTeaty

Mullification ¢ Amendment >

wfinvestigationCharacterisiie?
o/subjectlfay

storistic classCodes”OBS” moodCodes EVN">

§ TROLE S48 1 TIBEND 3 OEY.OS 13 2 1 127 displayNeses ESEEE SAAED U0

<waluve xsiltype="C odes” J2, 1a" codeSysten="2, 16, 540 1 [3388%. 3,988, 5, 1.2, 2. 1. 17/

@822 1a: R GRESH)
CinvestigationCharacteristio)

</sub ject0£2r

Csuhjectd Lypeln SHBF™>
<ipvestigationCharacteristic

e

teode codes Svstems

classCodes 0857 moodCo
ih B40. 1 13883 398G
201301077/

Ceode codes "2 2" displayNeme="3{4RB R/
<ymlue wsiitype="TS™ walu
oo gl gt WEERER

</investipationCharacteristic)

CSsubjoctBT

“subjectf? typeCode="3URJ

<investigationCharacteristic olasstode="0B5" moodCode"F
<eode code="3" codeSvstemsT2. 16 8B40, 1 L13ERT 3. GG
Cealue xsitype="EDTR1E 2 2 valned
<he @RBYD. BHREHIIEY 22 b
<investigationCharacteristicy
<fsubjectOf2>
CsubjectOF2 tyneCode="SHR}™>
CinvestigationCharacier i

codeSyste

s classCode="DBS" moodCades="FEYN">
16, 8B40, 1 PI3BR3. 3989, 5.1, 3. 2. 1. 127 displayName="HibF@E -7 5 775
3 16, B40. 1, TRI8B3 3. 8895, 1.8 2 [ 270

<cade co

cvalue xsiltvpe="CE" =
CI-- BEATR. 3 ENEEELEE T E 0 -
investigationCharacteristic?
<Ssubjectdf 2>
<investigationEventy

<Auuhject?

</eontrolActProcesss
</PORR_ING49016
<= Message #1 >
Lo Megsa : -
ol PORRINOAGOIERY —>
«i-— /PORR_ING4G016UY
Cbe- Message #2 -0
‘receiver bvpeCode="RCY">

<device classCode="DEY" determinerCode="TNSTANC

“id extension= "N L. 47 roo1="2. 16, 840 1. T138E3, 3 488, 2. 1. 3. 147 />
<o ML 40 Batch Receiver Tdentifior --3
¢Adevice?

<freceiver)
Csender typeCode>"SND™ >
Cdevice olassCode="DEV" determinerCode=" INSTANCE" S
<id extension="No L 37 root="2 B6.B40. 1, 113889 5 8862 131870
CHem W30 Bateh Sender dentifier -3

SMCCT N0 00INVGE >



AL 4

EAREE AT LAEER T - 2TEE (JIHE) OB

£ %ﬁ}iﬁj J

ABEEHBEES (1 ..

B HHEA %0<%* ﬁ

ok RS BIRE S L 0T o @ESEA IR U TRET 5.

7 A 2A

P E B 5 2R

XPath /MOCT_IN200100UV0H@ITSVersion="XML_1.01l@xsi:schemal.ocation="urn:h17-

orgvd

MCCI_IN200100UV01.xsd'J/PORR_IN049016UV]rl/controlActProcessf@classCod
e="CACT l@moodCode="EVN'l/subjectl@typeCode="SUBJ'}[1/investigationEvent
[@classCode=INVSTG l{@moodCode="FEVN'//subjectOf2l@typeCode='SUBJ'Hinve
stigationCharacteristic/code[@code="1Tl@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1. 12711 )investigationCharacteristicl@classCode='"OBS T@mood Code="EVN'

Wvaluel@xsiitype="CE'}l@codeSystem='2.16.840.1.113883.3.989.5.1.3.2. 1. 1 H@code

J2.1b BRIEE (B

HetgE s L 7”_“"%@]%573 e B

THH

SELE B MoV T, BTHE  RETREONMIEL LT, SWLT A, £n. B
,,,,, év%zi;.i Bz o Tid, A E L RBIE S 28T 5, BT #E, R THE T
DT LT H-- RS, KBER 2R E T2 22 2 L RIS L DRBRET
D E L > CEMET ERD

7= 8N

FRAE ML

XPath /MCCI_IN200100UV01{@I TS Version='XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd I/PORR_IN049016UVlrl/controlActProcessl@classCod
e="CACT'[@moodCode="EVN/subject/@typeCode="SUBJ H1}/investigation Event
[@classCode="INVSTG' [@mood Code="EVN'|Ad|@root="2.16.840.1.113883.3.989 5.

1.3.2.3.1'l[1)/@extension
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XPath MCCI_IN2001000UV01@ITSVersion='XML_1.01[@xsi'schemal.ocation="urn:hl7-
orgv3 ‘
MCCI IN200100UVO01L.xsd I/PORR_IN045016UV[r/controlActProcessl@class Cod
e='CACT'l@mood Code="EVN/subject{@typeCode="SUBJ ][ 1}//investigationFvent
[@classCode="TNVSTG H@moodCode="EVNV/subjectOf2{@type Code="SUBJ Hinve
stigationCharacteristic/codel@code="2"l[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1. 1291 ¥investigationCharacteristic[@classCode="OBS'H@mood Code="EVN'
valuel@xsi: type*"]"S']/@value,
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XPath /MCCE IN200100UVO1[@ITSVersion="XML_1.0%l@xsi:schemalocation=urn:hl7-
orgvd

MCCI_IN200100UV01.xsd' VPORR_IN049016UV[rl/controlActProcessl@class Cod
e='CACT ll@moodCode="EVN'l/subjectl@typeCode="SUBJ1[ 1 }/investigationEvent
f@classCode="INVSTG H@moodCode="EVN'/subjectOf2[@type Code="SUBJ Hinve
stigationCharacteristic/codel@code="3'][@codeSystem="'2.16.840.1.113883.3.989.5.
1.3.2.1.121]11)AAnvestigationCharacteristicl@classCode="0OBS 1 @mood Code="EVN'
Vvaluel@xsitype='ED/text(
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XPath /MCCI_IN200100UV01@ITSVersion="XML_1.0'[@xsi:schemaLlocation="urn:hl7-
orgvs
MCCT_IN200100UV01.xsd')/PORR_IN049016UV{rl/controlActProcessl@classCod
e="CACT' ll@mood Code="EVN'l/subjectl@typeCode="SUBJ'H 1)/investigationEvent
[@classCode="INVSTG H@mood Code="EVN'l/subjectOf2|@typeCode='"SUBJ Hinve
stigationCharacteristic/codel@code="4'[@codeSystem="'2.16.840.1.113883.3.989.5.
1.3.2.1.12'11VinvestigationCharacteristicl@classCode="OBS'jl@moodCode="EVN'
]/Vﬁlue[@xsjitypez'CE'][@codeSystemZ'Q.16.840.1.1.13888.3.989.5.1.3.2.],.2']."@(30(16
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XPath /MCCT_IN2001000UVO@ITSVersion="XML._1.0'lH@xsi:schemal.ocation="urn:hl7-

Orgv3
MCCI_IN200100UV01.xsd'/PORR_IN049016UVlr)/controlAct Process|@classCod
e='CACT'l@moodCode="EVN'|/subject[/@typeCode="SUBJ' || 1]/investigationEvent
[@classCode=INVSTG l@moodCode="EVNl/componentl@type Code='COMP'[adv
erseFventAssessment]{1)/adverseEventAssessmentl@classCode="INVSTG l@mo
odCode='EVNsubject 1[@typeCode="SBJ'[ 1}/primaryRole[@classCode="TNVSBJ'
IsubjectOf2l@typeCode="SBJ Horganizer/codel@code="4'"H@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'l[{1Vorganizer[@classCode="CATEGORY 'l[@mood Code='E
VN'component{@typeCode="COMP'|[substanceAdministration/id[k]/substanceA
dministration]l@classCode='SBADM'l[@moodCode="EVN'Vconsumable[@typeCode
='CSM'H 1 VinstanceOfKindl@classCode="INST' Vkind Of Productl@classCode=MM
AT'Nl@determinerCode="KIND'VasManufacturedProducti@classCode="MANUJ/su
bieetOfl@typeCode='"SBd ' Ncharacteristicll 1}/characteristiclecodel@code='1'[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1. 10'}[1]l@classCode="0OBS | {@mood Cod
e="EVN'valuel@xsi-type='CE Ha@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3'l/@code
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'H@xsi'schemalocation="urn:hl7-
org-va
MCCI_IN200100UV0L.xsd'VPORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT'{@moodCode="EVN'Vsubjecti@typeCode='"SUBJ M 11/investigationEvent
[@classCode='INVSTGl@mood Code="EVN'//componentl@type Code="COMP'Hady
erseEventAssessment}1]/adversefiventAssessmentl@classCode=INVSTG [@mo

- 0dCode="EVN'"/subject 1l@typeCode="SBJ'H 1 /primaryRolel@classCode="TNVSE.J

VsubjectOf2{@type Code="SBJ'{organizer/codel@code="4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'1{ 1)/organizerl@classCode="CATEGORY 'l[@mood Code='E
VN'Veomponent[@typeCode='"COMP'l[substanceAdministration/id] k}/substanceA
dministration{@classCode="SBADM'{@moodCode="EVN'l/consumablel@type Code
='CSM'}[1}instance OfKindl@classCode="INST'VkindOfProduct]@classCode="MM
AT'|@determinerCode="KIND'l/asManufacturedProductl@classCode=MANU/su
bjectOfl@typeCode="SBJ'Happrovalll1)/approvall@classCode='CNTRCT H[@mood
Code="EVN'/pertinentInformation[@type Code="PERT][1)/policyl@classCode="PO
LICY'H@mood Code='"EVN'Vcodel@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
4'Y@code
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XPath

(value)

/MCCI_IN200100UVO01[@ITSVersion="XML_1.0@xsi:schemalocation="urn:hl7-
orgiva

MCCI_IN200100UV01.xsd'I/PORR_IN049016UVIr)/control ActProcessl@classCod
e="CACTH@moodCode=EVN"/subjecti@type Code='"SUBJ'H1)/investigationEvent
[@classCode="INVSTGl@moodCode='"EVN'Veomponentli@type Code="COMP'Hadv
erseEventAssessment][1}//adverseEventAssessment|@classCode=TNVSTG H@mo
0dCode="EVN'l/subject 1 [@typeCode="SBJ'{ 1}/primaryRolel@classCode="INVSBJ'
I/subjectOf2[@typeCode='SBd [{organizer/codel@code="4"} {@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'H{1Vorganizerl@classCode="CATEGORY 'H@mood Code='F,
VN'l/componentl@typeCode='"COMP'l[substanceAdministration/id][kl/substanceA
dministration[@classCode="SBADM H@moodCode="EVN'/consumablel@typeCode
| ='CSM'I[1VinstanceOfKind{@classCode="INST'}V/subjectOf{@type Code='SBJ'l/obse
rvationEventlcode[@code='2@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
J1ll@classCode='0OBS T @mood Code="EVN Jivaluel@xsitype='"CEll@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'l/@code

XPath
(null

flavor)

/MCCI_IN2006100UV0H@ITSVersion="XML_1.0'{@xsi:schemal.ocation="urn:hl7-
orgiva
MCCI_IN200100UV01.xsd'/PORR_IN049016UVIrlcontrolActProcessf@eclassCod
e="CACT/[@mood Code="EVN'l/subject|@type Code="SUBJ [ 1}/investigationEvent
l@classCode="INVSTG H@moodCode="EVN'|/componentl@typeCode='"COMP'Hadv
erseBventAssessment]i1]/adverseEventAssessmentl@classCode=TNVSTG  [@mo
odCode="EVN'V/subject l{@typeCode="SBJ | 1}/primaryRolel@class Code="TNVSB.J'
VsubjectOf2l@type Code='"SBJ'Horganizer/codel@code="4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'H[1}/organizerl@classCode="CATEGORY @mood Code='E
VN'l/componentl@typeCode="COMP'}HsubstanceAdministration/idl{ 1)/substanceA
dministrationl@classCode="SBADM'H@moodCode="EVN"/consumablel@typeCode
='CSM'H1¥VinstanceOfKindl@classCode="INST'}/subjectOfl@type Code='SBJ l/obse
rvationEventlcodel@code="2"@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1. 10"
I l@classCode="0OBSTH@moodCode="EVN'l/valuel@xsi type="CEH@codeSystem

='2.16.840.1.113883.3.989.5.1.3.2.1.5)/@nullFlavor
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XPath /IMCCT_IN200100UVO1@ITSVersion="XMIL_1.0'H@xsi'schemalocation="urn:hi7-
orgivd
MCCI_IN200100UV01.xsd' I/PORR_IN049016UV{r}/controlActProcessl@classCod
e="CACT[@moodCode="EVN'Vsubjectl@typeCode="SUBJ'{[1)/investigationEvent
[@classCode=TNVSTG l@moodCode="EVN'l/statusCode/@code
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XPath /MCCI_IN200100UV01{@ITSVersion="XML._1.0'{@xsi‘schemalocation="urn:hl7-
orgvy
MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcess|@classCod
e='"CACTN@moodCode="EVNVsubjectl@typeCode='"SUBJ {1 VinvestigationEvent
[dclassCode="TNVSTG [@moodCode="EVN'l/componentl@typeCode='COMP'}[adv
ersefiventAssessmentl 1//adverse BventAssessment[@classCode='TNVSTG [{@mo
odCode="EVNY/component@typeCode='COMP'{observationEventlcodel@code='
3'll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'N}{1)/observationEventl@c
lass(,ode“OBS ]f@mood( ode='EVN/valuel@xsitype="ED) Ut"mct(}
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XPath /MCCI_IN200100UV01@ITSVersion="XML_1.0%[@xsi:schemal.ocation="urn:hl7-
orgivy
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVir)/controlActProcessl@classCod
e='CACT[@moodCode="EVN'/subjecti@typeCode="SUBJ {1 V/investigationEvent
[@classCode="INVSTG l@mood Code="EVN'l/subjectOf2|@typeCode="SUBJ [linve
stigationCharacteristic/codel@code="5'l{@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1. 1211 VinvestigationCharacteristicl@classCede='OBS Hl@mood Code="EVN'
Ivaluel@xsitype='"CE@codeSystem='2.16.840.1.113883.3. 989‘5.1.3.2.].6]/C}code
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XPath /MCCI_IN200100U V01 {@ITSVersion="XM1,_1.0'{@xsi:schemalocation="urn:hi7-
orgvid

MCCT_IN2001000UV01.xsd'/PORR_IN049016UV|rl/controlActProcessl@classCod
e='CACT'{@moodCode="EVN'/subject{@typeCode="SUBJ{1)/investigationEvent
l@classCode="INVSTG H@mood Code="EVN'lsubject Of2[@typeCode='"SUBJ Hinve
stigationCharacteristic/codel@code='6'll@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.12'1}1 1 V/investigationCharacteristic/@classCode="OBS'[@moodCode="EVN'
Ivaluel@xsitype="ED'|/text()
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XPath MCCT_IN200100UV0 1 [@ITSVersion="XMIL._1.0'H@xsi'schemalocation="urn:hl7-
orgvi

MCCI_IN200100UV01.xsd I/PORR_IN049016UVIrl/control ActProcessl@classCod
e='"CACT'H@moodCode="EVN'l/subject|@typeCode="SUBJ']{ Hfim}estigation KEvent
[@classCode="INVSTG' {@mood Cede="EVN'[/component[@type Code="COMP'}{adv
erseEventAssessmentl|1]/adverseEventAssessment|@classCode=INVSTG@mo

odCode="EVN'Veomponent1l@typeCode='COMP'{observationEventlcodel@code='
1l@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10'J1[1}/observationEvent]@e
lassCode='0BS'H@moodCode="EVN'lfvaluel@xsi:type="ED'text()
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'][@xsi:schemalocation='urn:hl7-

org'vi

MCCI_IN200100UV01.xsd' V/PORR_IN049016UV[r}/controlActProcessl@classCod
e="CACT']{@moodCode="EVN'{/subjectl@type Code="SUBJ [ 1 VinvestigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'l/componentl@typeCode="COMP'][adv
erseliventAssessmentll1l/adverseEventAssessment|@classCode=TNVSTG H@mo

odCode="EVN'l/component 1{@typeCode="COMP'l[observationEventlcodel@code=’
5'l@codeSystem="2.16.840.1.113883.3.989.5.1.3.2. 1. 10][1]/observationEventl@c
lassCode="0BS' [@moodCode="EVN']/valuel@xsi:type="ED")/text()
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XPath MCCI_IN200100UV0 @I TS Version="XM1, 1.0 @xsischemalocation="urn:hl7-

orgivad

MCCI_IN200100UV01.xsd'I'PORR_IN049016UV|x}/control ActProcessl@classCod
e='CACT@moodCode="EVNl/subjecti@type Code='SUBJ'[[1/investigationEvent
[@classCode="INVSTG'Hf@mood Code='"EVN'Vcomponenti@type Code='COMPHadv
erselventAssessmentl|1]/adverseFventAssessment|@elassCode='INVSTG H@mo

odCode="EVN'l/component1|@typeCode="COMPl{observationEvent|codel@code="
6'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]l{ 1 JfobservationEventl@c
lassCode="0B8'l@moodCode="EVN/valuel@xsi‘type="ED'I/text()
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XPath MCCI_IN200100UV01[@ITSVersion="XM1._1.0'{@xsi:schemalocation="urn:hl7-
org'va

MCCI_IN200100UV01.xsd'I/PORR_IN049016UVIr)/controlActProcessl@classCod
e='CACT|l@mood Code="EVN'}/subjectl@typeCode="SUBJ'H1)/investigationEvent
l@classCode="INVSTG'f@moodCode="EVN/componentl@typeCode='"COMP' Hadv
ersefiventAssessment]{1])/adverseEventAssessmentl@classCode=TNVSTG H@mo

odCode='"EVN'/subjectll@typeCode='SBJ [ 1]l/primaryRolel@classCode=TNVSRBJ'
i/subjectOf2f@typeCode='"SBJ'l [organizer/codel@code="4'{l@codeSystem='2.16.840.
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1.113883.3.989.2.1.1.20'1{{1}/organizerl@classCode='CATEGORY ll@mood Code="E
VN'V/eomponentl@typeCode='COMP'|[substanceAdministration/idl/substanceAd

ministration[@classCode='SBADM {@mood Code="EVN'H{consumable/instanceOf

Kind/kindOfProduct/asSpecializedKind/generalizedMaterial Kind/code/originalTe
xt]{1)/consumablel@typeCode="CSM' I 1}/instance OfKindl@classCode="INST")/kin
dOfProductl@classCode="MMAT {@determinerCode="KINDV/asSpecialized Kind[
@classCode='GEN'[ 1}/generalizedMaterialKindl@classCode="MAT][@determiner

Code="KIND'l/code/original Text/text()
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XPath /MCCI_IN200100UVO01[@I TS Version="XML,_1.0'l{@xsi:schemal.ocation="arn:hl7-
orgiva
MCCI_IN200100UV01.xsd'I/PORR_IN049016UVIrl/controlActProcessl@classCod
e="CACT@moodCode="EVN'l/subjectl@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG l@mood Code=FEVN'/component|@typeCode="COMP'|[adv
erseBventAssessment][1VadverseEventAssessment[@classCode="INVSTG'[@mo
odCode="EVN'/subject H{@typeCode="SBJ'l 1)/primaryRolel@classCode="INVSB.J'
lsubjectOf2[@type Code="SBJ Hlorganizer/codel@code='1"][@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1. 11'llIr}/organizeri@classCode="CATEGORY 'H@moodCode
=EVN'eomponent[@typeCode='"COMP/observation|@classCode='OBS'll@mood
Code="EVN'licodel@code="Tl[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2. 1. 10'
ivaluel@xsitype="INT’ ]/@Jvaiue '
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XPath /MCCI_IN200100UV01{@ITSVersion="XML_1.0'{@xsi:schemaLocation="urn:hl7-
orgwva

MCCI_IN200100UV01.xsd')//PORR_IN049016UVIrl/controlAct Processl@classCod
e='CACT'[@mood Code="FEVN'l/subject|@typeCode="SUBJ'|{1}/investigationEvent
{@classCode="INVSTG' [@moodCode="EVN')/component[@typeCode="COMP Hadv
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erselventAssessmentll1]/adverseBEventAssessment{@classCode='TNVSTG' [@mo
odCode="EVN'{/subject1l@typeCode="SBJ'l[1)/primaryRole[@classCode='TNVSBJ'
IisubjectOf2l@typeCode="SBJ Horganizer/code[@code="11l@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2. 1. 11'}Ir}/organizerl@classCode='"CATEGORY ' [@mood Code
='VN'l/component@typeCode="COMP')/observation|@classCode='"OBS'| [@mood

Code="EVN'l[codel@code='81{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'

]}/value[@xsiitypeﬁ'ED']/text()
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XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi'schemal.ocation="urn:hl7-
orgivs
MCCI_IN200100UV01.xsd'VPORR_IN049016UV(rl/control ActProcessl@classCod
e="CACT' [[@mood Code="EVN'l/subject[@type Code="SUBJ'I 1}/investigationEvent
[@classCode=TNVSTG @moodCode='"EVN/componentl@type Code='COMP'}Hadv
erseEventAssessmentl{1}/adverseEventAssessmentl@classCode="INVSTG l@mo
odCode="EVN[/isubject1[@typeCode="SBJ H1}/primaryRolel@classCode="INVSBJ'
isubjectOf2l@type Code="SBJ'lorganizer/codel@code='11@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2. 1. 11'l}[rJforganizerl@classCode='CATEGORY 'l{@mood Code
=EVN'l/componentf@typeCode='COMP'/observationl@classCode="ORS' H@mood
Code="EVN'llcodel@code="9'll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
I/valuel@xsitype="CE@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 7 V@cod
e

J2.13.r.4 BIEPOREHOH B

T H A SRR T O IR 4y A FR e 0)?&%»%0)7{5%%T i,

FE T i o R TrE7e < ;‘w/l/ﬂ‘”fﬁ*é%ﬁw\ BEIE TTrue=H] 4. V8B AE

False=M#| &8 R3 50 &,

T 7= 10A

FrEE true="4
false = #
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l@xsi:schemalocation="urn:hl7-
org:vi
MCCI_IN200100UV01.xsd' /PORR_IN048016UV{rl/controlActProcessl@classCod
e='CACT'[@moodCode="EVN'Ysubjectl@typeCode='SUBJ'|{ 1}/investigationEvent
[@classCode="INVSTG H@moodCode="EVN'l/componentl@type Code='COMP'[adv
erseEventAssessmentl[1l/adverse EventAssessmentl@classCode=INVSTG  [@mo
odCode="EVN'l/subject ll@typeCode="SBJ' ] 1}/primaryRole{@classCode='INVSB.J'
l/subjectOf2l@typeCode="SBJ Horganizer/codel@code="1"l@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2. 1. 11'H{r)/organizerl@classCode="CATEGORY '{@mood Code
Z'EVN’}/mmponent[@typeCodex’(‘OMP‘}/observation[(3?3claqs(“od63:‘()1%‘%'}E@mood
Sode="EVN'T[code[@code="101{@codeSystem="2.16.840.1.113883.3.989.5.1.3.2
0'Hivaluel@xsi: type“'BL‘]/@value

J2.14.1

A - BER

THH B

BEBROES MEREOR ﬁfﬂ ENTRER M L P AT E Ao b O TH AB SN

FHELFOMOBEGEEMET 5, ICSRIBEE @ Bi.2.1b BIER HEHES% (MedDRA
= B B EE-S s b, BIMEREIC AR - L}E’fﬂ EATEA D, PR ol LR
AGRFSED T8, ZOMORBRANER SRS IR L COFEESRER o (1) #&HT
HIk)

Rt aReo

S FED BB U CEEET 5 2

IN

1=#4%n
2= PEAD

MCCI IN2001000VO1@ITSVersion="XM1L_1.0'Hl@xsizschemal.ocation="urn hl7-
orgivi

MCCT_IN200100UV01 xsd'[/PORR_IN049016 UV rl/controlActProcessi@classCod
e='CACT'[[@moodCode="EVN'l/subjecti@typeCode="SUBJ'|{1}/investigationEvent
[@classCode="INVSTG H@moodCode="EVN'l/component|@type Code='"COMP']adv
erseEventAssessmentll1]/adverse EventAssessmentl@classCode="INVSTG'H@mo
odCode='EVN'l/subject1[@typeCode="SBJ'|{ 1}/primaryRole[@classCode=INVSRBJ'
l/subjectOf2l@typeCode='SBd llobservationlidlicodel@code='29"][@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19'}[i//observationl@class Code="0OBS' | [@mood Code=
'EVN'l/outboundRelationship2l@typeCode='"PERT Hobservation/codef@code="11'1
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1][1}/observationl@classCode=
‘OBSl@moodCode="EVN'Jfvaluel@xsi:type="CE'@codeSystem="2.16.840.1. 11388
3.3.989.5.1.3.2. 1.8']/@code

J2.15.x.

REH

H H /B

M%%ﬁﬁ*k@%fﬁ#eﬁ LRV MEHIEBOTHRENER LRI TOLEE,
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FoE Ea— N b — FEER LR o -
RS OHE, MES/URE T OB L, J%"L'TE%UTWQ%’ AL A
g7, AEEEBHREOEE, F’:%‘%ﬁ/ﬁ:@%ai‘i“ﬁ“ém
BESHESIIRCT, HEORBIESERICL > THR—-O#EEN /X %thf*j{w\ 1 20
HELTHELTELIZ AR, OBRICEREES 1 E8iomd L. LA
ALT, ZHEAVBCZOMOARELTZERTHZ &,
#H . BE-OBENME T SNBSS, AEAREIC WGBS TS, F
OBz, Bl Ujfﬁékfﬂf’(Etﬁﬁ:gjjﬂ%&'ttfyf’wkiﬂzé;i@kJ HI k. ?:—5:‘1?%*‘*”3—'}0)

NFRENPEELLSBSITEY R LERHTD
ks, FECHEBRNENELDHEIL. BIWE L 3
7 — 7 2A
R ISO 3166°1 77 7-2 OEa— K
XPath /MCCI_IN200100UV0H@ITSVersion="XML,_1.07l@xsi'schem al;m.:a tion="urn:hl7-

org-v3

MOCI IN200100UV01.xsd' I/PORR_IN049016UVIr)/controlActProcessl@classCod
e='CACT' H@mood Code='"EVN'Vsubject@typeCode="SUBJ][1}/investigationKEvent
[@classCode='INVSTG@mood Code="EVN'l/referencel@typeCode=REFR Hdocu
ment/code[@code="21@codeSystem="2.16.840.1.113883.3.989.2.1.1.27}{r}/docum
entl@classCode="DOC H@moodCode=EVN'/participationl@typeCode='AUT Vassi
gnedBntityl@classCode='ASSIGNED|/representedOrganization|@elassCode='OR
G'Hl@determinerCode='INSTANCE'VasLocatedEntityl@classCode='"LOCE locatio
nl@classCode="COUNTRY H@determinerCode="INSTANCEVcodel@codeSystem=
'1.0.3166.1.2.2/@code

J2.16 WENAOER

E H A R E R CAERERT OB S, AEREONBMOEL LT,

Tk 7L

F— 5 Al 500J

AR E SRR )

XPath /MCCT_IN200100UV0 @I TS Version="XML_1.0'H@xsi:schemal.ocation="urn:hl7-
orgiva
MCCI_IN200100UV01.xsd'[/PORR_IN0O49016UVIrl/controlActProcessl@classCod
e="CACT'Il@moodCode="EVN/subjectl@typeCode="SUBJ'l{ 1V/investigationEvent
[@classCode="INVSTG HH@moodCode="EVN'eomponentl@type Code='COMP'}ladv
erseEventAssessmentl[1}/adverseEventAssessmentl@classCode=INVSTG | [é@mo
o0dCode="EVN'l/componentl{@typeCode="COMP'HobservationEventlcodel@code='
12'll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10]1H 1}/observationEvent(@
cIassCode“OBS’][@moodCode 'EVN 1fvalueK,X81 typeA’ED J/tcxto

J2.a7r ﬁﬁ/@fﬁ@%ﬁ L '




TE H WRMEOHS . TBRARE BT XL TIRERRE B ol rT.

Rl ST 1 L

VARl IN

A 1=BR R EER AT 9L
2=3FERAERER BT

XPath /MCCI_IN200100UVO @I TS Version="XM1._1.0'{@xsi:schemal.ocation="urn'h17-
orgiva
MCCI_IN200100UV01.xsd'//PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT Hl@mood Code="EVN'}/subjectl@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/referencel@type Code="REFR]{docu
ment/codel@code="2"{@codeSystem='2.16.840.1.113883.3.989.2.1.1.271r{/docum
entl@classCode='"DOC'[@mood Code="EVN'Vtitle/text()

J2.18.1 ZIEHHME Ten R EEST

EEHY | ICSR OZEEOERA T

FEVE IR A MSLITEGE NEEGERBSE R - UHT 5.,

TRl 100

FEE BNk

XPath /MCCI IN200100UVOH@ITSVersion="XMIL,_1.0'l[@xsischemal.ocation="urn hl7-
orgiva

MCCIE_IN200100UV01.xsd'/PORR_IN049016UVIrl/controlAct Processi@classCod
e='CACTHl@moodCode='"EVN/subjectl@typeCode='SURJ'H 1 VinvestigationEvent
[@classCode="INVSTG H@mood Code="EVN/subjectOf1 [@typeCode="SUBJ'}[cont
rolActEvent/primaryInformationRecipienti{ 1]/controlAct Eventl@classCode="CAC
TH@moodCode='EVNlprimaryInformation Reciptent[@type Code='"PRCP'}assign
edEntityl@classCode='ASSIGNED l/represented Organizationl@classCode="ORG']
[@determinerCode="INSTANCE }/name/text(

J2.18.2 ZIEHBA

o H 3]

ICSR OZEHEDEE X 4,

B iR A1 O T VA

P 100J

HAE SREEGE )

XPath /MCCI_IN200100UVO1{@ITSVersion="XML_1.0H@xsischemalLocation="urn:hl7-
orgvi

MCCI_IN200100UV01.xsd'IV/PORR_IN048016UVIr}/controlActProcess[@classCod
e='CACT[@moocdCode="EVN'l/subjecti@typeCode="SUBJ ][ 1VinvestigationEvent
[@classCode="TNVSTG'|l@moodCode="EVNV/subjectOft[@type Code="SUBJ ) [cont
rolActEvent/primaryInformationRecipient}[1VcontrolActEventi@classCode='CAC
T'll@moodCode="EVN'l/primaryinformationRecipientl@typeCode='"PRCP')/assign
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edEntityl@classCode="ASSIGNED'V/assignedPersonl@classCode="PSN'H@determ
inerCode="INSTANCE Imame/prefix]{1}/text(

T8 H 7% BR ICSR & FHE DR,

FUA oM EROM L TET S,

VA 100d

A 8t #

XPath MCCI_IN2001000V01l@ITSVersion="XML_1.0l@xsischemaLocation="urn:hl7-
org v
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{rl/control ActProcess[@classCod
e="CACT'l[@mood Code="EVN'l/subjectl@type Code="SUBJ N 1)/investigationEvent
[@classCode="INVSTG'l{@mood Code="EVN'l/subjectOf1{@typeCode="SUBJ' | lcont
rolActEvent/primaryInformationRecipient]! 1}/controlActEventl@classCode='CAC
T'{@moodCode="EVN'}/primaryInformationRecipient|@typeCode="PRCP'/assign
edEntityl@classCode='ASSIGNED/assignedPersonl@classCode='PSN'|l@determ
inerCode="INSTANCE'l/name/family{1]/text(}

J2.184 ZEELH .

15 H 3 ICSR DRAFE DA w7,

FLRL T BEOHEEOL A TET S,

G T 100dJ

ST EEEE

XPath MCCI_IN200100UVO1 @I TS Version="XML_1.0'][@xsilschemalocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsd'I/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACTH@moodCode="EVN'I/subjecti@type Code="SUBJ'|{ 1VinvestigationEvent
[@classCode="INVSTG' H@moodCode='EEVN Vsubject Of 1 [@typeCode='SUBJ][cont
rolActEvent/primaryInformationRecipient]l1/controlAct Eventl@classCode="CAC
T'Jl@moodCode="EVN'l/primaryinformationRecipient[@typeCode="PRCP')/assign
edEntityl@classCode="ASSIGNED /assignedPersonl@classCode="PSN}|@determ
inerCode="INSTANCE'/mame/given|1]/text()

J2.18 WE 1 |

TH H A THEH

Ffal Wikia L

G A 100004

A AE H 50l

XPath MCCI_IN200100UV01{@ITSVersion="XMI,_1.01l@xsi:schemalocation="urn:hl7-
orgva
MCCI_IN200100UV01.xsd'l/PORR_IN0G49016UVIrl/controlActProcessl@classCod
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e='CACT'H@moodCode="EVN'/subjectl@typeCode="SUBJ' [ 1)/investigationEvent
[@classCode="INVSTG'l@mood Code="EVN'//componentl@typeCode="COMP'][adv
ersefiventAssessmentf[1//adverse EventAssessmentl@classCode='TNVSTG@mo
0dCode="EVN'l/component1[@typeCode="COMP']lobservationEvent[codel@code='
13')[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1. 10'l{1}/observationEvent{@

classCode="OBS H@mood Code="EVN'I/valuel@xsitype="ED'/text()

J2.20 WE2 '
TE 5 a8 TiEHEH
FLHL T IE 2L
TR 10000
FFATE Bl
XPath MCCI_IN200100UV0H@I TS Version=XML 1.0'll@xsi:schemal.ocation="urn:hl7-
orgvy
MCCI_IN200100UVO1.xsd'[/PORR_IN049016UV|[r)/controlActProcessl@classCod
e='CACT|[@moodCode="EVN'l/subject|@typeCode="SUBJ' I 1}/investigationEvent
l@classCode="INVSTG H@moodCode="EEVN'l/componentl@type Code='"COMP'{adv
erseEventAssessmentl{1//adverseEventAssessmentl@classCode='INVSTG ll@mo
odCode="EVN'/component 1{@type Code="COMP| [observationEventlcode [@Codef
14'{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'111{1)/observationEventl@
classCode='"OBS"|@moodCode="EVN'|/valuel@xsi:type="ED'l/text()
J2.21 #E3 |
H H 5 A e H
B T 7L
7 A T 10000J
FrAE B f ek
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l@xsi:schemalocation="urn:hl7-
org.va
MCCI_IN200100UV01 xsd'I/PORR_IN049016UV[r)/controlActProcessl@classCod
e="CACT']|@moodCode="EVN"}/subjectl@typeCode="SUBJ'{1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'Veomponent{@type Code='COMP{adv
erseEventAssessmentl{1)/adverseEventAssessment[@classCode=TNVSTG]l@mo
odCode="EVN'}component1[@typeCode="COMP'l{observationBventlcodel@code='
15'}{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1i[ 1 l/observationEvent[@
classCode="0BSH@moodCode="EVN'l/valuel@xsitype="ED Text()
J2.22 HEE 4. ' :
THH A THEEE
S 7L
VA it 10000
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ATEE

=R RN

XPath

/MCCI_IN200100UV01[@ITS Version="XM1, 1.07[@xsi:schemaLocation="urn hl7-

orgvi

MCCI_IN200100UV01.xsd' [/PORR_IN049016UVIr}/controlActProcess|@classCod
e='CACT"][@moodCode="EVN'l/subject[@typeCode="SUBJ'I{ 1VinvestigationEvent
[@classCode="TNVSTG ll@moodCode="EVN'V/ecomponentl@typeCode="COMP'Hadv
ersefventAssessment][1}/adverseEventAssessmentl@classCode=TNVSTG H@mo

odCode='"EVN'l/component }{@typeCode="COMP'l{observationEventlcodel@code='
16'H@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.101{1)/observationFvent[@
classCode="0OBS'l@moodCode="EVN']/valuel@xsitype="EDtext()
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